


O afag

v

Jﬂr"u\m 1

i




Handling technology HT

Components
linear

As the components of a perfectly coordinated modular system,

all product groups within Afag’s handling technology HT are
consequently designed for universal modularity. The combination of
different sizes amongst each other is facilitated in a simple manner.
Pneumatic linear modules, for example, can be combined with
electrical axes as well as with electrical grippers. The quality of our
handling technology components as well as innovation, customer
proximity and service are the key elements of Afag’s philosophy. Free
CAD data for all modules can be quickly obtained from a partserver.
The 24 month service life reduces standstill periods, and replacement
costs are also significantly cut.

The linear modules listed in this catalogue form the foundation of our
large range of components. Pneumatic and electric linear components
are available in various sizes. Gripping and rotary components can be
found in separate catalogues, together with accessories.

Operating manuals containing detailed descriptions can be
downloaded from our website: www.afag.com.

Updates of our documentations

Unlike the printed documents, our digital instructions manuals,
product data sheets and catalogues are being continuously updated on
our website.

Please keep in mind that the digital documents on our website are
always the latest versions.




O afag

Handling technology HT
Components linear

PEZ/PDZ

PEL/PDL

Pneumatic

) The simplest combination for
repeated handling is possible

) Patented intermediate stop allows
multiple positions

) The perfect alignment of the guides
permits high loads

) A product that is well known, easy
to understand and used often

Electric

) Freely programmable

) No air (expensive medium)

) Flexibility if products are changed,
less wear and maintenance

) Smooth, quiet, interpolating processes

) Pneumatic units can be combined
easily



Table of contents

Components linear

Compact slides CS
High-precision slides PS
Linear modules LM

Lifting modules HM
Gantry modules pneumatic PMP/PMP-c
Electro slides ES

Telescope spindle axis SA
Omega-cantilever axes OZ
Portal axes PEZ/PDZ

Portal axes PEL/PDL
Linear modules LE

N
-

N
(o]
w

pneumatic

~N

N
(=)
(e}
(o]

N
]
(=)]

electric




O afag

Compact slides CS
CS6-CS25

-
<
o+
-
P

7 Handling technology HT Components linear



Table of Contents: CS

Compact slides CS Page
CS6

cs8

CS12

CS16

CS20

CS25
Accessories CS

afag.com Handling technology HT Components linear 8



9 Handling technology HT Components linear afag.com



O afag

Compact slides CS
CS 6

= Compact design
= Solid construction
= High rigidity

afag.com Handling technology HT Components linear 10



1"

Dimensions and dimension drawings

o N ™ >

CS6

60.5 mm 80.5 mm
29 mm 49 mm
1x20mm 2x20mm

M3 M3
1 23 20 0015
B -
Y ~® 0 0
4 o7 9 °
b _
CS 6/40 @
19 200015 \ (» 5H7/1.3-M3
33 @ 5H7/1.3 - M3x7.3mm
1 23 20 +0.015
==
@ ~ - 0O
[ LA
[ _ ‘
CS 6120 © “°s-00
19 @BH7/M1.3 - M3
33 10 20,015 335
26
A @ 5H7/1.3 - M3 16 20015
= E‘E H H’Em ! i ] é _
H = S| o e @C
v.a T - 2 m’m -
P é B 4
13
D4HT1.1-M2.5 !
20 +0.015
GAHTNA -M2.5 34 C +0015 @5H7/1.3 - M3
\ /
o o & © ©
T -+ te o- =
2 @ ,, & &
=t
16 +0.015

$ Bores can be screwed through

Handling technology HT Components linear

afag.com



Technical data CS 6

Attachment grid 20x20 mm

Attachment grid alternative 16X 16 mm

Attachment thread M3

Attachment thread alternative M2.5

Operating pressure 6 +/- 2 bar

Air connection P M3

Cylinder @ 6 mm

Retract piston force 12N

Extend piston force 17N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50386049 50386050
Stroke H 20 mm 40 mm
Stroke limitation 2x10mm  2x10mm
Net weight 0.11 kg 0.14 kg
Moving weight 0.05kg 0.065 kg
Air consumption/cycle 0.005 NL 0.009 NL
Noise level 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.01 mm +/-0.01 mm
Maximum speed 1m/s 1m/s
Minimum speed 0.05m/s 0.05m/s
Mounting position - -

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.
The module can be operated with lubricated or dry air.
Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery Accessories
(Catalogue HT accessories) (Catalogue HT accessories)
= 2x Centering bushing @5x2.5 = |NI c10x20-Em-PNP-NO-M8x1

= 2x Special screw M3x14.8/4

= 2x Special screw M3 x 16/6

= 2x Shock absorber ASED M4x0.5 -1
= 2x Set screw M3x3

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 12



Preferred combinations CS 6

VS 514
VP153

VP 152
VP 153

VP 152 2
VP 153 2

1,3 <direct>
VP 153
VP 153

- WN
w —
=

NN NN

w —
—_

1
3
1,2,3 VP107
1 VP 107
2,3 VP 151

VW 305
1,3 direct
1,3 VP 107
1,2 <direct>

g - WnN
w
w —

3 < direct >

3 < direct >
3 VF 400
3 VF 401
3 < direct >

NN NN NN NN S

Mounting areas

CS, ES PS LM, LE HM SA 0z
3 3 1 1
2 2 2 >
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE

3
3 3
ek B 1ol | =T [ [ 2
2 2 2 2 3

2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

13 Handling technology HT Components linear afag.com



Slide loads CS6

Max. torque Mx 1.9Nm 1.9Nm
Max. torque My 1.3 Nm 1.3 Nm
Max. torque Mz 1.3 Nm 1.3 Nm
Effective distance Wx 25 mm 25 mm
Effective distance Wy 18 mm 18 mm
Effective distance Wz 7 mm 7 mm

Installation position (horizontal) for mounting side 1 0.08 kg 0.08 kg
Installation position (horizontal) for mounting side 3 0.1 kg 0.1 kg
Installation position (vertical) for mounting side 1 0.08 kg 0.08 kg
Installation position (vertical) for mounting side 3 0.1 kg 0.1 kg
Assembly sides horizontal: 3 vertical:

module mounting % 1

4

If the specified maximum payloads are exceeded, it must be ensured that the corresponding moments do not affect the
service life of the module. In the event of critical applications, please contact Afag.

CS 6/20-ED CS 6/40-ED
Time [ms] Time [ms]
85 125
80 120
7 15
0 ] 110
o 105
60 /
55 100
50 95
45 90
0 2 4 6 8 10 12 14 16 18 20 22 18 20 22 24 26 28 30 32 34 36 38 40 42
Stroke [mm] Stroke [mm]

afag.com Handling technology HT Components linear 14



15 Handling technology HT components linear afag.com



O afag

Compact slides CS
CS 8

= Compact design
= Solid construction
= High rigidity

afag.com Handling technology HT components linear 16



17

Dimensions and dimension drawings

CS 8/60

CS 8/30

CS 8/10

M3 T

O 5H7/1.3

Q Bores can be screwed through

cs8

120 mm
96 mm

8 mm
5x20 mm
4x20 mm
23.5mm

M5

54 mm 90 mm
66 mm
7.5mm 11T mm
2x20mm 3x20mm
20 mm 3x20mm
23.5mm
Screw-through (CS 8/30 and CS 8/60)
M5 M5
= =
%EWHH
It o e N e
| coes—o—o
i
H oo s-
i
2 E'S M3
o r“{ﬁfkfﬁk 424
'E"*%%ﬁ%"¢ = 41.2
«©
= 334
6 || ¢ 5H7/1.3
2‘3.5 E O BHTM.3
A M3
| \ i
~ o
© )9~
6.7 20 +0015
G
p - H I
F 40 x0.015 20 +0.015

Handling technology HT components linear

afag.com



Technical da

ta

S8

Attachment grid 20x20 mm
Attachment thread M3

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 2Xx6mm

Retract piston force 25N

Extend piston force 34N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50300525 50036720 50300526 50035820 50300527 50035829
Stroke H 10 mm 10 mm 30 mm 30 mm 60 mm 60 mm
Stroke limitation 2x10mm 2x10mm 2x25mm 2x25mm 2x25mm 2x25mm
Net weight 0.176 kg 0.175kg 0.241kg 0.24kg 0.288 kg 0.287 kg
Moving weight 0.07 kg 0.07 kg 0.11 kg 0.11kg 0.14 kg 0.14 kg
Air consumption/cycle  0.005 NL 0.005 NL 0.014 NL 0.014 NL 0.027 NL 0.027 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A) 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.01mm +/-0.01mm +/-0.01mm  +/-0.01 mm +/-0.01 mm +/-0.01 mm
Maximum speed 1m/s 1m/s 1m/s 1m/s 1m/s 1m/s
Minimum speed 0.05m/s 0.05m/s 0.05m/s 0.05m/s 0.05m/s 0.05m/s
Mounting position - - + - 4 -

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.
Note: the CS 8/...-ED are supplied with an elastomer damper ASED
The CS 8/...-SD are supplied with a hydraulic shock absorber ASSD
The CS 8/...-SDH are supplied with a hydraulic shock absorber and with a stop sleeve

The module can be operated with lubri

cated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @5x2.5
= 2x Special screw M3x14.8/4

= 2x Special screw M3 x 16/6

= 2x Shock absorber ASSD M5x0.5 -2
= 2x Shock absorber ASED M5x05 -1

Accessories

(Catalogue HT accessories)
= INI c10x28.5-Em-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)
= Steel stop ASS 05/12
= Steel stop ASS 05/22
= Steel stop ASS 05/37
= Steel stop ASS 03/25
= |NI d3x22-Sn0.8-PNP-NO-M8x 1

= |NI ¢10x19.5-Em-PNP-NO-M8x1
= |NI ¢10x9-Em-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT components linear

18



Dimensions and dimension drawings

A 54 mm 90 mm
B 66 mm
C 7.5 mm 11 mm
D 2x20mm 3x20 mm
E 20 mm 3x20 mm
F 23.5mm
G Screw-through (CS 8/30 and CS 8/60)
P M5 M5
aHH- N ===t
CS 8/60-SDH §seer oo o
e e
CS 8/30-SDH 1000 —0—o
. O °
CS 8/10-SDH i @00 ©
15.5
2 . @5H7/1.3
=i
H  ceoo
E E 43.6
42.8
0 4““'\/'3 334
235 E '
' @5H7/1.3
A M3
[Ye) [Te)
Qo @
6.7 20 +0.015
™
11 D =
= o &
e ASTERSY
% -—94;—@%%
I Fo—eo—| @
I
ws_— L"*“
@ 5H71.3 F | 40 0015 20 +0015

Q Bores can be screwed through

19 Handling technology HT components linear

cs8

120 mm
96 mm

8 mm
5x20 mm
4x20 mm
23.5mm

M5

afag.com



Technical data

S8

Attachment grid 20x20 mm
Attachment thread M3
Operating pressure 6 +/- 2 bar
Air connection P M5
Cylinder @ 2Xx6mm
Retract piston force 25N
Extend piston force 34N
Operating temperature 0-50°C
Storage temperature 0-50°C
Humidity <90 %
Medium filtered compressed air 10-40 ym
Order number 50509361 50509609 50509576
Stroke H 10 mm 30 mm 60 mm
Stroke limitation 2x10mm 2x25mm 2x25mm
Net weight 0.181kg 0.246 kg 0.293 kg
Moving weight 0.07 kg 0.11kg 0.14 kg

Air consumption/cycle  0.005 NL 0.014 NL 0.027 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm
Maximum speed 1m/s 1m/s 1m/s
Minimum speed 0.05m/s 0.05 m/s 0.05 m/s
Mounting position - - -

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.

Note: the CS &/...-ED are supplied with an elastomer damper ASED
The CS 8/...-SD are supplied with a hydraulic shock absorber ASSD
The CS 8/...-SDH are supplied with a hydraulic shock absorber and with a stop sleeve

The module can be operated with lubricated or dry air.
Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @5x2.5

= 2x Special screw M3x14.8/4
= 2x Special screw M3 x 16/6

= 2x Shock absorber ASSD M5x0.5 -2
= 2x Shock absorber ASED M5x05 -1

Accessories

(Catalogue HT accessories)
= INI c10x28.5-Em-PNP-NO-M8x1

Alternative accessories
(Catalogue HT accessories)
= Steel stop ASS 05/12

= Steel stop ASS 05/22

= Steel stop ASS 05/37

= Steel stop ASS 03/25

= |NI d3x22-Sn0.8-PNP-NO-M8x 1
= |NI ¢10x19.5-Em-PNP-NO-M8x1
= INI ¢10x9-Em-PNP-NO-M8x 1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT components linear

20



21

Preferred combinations

’I*
3**

3***

R N N [V BN TS RN

1,3
1,3
1,2
1,2

wéé
NN

- w ww w w ww w w

PMP, PMP-c
3

4@1

VP 101
< direct >
VP 101

VP 106
VP 107
VP 106
VP 107
VW 304
VW 305
VP 112
VP 107
VP 107
< direct >
VP 100
VP 107
VP 107
direct
VP 107
VP 107
< direct >
< direct >
VP 107
VF 400
VF 401
VF 401
< direct >
< direct >

PS
3
1;1

PEZ, PDZ

3 3
o &’ [oh I _1p
2 2

NN NN NN RN DNNNDNRNDNDDNDNDDNDNDNDDNNDNDNDNNNNNDN

1,3
1
3
‘I*
3**
3***
1,3
1,3
1
3
1,3
1,3
1,3
* Not possible for mouting
the CS 8/10
** Both CS 8 in one line
***  Crosswise construction, not
possible for attachment to
the CS 8/10
**%**  Angular mounting
**%xx Not possible for mounting
to CS 8/10
Mounting areas
LM, LE HM SA
3 1 1
HH) 3 =
2 3 3
PEL, PDL CR, RM 32, RE, SREH RM, RE

1@3 1B}3

2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

Handling technology HT components linear

< direct >
VP 153
VP 153

VP 101
< direct >
VP 101
VP 153
VP 152
< direct >
VP 101
VP 102

< direct >
VP 101

= NNNN = WN

1,2
1,2

2

cs8

=)

UG, GM, SG, DG, PG, GE

2[1H
3

afag.com



Slide loads

CS 8/10-
ED

CS 8/10-
SD

CS 8/10-
SDH

CS 8/30-

CS 8/30-
SD

CS 8/30-
SDH

CS 8/60-
ED

CS 8/60-
SD

cs8

CS 8/60-
SDH

Max. torque Mx 3.6Nm 36Nm 36Nm 54Nm 54Nm 54Nm 54Nm 54Nm 54Nm
Max. torque My 1.7Nm 1.7Nm 1.7Nm 3.6Nm 3.6Nm 3.6Nm 3.6Nm 3.6Nm 3.6Nm
Max. torque Mz 1.7Nm 1.7Nm 1.7Nm 3.6Nm 3.6Nm 3.6Nm 3.6Nm 3.6Nm 3.6Nm
Effective distance Wx 24 mm  24mm  24mm  28mm  28mm  28mm 28 mm  28mm 28 mm
Effective distanceWy 20mm  20mm  20mm  20mm  20mm  20mm  20mm  20mm 20 mm
Effective distanceWz 6.5mm 65mm 65mm 65mm 65mm 65mm 65mm 65mm 6.5mm

Maximum payload/ C
type

Installation position
(horizontal) for
mounting side 1

ED

0.2 kg

S 8/10-

CS 8/10-

SD

0.3 kg

CS 8/10-

SDH

0.3 kg

CS 8/30-

ED

0.2 kg

CS 8/30- CS 8/60- CS 8/60- CS 8/60-

CS 8/30-

SD

0.4 kg

SDH

0.4 kg

ED

0.2 kg

SD

0.4 kg

SDH

0.4 kg

Installation position
(horizontal) for
mounting side 3

0.2 kg

0.3 kg

0.3 kg

0.2 kg

0.7 kg

0.7 kg

0.2 kg

0.7 kg

0.7 kg

Installation position
(vertical) for
mounting side 1

0.2 kg

0.3 kg

0.3 kg

0.2 kg

0.4 kg

0.4 kg

0.2 kg

0.4 kg

0.4 kg

Installation position
(vertical) for
mounting side 3

0.2kg

0.3kg

0.3kg

0.2kg

0.7 kg

0.7 kg

0.2kg

0.7 kg

0.7 kg

Assembly sides module

mounting

horizontal:

3

vertical:

—l

4

If the specified maximum payloads are exceeded, it must be ensured that the corresponding moments do not affect the
service life of the module. In the event of critical applications, please contact Afag.

afag.com

Handling technology HT components linear

22



Slide loads

CS 8/10-ED elastomer

cs8

CS 8/10-SD hydraulic

Time [ms] Time [ms]
T ] ]
95 Payload min. cycle ti‘me 165 Payload min. cyFIe time ~=
—200 g unrestricted P09 380ms /'/
%0 160 — — —1[150g 480 ms -y
1 T 3009 630ms A //
85 — 155 ~ C .'
A 7

80 150 = T
75 145 i
70 140

0 2 4 6 8 10 12 0 2 4 6 8 10 12

Stroke [mm] Stroke [mm]

CS 8/30-ED elastomer

CS 8/30-SD hydraulic

Time [ms] Time [ms]
140 . - 170 i I
Payload min. cycle time Payload min. cycle time
— 1200 g unrestricted 160 t—5p g 420ms —
130 - P
/ 150 300g 670 ms . —
_____ ‘7009 1070 ms_.~ L=
120 140 L= —
- -
.~ -
] 130 — ==
110 -
120 o
100 10
5 10 15 20 25 30 35 5 10 15 20 25 30 35
Stroke [mm] Stroke [mm]

CS 8/60-ED elastomer

CS 8/60-SD hydraulic

Time [ms] Time [ms]
200 ‘ . ‘ . ‘ 240 Payloéd min.‘cycle time
190 Payload min. cycle time 230 =509 450 s —
————200 g unrestricted / 300 700 T
200 ———>%99 ms
180 — —!—700g 1100ms | —° P i
210 — ——
170 _= =~
200 —
160 190 - = /
/ P> /
150 180 ///
140 170
25 30 3 40 45 50 55 60 65 3 % B 4 . k45[ ] S % 60 6
troke [mm

Stroke [mm]

23 Handling technology HT components linear

afag.com



O afag

Compact slides CS
CS 12

= Compact design
= Solid construction
= High rigidity

afag.com Handling technology HT components linear 24



Dimensions and dimension drawings

O N @ >

CS 12/90

CS 12/60

CS 12/30

102 mm
70 mm
4x15mm
4x15mm

= o

132 mm
100 mm
6x 15 mm

6x 15 mm

=

e o0oo

Goo

Heooooo

11.75

30 £0.015

n

15 +0.015

N
~

PTHTI1.6

2475 C

54.6

53.6

44.6

DTHTI.6

M4

$ Bores can be screwed through

D
@@
®
(@]
©O

12

& -4

32
25
7.5 +0.015

A aET
AN

ek

15

73 |

V4
L
L
E

>
©
P

@g
i

<
=
=
=
I
~
o

==l —or=

25 Handling technology HT components linear

M4

30 0.015
CLE LI

CS 12

162 mm
130 mm
8x 15 mm
8x 15 mm

afag.com



Technical da

ta

CS 12

Attachment grid 30x 30 mm
Attachment thread M4

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 2x10 mm

Retract piston force 71N

Extend piston force 94 N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym
Bestellnummer 50300528 50048476 50300529 50050602 50300530 50050825
Stroke H 30 mm 30 mm 60 mm 60 mm 90 mm 90 mm
Stroke limitation 2x25mm 2x25mm 2x25mm 2 x25mm 2x25mm 2x25mm
Net weight 0.5kg 0.5kg 0.864 kg 0.61kg 0.73 kg 0.73 kg
Moving weight 0.24 kg 0.24 kg 0.3 kg 0.3 kg 0.36 kg 0.36 kg
Air consumption/cycle  0.038 NL 0.038 NL 0.076 NL 0.076 NL 0.114 NL 0.114 NL
Noise level 64 dB (A) 64 dB (A) 64 dB (A) 64 dB (A) 64 dB (A) 64 dB (A)
Repeat accuracy +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01 mm +/-0.01 mm +/-0.01 mm
Maximum speed 1m/s 1m/s 1m/s 1m/s 1m/s 1m/s
Minimum speed 0.02 m/s 0.02 m/s 0.02 m/s 0.02 m/s 0.02 m/s 0.02 m/s
Mounting position <4 - 4+ - 4+ -

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.
Note: the CS 12/...-ED are supplied with an elastomer damper ASED
The CS 12/...-SD are supplied with a hydraulic shock absorber ASSD
The CS 12/...-SDH are supplied with a hydraulic shock absorber and with a stop sleeve

The module can be operated with lubri

cated or dry air.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 4x Special screw M4 x 20/8

= 2x Shock absorber ASSD M6x0.5 - 4
= 2x Shock absorber ASED M6x0.5 - 1

Accessories

(Catalogue HT accessories)
= NI ¢10x28.5-Em-PNP-NO-M8x1

Alternative accessories
(Catalogue HT accessories)
= Steel stop ASS 04/25

= NI d4x25-5n1.0-PNP-NO-M8x 1
= INI c10x19.5-Em-PNP-NO-M8x 1
= INI ¢10x9-Em-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT components linear

26



Dimensions and dimension drawings CS 12

A 102 mm 132 mm 162 mm

B 70 mm 100 mm 130 mm

C 4x15mm 6x15mm 8x 15 mm

D 4x15mm 6x15mm 8x 15 mm
== E = s

P00 O0O

CS 12/90-SDH

©OO000PO 0

ize = O I =i
©6 600060

CS 12/60-SDH

PO 0e 00

11.75
3
10 @THTI.6
2 m s
OO0 © 5
CS 12/30-SDH - S =
o6 600 S 56.58
55.28
+ ™
15 20015 M4 =2 146
24.75 C @ THT.6
A M4
§ N [
% g u*; | m_
© P A
M4
7.3 | |30 0015
24.75 D
15 +0.035

]
|
30 +0.015

@THT/1.6
)

$ Bores can be screwed through

Handling technology HT components linear afag.com



Technical data

CS 12

Attachment grid 30x 30 mm
Attachment thread M4
Operating pressure 6 +/- 2 bar
Air connection P M5
Cylinder @ 2x10 mm
Retract piston force 71N
Extend piston force 94 N
Operating temperature 0-50°C
Storage temperature 0-50°C
Humidity <90 %
Medium filtered compressed air 10-40 ym
Bestellnummer 50509653 50509713 50509725
Stroke H 30 mm 60 mm 90 mm

Stroke limitation 2x25mm 2x25mm 2x25mm
Net weight 0.5kg 0.61kg 0.73kg
Moving weight 0.24 kg 0.3 kg 0.36 kg

Air consumption/cycle  0.038 NL 0.076 NL 0.114 NL
Noise level 64 dB (A) 64 dB (A) 64 dB (A)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm
Maximum speed 1 m/s 1 m/s 1 m/s
Minimum speed 0.02 m/s 0.02 m/s 0.02 m/s
Mounting position - - 4+

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.

Note: the CS 12/...-ED are supplied with an elastomer damper ASED
The CS 12/...-SD are supplied with a hydraulic shock absorber ASSD

The CS 12/...-SDH are supplied with a hydraulic shock absorber and with a stop sleeve

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)

= 2x Centering bushing @7x3

= 4x Special screw M4 x 20/8

= 2x Shock absorber ASSD M6x0.5 - 4
= 2x Shock absorber ASED M6x0.5 - 1

Accessories

(Catalogue HT accessories)
= NI ¢10x28.5-Em-PNP-NO-M8x1

Alternative accessories
(Catalogue HT accessories)
= Steel stop ASS 04/25

= NI d4x25-5n1.0-PNP-NO-M8x 1
= INI c10x19.5-Em-PNP-NO-M8x 1
= INI ¢10x9-Em-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT components linear

28



Preferred combinations CS 12

1,3 <direct > 2 1,2,3 VP 107 2
1,3 <direct > 2 1 VP 107 3
13 VP 112 5 2,3 VP 151 1
1,2,3 <direct> 2 1 VP 106 2
1 < direct > 2 3 VP107 2
2,3 VP 118 2 1,3 < direct > 2
1 VP 115 2 1 VP 105 2
1 VP 115 2 3 <direct > 2
1 VP 112 2 1,3 < direct > 1
1 < direct > 2
. 1,3 VP108+VS506 1
1 <direct > 2 3 VP 105 1
1,3 VP 113 2 1% VW 302 1
1,3 <direct> 1,2 1,3 < direct > 1,2
1,3 < dfrect> 2 13 VP 111 12
1 < direct > 2
3 VP 112 2 1 VS 512 1,2
1 VP 112 > 3 VP 139 1,2
1,2 <direct> 2 1,3* VP 107 1.2
1,2  <direct> 2 1,3* < direct > 1,2
3 < direct > 2 1,3 VP 109 1
3 <direct > 2 13 VP 110 1
3 < direct > 2 1’3 VP 107 1
1 < direct > 2 1,3 VP 151 2
2,3 VP 120 2
3 < direct > 2
3 < direct > 2
3 VF 403 2
3 VF 405 2 * Maybe use extension piece
for UG
3 VP 112 2 ** Angular mounting
1 < direct > 2
1 < direct > 2
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 1 1
| 1 1 [ 1 1D:I;ﬁ]1 3 @ [% 2 ! ’;2 !
2 2 2
PMP. PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
g i[O = Toh| I URE - 2[1 §
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

Handling technology HT components linear afag.com



Slide loads CS 12

CS 12/30- CS 12/30- CS 12/30- CS 12/60- CS 12/60- CS 12/60- CS 12/90- CS 12/90- CS 12/90-

ED SD SDH ED SD SDH ED SD SDH
Max. torque Mx 13 Nm 13 Nm 13 Nm 13 Nm 13Nm 13Nm 13 Nm 13 Nm 13 Nm
Max. torque My 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm
Max. torque Mz 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm 8 Nm

Effective distance Wx 36.5mm 36.5mm 36.5mm 36.5mm 36.5mm 36.5mm 36.5mm 36.5mm 36.5mm
Effective distanceWy 26 mm  26mm  26mm  26mm  26mm  26mm  26mm 26 mm 26 mm
Effective distance Wz 22 mm 22 mm 22 mm 22 mm 22 mm 22 mm 22 mm 22 mm 22 mm

Maximum CS 12/30- CS 12/30- CS 12/30- CS 12/60- CS 12/60- CS 12/60- CS 12/90- CS 12/90- CS 12/90-
payload/type ED SD SDH ED SD SDH ED SD SDH
Installation position

(horizontal) for 0.3kg 0.7 kg 0.7 kg 0.3kg 0.7 kg 0.7 kg 0.3 kg 0.7 kg 0.7 kg

mounting side 1

Installation position
(horizontal) for 0.3 kg 1.2kg 1.2kg 0.3 kg 1.2kg 1.2kg 0.3 kg 1.2kg 1.2kg
mounting side 3

Installation position

(vertical) for 0.3 kg 0.7 kg 0.7 kg 0.3 kg 0.7 kg 0.7 kg 0.3 kg 0.7 kg 0.7 kg
mounting side 1

Installation position

(vertical) for 0.3 kg 1.2 kg 1.2kg 0.3 kg 1.2kg 1.2kg 0.3 kg 1.2kg 1.2kg
mounting side 3

Assembly sides module horizontal: 3 vertical:

3

4

If the specified maximum payloads are exceeded, it must be ensured that the corresponding moments do not affect the
service life of the module. In the event of critical applications, please contact Afag.

afag.com Handling technology HT components linear

30



Slide loads Cs 12

CS 12/30-ED elastomer CS 12/30-SD hydraulic
Time [ms] Time [ms]
210.0 140 ‘ ‘
Payload min. cycle time
130 f———=50g" 730ms -
1900 120 L=—1"-600g 1060 ms T
/ T T 712004 1420ms _ .1 //
110 — C
170.0 - A
100 :
/ P / P /
150.0 Ni—2
Payload min. cycle time 80
- 300 g unrestricted
130.0 | | | 70
0 5 10 15 20 25 30 35 0 5 10 15 20 25 30 35
Stroke [mm] Stroke [mm]
CS 12/60-ED elastomer Time [ms] CS 12/60-SD hydraulic
Time [ms] Time [ms]
250 150
/ 140 =
230 ./,/~/ | -
130 == =
/ L= ‘, -7
210 120 S A
/ el ]
10 Payload min. cycle time —
190 1 _ 50g 760 ms )
Payload min. cycle time 100 — - —-600g 1090ms |
————300 g unrestricted .
170 90 1200 g 1450 ms
25 30 35 40 45 50 55 60 65 gotroke [mml 40 45 50 55 60 65
Stroke [mm] Stroke [mm]
CS 12/90-ED elastomer CS 12/90-SD hydraulic
Time [ms] Time [ms]
350 170
_
160 — /
330 -
e 150 a— j/
- —~
/,/' -
310 140 R
L -
/ 130 7 — Payload min. cycle time
290 L— | 50g 800 ms
/ Payload min. cycle time 120 — T —=-600g 1130ms |
——+—300 g unrestricted — .
270 1o 1200g 1490 ms
55 60 65 70 75 80 85 90 95 55 60 65 70 75 80 85 90 95
Stroke [mm] Stroke [mm]

31 Handling technology HT components linear afag.com



O afag

Compact slides CS
CS 16

Compact design

Solid construction

High rigidity

Intermediate stop for 3rd Position

afag.com Handling technology HT Components linear 32



Dimensions and dimension drawings CS 16

6x15mm 9x15mm 11x15mm 14x15mm
93 mm 135.5mm 167.5mm 210 mm
130 mm 177 mm 209 mm 252 mm
6x15mm 9x15mm 11x15mm 14x15mm

O N @ >

CS 16/120 5
@o.o 0000000

o%Ce 6 o @ @o'o 60606060000 |

CS 16/90 L
f.’@‘ e .7©777°77\77\77‘77‘7

o%s 0 0% 00000 |
CS 16/60 50.0@0 re ©... 55 o

N6 %% o %P o 0 06 ||

19.5 A

CS 16/30 s L

NN ©
D0 O © 0 O O =
o @7 ~ Ve ~ =
g ﬂ < ~
F H = - - = S
8 I @\ I I @\ I I
S % 0 9% 0 o
65.8 10,30 +0.015
— | T :d\ql@
o 5 2 u ©- eg—
P ~ T : 1 BANT |
L RO O s NI S
F 0
P 25 12 15 J 2 M4 =
(2xM3)
43.75 min. 15 9.5 B GTHTI .6
C
19.5 D

©%% 056 © 000

o—

... @O ® -@OC@—

E@;M@E

33 Handling technology HT Components linear afag.com

30 +0.15

$ Bores can be screwed through



Technical data

CS 16

Attachment grid 30x 30 mm

Attachment thread M4

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 16 mm

Retract piston force 103 N

Extend piston force 120N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50167742 50154069 50154070 50154071
Stroke H 30 mm 60 mm 90 mm 120 mm
Stroke limitation 2x30mm 2 x30 mm 2 x30 mm 2 x30 mm
Net weight 0.74 kg 0.98 kg 1.2 kg 1.27 kg
Moving weight 0.34 kg 0.48 kg 0.564 kg 0.671 kg
Air consumption/cycle 0.0554 NL 0.1109 NL 0.1664 NL 0.2218 NL
Noise level 64 dB (A) 64 dB (A) 64 dB (A) 64 dB (A)
Repeat accuracy +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01 mm
Maximum speed 1m/s 1m/s 1m/s 1m/s
Minimum speed 0.1 m/s 0.1 m/s 0.1 m/s 0.1 m/s
Mounting position <-:-> «:- ~$-> <-}>

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3

= 4x Special screw M4 x 20/8

= 2x Stop sleeve ASH M10x1 -1
= 2x Shock absorber SD M8x1 -4

Accessories
= |nstallation set proximity switch CS 16/CS 20 [p. 48]
= |ntermediate stop ZA-CS 16 [p. 46]
(Catalogue HT accessories)

= |NI c10x28.5-Em-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)

= NI c10x19.5-Em-PNP-NO-M8x 1
= NI ¢10x9-Em-PNP-NO-M8x1
= NI d4x25-5n1.0-PNP-NO-M8x 1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

34



Preferred combinations CS 16

1 < direct > 2 ! VP 106 2
1 VW 308 2,3 3 VP 107 2
1 VP 115 2 1,3  <direct> 2
3 VP 127 2 1 < direct > 2
1,3 VP 140 2 1 VW 308 2,3
1,2 VP 112 2 1 VP 105 2
1 < direct > 2 1 VP 127 2
3 VP 115 2 3 <direct> 2
1 < direct > 2
3 VP 115 2 ’ VP. 1 ’
1 py— 1,3  <direct > 2
1 VP 127 1
1 VP112 2 3 VP 117 1
3 <direct> 2 1 VP 127 1,2
3 VF 403 2,3 3 VP 117 1
3 VF 405 2,3 3 veier ’
1 VP 127 1,2
1,3 VP 113 2 3 VP 117 1
1 < direct > 2 3 VP 127 2
3 VE 112 2 1,3 <direct> 1,2
1,2 <direct > 2 1 VP 150 1,2
1,2 <direct > 2 3 <direct> 1,2
2 VW 308 2,3 1 VS 512 1,2
1 < direct > 2 3 VP 139 1,2
1 VP. 137 3 1,3 VP107 1,2
3 <dfrect> 2 1,3 VP 107 1.2
3 <direct> 2 13 VP 109 2
3 VE 112 2 1,3 VP110 1
3 d!rect 2 1,3 VP 147 1,2
3 jlreCt 2 1,3 <direct> 1
3 i 2
freCt 1,3 VP107 1
1 < direct > 2 1,3 VP 151 2
2,3 VP 120 2
1,3 VP 150 2
1 < direct > 2
2,3 VP 120 2
3 <direct> 2
3 VP 120 2
1 <direct> 2
1 < direct > 2
1 VP 117 2
1 VP 117 2
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 : !
—l 1ﬁ1 WD:I;H]1 3@ [%2 1[‘:1?'] 1
2 2
PP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, 5G, DG, PG, GE
3 3 3
4@1 o] 2 [0 [ —1In 1E}ﬂ'3 WB}B 21 H
2 2 2 2 g ’

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

35 Handling technology HT Components linear afag.com



Slide loads CS 16

CS 16/30 CS 16/60 CS16/90 CS 16/120

Max. torque Mx 10 Nm 14 Nm 14 Nm 14 Nm
Max. torque My 18 Nm 32 Nm 33 Nm 39 Nm
Max. torque Mz 25Nm 44 Nm 46 Nm 56 Nm
Effective distance Wx 51 mm 65 mm 65 mm 72 mm
Effective distance Wy 33 mm 33 mm 33 mm 33 mm
Effective distance Wz 11 mm 11 mm 11 mm 11 mm

Maximum payload/type CS 16/30 CS 16/60 CS16/90 CS 16/120
Installation position (horizontal) for mounting side 1 1.5kg 2kg 2 kg 2 kg
Installation position (horizontal) for mounting side 3 2 kg 3kg 3kg 3kg
Installation position (vertical) for mounting side 1 1.5kg 2 kg 2 kg 2 kg
Installation position (vertical) for mounting side 3 2kg 3kg 3kg 3kg
Assembly sides horizontal: 3 vertical:

module mounting % 1
3

4

If the specified maximum payloads are exceeded, it must be ensured that the corresponding moments do not affect the
service life of the module. In the event of critical applications, please contact Afag.

afag.com Handling technology HT Components linear 36



CS 16/30 CS 16/60
Time [ms] Time [ms]
190 240 oo
5009 —F———
180 - 220 |0 o= .
170 = : ;gggg I = T
160 1 200 20000 —
150 4tz === —= B P I I Bt iy
40— pe===m0 — =" Lol I I Y R i
130 e 160 e —
120 - o —— et — |
e 10009 = = == - 140
10 L R
100 2 == 120
5 10 15 20 25 30 35 25 30 35 40 45 50 55 60 65
Stroke [mm] Stroke [mm]
CS 16/90 CS16/120
Time [ms] Time [ms]
290 Payload 340 _
Pl R e E— e 320 — = =
250 12000 e N S 300 e
30009 — - — R SO0 AN I AR N SN
230 T ———— | =4
- //,‘ |- . -— _ 260 - —1= —
210 ST P 240 == i —
P T L e —— g oo
200 owg -
150 180
55 60 65 70 75 80 8 90 95 85 90 95 100 105 110 115 120 125
Stroke [mm] Stroke [mm]
37 Handling technology HT Components linear afag.com



O afag

Compact slides CS
CS 20

Compact design

Solid construction

High rigidity

Intermediate stop for 3rd Position

afag.com Handling technology HT Components linear 38



Dimensions and dimension drawings

m MmO N @ >

CS 20/150

CS 20/100

CS 20/50

Q\\'?”
E3e F
o | i
(&} I
5.3
9.8

$ Bores can be screwed through

5x24 mm
134.5 mm
175 mm
5x24 mm
Top slide
Front

@

o

i,

©O 0 000OOGOGOO O 1

HTIT T [Ty
1

ODQQQQQQQQQQQt

(N [ S

© 06 6 06 060 00

°Il

o 0 6 6 060 0 0

N

M6

’%
°
4r\\wwu¥ﬁ%

10.5

%
\

-
.

@H7/2.1

14

min 19

- c T
245 D
&

48 +0.015

&

© 600 000 -
@ ©

77
2 000 000 © @

M6

=

39 Handling technology HT Components linear

CS 20
8 x 24 mm 10 x 24 mm
194.5 mm 254.5 mm
235 mm 295 mm
8 x 24 mm 10 x 24 mm
Top slide Top slide
Front Front
E
0.5 48 +0015
GIH7I6
gm -
e o
" 0 I O I 7.5 20015
+0.015 & o 15 10015
24 x0015 A 30 0.015
19.5 M6
15 10,015 DIHT2.1
30 +0.015
afag.com



Technical data

CS 20

Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 2x16 mm

Retract piston force 207N

Extend piston force 241N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50100711 50100712 50100713
Stroke H 50 mm 100 mm 150 mm
Stroke limitation 2x25mm 2x25mm 2x25mm
Net weight 1.5 kg 1.8kg 2.2 kg
Moving weight 0.8 kg 1kg 1.2 kg

Air consumption/cycle 0.1718 NL 0.3436 NL 0.5154 NL
Noise level 64 dB (A) 64 dB (A) 64 dB (A)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm
Maximum speed 1m/s 1m/s 1m/s
Minimum speed 0.02 m/s 0.02 m/s 0.02 m/s
Mounting position - 4 +

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)

= 2x Centering bushing @9x4

= 4x Special screw M6 x 25/9

= 2x Stop sleeve ASH M12x1 -1

= 2x Shock absorber SD M10x1 -5

Accessories
= |ntermediate stop ZA-CS 20 [p. 47]

= |nstallation set proximity switch CS 16/CS 20 [p. 48]

(Catalogue HT accessories)
= INI c10x28.5-Em-PNP-NO-M8x 1

Alternative accessories
(Catalogue HT accessories)

= NI d4x25-Sn1.0-PNP-NO-M8x1

= NI c10x9-Em-PNP-NO-M8x 1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

40



41

Preferred combinations

PMP, PMP-c

4@1

1.3
1,3
1.3

< direct >
< direct >
< direct >
<direct >
< direct >
< direct >
< direct >
< direct >
< direct >
< direct >
< direct >
< direct >

< direct >
VP 119

< direct >
< direct >
< direct >
< direct >
< direct >
< direct >

< direct >
VP 117

< direct >

< direct >
VP 142

< direct >
<direct >
< direct >
< direct >
< direct >
< direct >
<direct >

< direct >

PEZ, PDZ

3 3
o] & o] [I——_1n
2 2

NN NN NN NN NN DN NN DN NN DNDDNDN WO N NN DNDDNDNDNDNDNDDND NN NN

1,3
1
3
1,3
1
1,3
3
1,3
1,3
3
1
3
1,3
1
3
1,3
1,3
1,3
1,3
1
1
3
1,3
1,3
1,3
F Flange
* The combination of CS 20/50
and the rotary module is not
possible.
Mounting areas
LM, LE HM SA
3 1 1
30 3l =
2
PEL, PDL CR, RM 32, RE, SREH RM, RE

IR E i
2 2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of pedestals are depicted in the catalogue HT accessories.

Handling technology HT Components linear

VP 112

VP 115
VP 127

< direct >
VP 120
VP 127
VP 112
< direct >
VP 119
<direct >
<direct >

< direct >
VP 117

< direct >
VP 117
VW 302

< direct >
VP 117
VW 302

VP 150
VP 115
VP 129
< direct >
VP 115

VP 147
VP 127

VP 148
< direct >
VP 150

CS 20
1
2
2
2
2
2
2
2
2
2
1
1
1
2
1
2
2
1
2
2
1.2
1,2
1.2
1
2
1
1
1
1
2
0z
=)

2[4
3

UG, GM, SG, DG, PG, GE

afag.com



Slide loads CS 20

Type CS 20/50 CS 20/100 CS 20/150
Max. torque Mx 57 Nm 57 Nm 57 Nm
Max. torque My 50 Nm 57 Nm 63 Nm
Max. torque Mz 50 Nm 57 Nm 63 Nm
Effective distance Wx 106 mm 163 mm 217 mm
Effective distance Wy 43 mm 43 mm 43 mm
Effective distance Wz 14 mm 14 mm 14 mm

Maximum payload/type CS 20/50 CS20/100 CS 20/150
Installation position (horizontal) for mounting side 1 4 kg 4 kg 4 kg
Installation position (horizontal) for mounting side 3 5kg 5kg 5kg
Installation position (vertical) for mounting side 1 4 kg 4 kg 4kg
Installation position (vertical) for mounting side 3 5kg 5kg 5kg
Assembly sides horizontal: 3 vertical:

module mounting % 1

4

If the specified maximum payloads are exceeded, it must be ensured that the corresponding moments do not affect the
service life of the module. In the event of critical applications, please contact Afag.

afag.com Handling technology HT Components linear

42



Slide loads CS 20

CS 20/50 CS20/100

Time [ms] Time [ms]
220 295 Tpayload
210 P 285 10 ng i} :
200 Z 20009 -1 G
190 3 275 301 Ug ;_’:,/’, I~

265 40009 SZx
170 . ; 255 = ’/'/
160 P %009 — T e iz
22 o S T2

150 S 00g e
140 ;/ 4000g oo 235 ==
130 5000g 225

5 10 15 20 25 30 35 40 45 50 55 45 50 55 60 65 70 75 80 85 90 95 100 105

Stroke [mm] Stroke [mm]

CS 20/150

Time [ms]
370
360 1=
350 St T
340 s A

..,—’,'//,a” L
330 o 7, P Payload
320 Bl 1000
310 ,// 20009 -1-----
5/',’ 30009 —|
300 4000¢
e 50009 T T

290

95 100 105 110 115 120 125 130 135 140 145 150 155
Stroke [mm]

43 Handling technology HT Components linear afag.com



O afag

Compact slides CS
CS 25

Compact design

Solid construction

High rigidity

Intermediate stop for 3rd Position

afag.com Handling technology HT Components linear 44



Dimensions and dimension drawings

CS 25

A 265 mm 325 mm 415 mm 475 mm
B 6 x 30 mm 8x30mm 11x30mm 13x30mm
C 6 x 30 mm 8x30mm 11x30mm 13x30mm
CS 251240 &9 000G 0000O0O0OC O
H
i - _ . . . . q 1
(% 00080000000
EE o
CS 25/180 49 000goo000O0O
H
- _ _ _ _ i
%000 &% 00000 |
CS 25/120 &) 7% QH—Q & @ Q Q 67
E b &
;- . . . _
e 00 8% 000
g i &2
S ) ) T e
448 % oo o i
1/ J % & ‘ S00018 4 4917125
14 M8
G1/8
S s
JLia ¢ @J L |10 & =
17.5 2x G1/8" M6 ;
min. 22.5 14 48 +0.015
A
35 B
B OHTI2.1
M6
1
T &P @ 000 © @
®%*¢ o0 © © s
BEIF T
29 | _ 3x24
$ Bores can be screwed through
45 Handling technology HT Components linear afag.com



Technical data

CS 25

Attachment grid 60 x 60 mm

Attachment grid alternative 48 x 48 mm

Attachment thread M8

Attachment thread alternative M6

Operating pressure 6 +/- 2 bar

Air connection P G1/8 "

Cylinder @ 2x18 mm

Retract piston force 245N

Extend piston force 305N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50224806 50224807 50224808 50224809
Stroke H 60 mm 120 mm 180 mm 240 mm
Stroke limitation 2x30mm 2 x30mm 2 x30 mm 2 x30 mm
Net weight 3.935kg 4.58 kg 5.62 kg 6.26 kg
Moving weight 1.9kg 2.3kg 3kg 3.4 kg

Air consumption/cycle 0.253 NL 0.503 NL 0.759 NL 1.012 NL
Noise level 64 dB (A) 64 dB (A) 64 dB (A) 64 dB (A)
Repeat accuracy +/-0.01mm +/-0.01 mm +/-0.01mm +/-0.01 mm
Maximum speed 1m/s 1m/s 1m/s 1m/s
Minimum speed 0.5m/s 0.5m/s 0.5m/s 0.5m/s
Mounting position - - 4 +

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)

= 2x Centering bushing @12x4.8
= 4x Special screw M8 x 35/15

= 2x Stop sleeve ASH M18x1 -1

= 2x Shock absorber SD M14x1 -2

Accessories

= |ntermediate stop ZA-CS 25 [p. 48]
= |nstallation set proximity switch CS 25 [p. 48] = INI d6.5x35-Sn1.5-PNP-NO-M8x1
(Catalogue HT accessories)
= NI c10x28.5-Em-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)

= INI ¢10x9-Em-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

46



Preferred combinations

1,3 <direct>
1 VP 142
1,3 VP 145
1,3 <direct>
3 VP 112
3 < direct >
3 VP 145
3 < direct >
3 < direct >
3 < direct >
2,3 VP142

2,3 <direct>
1 VP 142

3 < direct >
3 < direct >

CS, ES PS
3 3

PMP, PMP-c PEZ, PDZ
3

NN NN NN NN DN DNDNDNDNDN DN NN

Mounting areas

LM, LE HM
3 1
=
2

PEL, PDL CR, RM 32, RE, SREH

3 3
a4 1ol To)| I —1n 1[4
2 2 2 2

Note that there might be different mounting positions from one module to another one.

1,3 VP 140
1,3 <direct>
1,3 <direct >
1 VP 122
3 < direct >
3 VP 142
1,3 <direct>
1,3  VW302
1,3  <direct >
1,3 VW 302
1,3 <direct>
1,3 VP 148
1,3  <direct >
SA
[%z
RM, RE

1 @’3

2

CS 25

1
2
2
2
2
2
2
1
2
1
2
1
1
1

oz
=)

2

UG, GM, SG, DG, PG, GE

2[1H
3

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

47 Handling technology HT Components linear

afag.com



Slide loads

Max. torque Mx 84 Nm 84 Nm

Max. torque My 133 Nm 133 Nm

Max. torque Mz 112 Nm 112 Nm

Effective distance Wx 95 mm 95 mm

Effective distance Wy 56 mm 56 mm

Effective distance Wz 14 mm 14 mm
z

Installation position (horizontal) for mounting side 1 5kg 5kg
Installation position (horizontal) for mounting side 3 7.5kg 7.5kg
Installation position (vertical) for mounting side 1 5kg 5kg
Installation position (vertical) for mounting side 3 7.5kg 7.5kg
Assembly sides horizontal: 3 vertical:

module mounting % 1

4

84 Nm
140 Nm
120 Nm
95 mm
56 mm
14 mm

5kg
7.5kg
5kg
7.5kg

CS 25

84 Nm
140 Nm
120 Nm
95 mm
56 mm
14 mm

5kg
7.5kg
5kg
7.5kg

If the specified maximum payloads are exceeded, it must be ensured that the corresponding moments do not affect the

service life of the module. In the event of critical applications, please contact Afag.

afag.com Handling technology HT Components linear

48



Slide loads

CS 25/60
Time [ms]
250
240 —
230 = A
220 —=
210 e
200 — = _1==
190 sl - Payload
180 ,f// o —— -
170 7 I
VG 5000g [— — —+-
::68 RUUg T— — 7~
5
0 10 20 30 40 50 60
Stroke [mm]
CS 25/180
Time [ms]
450
430 /,//"
410 ~
//
4’
390 o=t
370 AAA i Payload
= 7 0g |————
350 i 2500 |- - - - --
4 5000 |— - — |—-
230 7500 |— - — - -

10 120 130 140 150 160 170 180 190

Stroke [mm]

49 Handling technology HT Components linear

CS 25/120
Time [ms]
300
290
280 _
-~ "
270 Tt
260 //_'//
250 Zr
v Payload
240 =1 y %
230 P 2506g
220 5000g —-—t—-
210 75009 | —--—---
50 60 70 80 90 100 110 120 130 140
Stroke [mm]
CS 25/240
Time [ms]
490
480 —
¢~/
470 —
-~
460 > 2
450 A
440 // Payload
=z 09 ——
430 = 25064
420 5000g | — - —{—-
75009 | — - -
410

170 180 190 200 210 220 230 240 250
Stroke [mm]

afag.com



Accessories CS

Intermediate stop ZA-CS 16 ZA-CS 16
Order number 50205052
Net weight 0.42 kg

P M5

26

Inlcuded in the delivery Accessories

(Catalogue HT accessories) (Catalogue HT accessories)
= 3x Centering bushing @7x3 = NI ¢10x9-Em-PNP-NO-M8x1

= 3x Mounting screw M4x25 = INI c10x28.5-Em-PNP-NO-M8x1
= 1x Stop sleeve ASH M10x1 -1

= 1x Shock absorber SD M8x1 -4

Intermediate stop ZA-CS 20 ZA-CS 20
Order number 50205054

Net weight 0.411kg
p M5

Inlcuded in the delivery Accessories

(Catalogue HT accessories) (Catalogue HT accessories)
= 3x Centering bushing @9x4 = NI d4x25-5n1.0-PNP-NO-M8x1
= 3x Mounting screw M6x30 = INI ¢10x9-Em-PNP-NO-M8x1

= 1x Stop sleeve ASH M12x1 -1 = INI c10x28.5-Em-PNP-NO-M8x1

= 1x Shock absorber SD M10x1 -5

afag.com Handling technology HT Components linear 50



Accessories CS

Intermediate stop ZA-CS 25 ZA-CS 25
Order number 50224670
Net weight 0.816 kg
P M5

S
Inlcuded in the delivery Accessories
(Catalogue HT accessories) (Catalogue HT accessories)
= 3x Centering bushing @12x4.8 = NI d4x25-Sn1.0-PNP-NO-M8x1
= 3x Mounting screw M8x35 = NI ¢10x9-Em-PNP-NO-M8x1
= 1x Stop sleeve ASH M18x1 -1 = |NI c10x28.5-Em-PNP-NO-M8x1
= 1x Shock absorber SD M14x1 -2
SDH-fastening CS 8
Order number 50568020
Net weight 0.01 kg

<
)

51 Handling technology HT Components linear afag.com



Accessories CS

SDH-fastening CS 12

Order number 50568150

0.01 kg

Net weight

21.3

(10.9)

Installation set inductive switch CS

CS 16/CS 20 CS 25

Order number 50242140 50242141

Net weight 0.001 kg 0.001 kg

Note: Application purpose: See operating manual

afag.com Handling technology HT Components linear 52



O afag

High-precision slides PS
PS 16 - PS 32

53 Handling technology HT Components linear

afag.co



Table of contents: PS

High-precision slides PS Page n

PS 16 | 56
PS 25 | 62|
PS 32 | e8]
Accessories PS

afag.com Handling technology HT Components linear 54



55 Handling technology HT Components linear afag.com



O afag

High-precision slides PS
PS 16

For large loads

Cross-roller guides

Long strokes

Intermediate stop for 3rd Position
Portal construction possible

afag.com Handling technology HT Components linear 56



57

Dimensions and dimension drawings PS 16
A 1x30mm 3x30mm 5x30 mm
B 39 mm 34 mm 29 mm
C 200 mm 300 mm 400 mm
D 69 mm 119 mm 169 mm
E 108 mm 158 mm 208 mm
F Front Front Front
G Top slide Top slide Top slide
P M5 M5 M5
r B A +0.015
o— ] & ©
‘ . G 50
M4X1J‘! ‘ ‘ DTHT/1.6
C ‘
- |
| o o ° ° =
I ST | i [72)
S 5 e ogf ) @j] ol oD: b B ,
y 2 51 s—0 B 5 3
[Clg==i) ) q LD, S . ©r o
8_ |19.5 N 8 =| M/ W2 s
min.21 T ©
. S
M4x6  PTHT/16
119 0606 06060 ¢0 |
=4 I I I I I I
PS16/50 @, ﬂ @@— ,@, @ ,@, —@ — W
o
= 32.5 130 z0.015 30 +0.015 30 +0.015
22.5 £0.015 22.5 +0.015
o190 @@ ¢@ O @ O e 0 ¢@ |
o
PS16/100 oY 0e%e % o9 e %e @90 % |j |
o
- 32.5 130 £0.015/30 +0.015 42.5 +0.015 |30 0.015 42.5 20.015 |30 £0.01530 £0.015
PS 16/150 = ‘ ‘ . ‘ . . ‘ w ‘ ‘
il 09 09 99 090 YWY 0 Ve ©0Po WY ©®o @O 0
o
- 32.5 130 £0.015/30 +0.015 30 £0.01530 +0.015 30 £0.015 30 £0.01530 #0.015 |30 +0.015 30 +0.015

15 +0.015 17.5 +0.015

17.5 +0015

15 £0.015

Handling technology HT Components linear

afag.com



Technical data PS 16

Attachment grid 30x 30 mm

Attachment grid alternative 20x20 mm

Attachment thread M4

Attachment thread alternative M3

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 16 mm

Retract piston force 104 N

Extend piston force 121N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50076867 50076873 50076874
Stroke H 50 mm 100 mm 150 mm
Stroke limitation 2x25mm  2x25mm  2x25mm
Net weight 1.407 kg 1.85kg 2.282 kg
Moving weight 0.75kg 0.97 kg 1.18 kg
Air consumption/cycle 0.0859NL  0.1719NL  0.2578 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.01 mm +/-0.01mm +/-0.01 mm
Maximum speed 0.2m/s 0.3m/s 0.4 m/s
Minimum speed 0.05 m/s 0.05 m/s 0.05 m/s
Mounting position - 4+ +

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.
The module can be operated with lubricated or dry air.
Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery Accessories

(Catalogue HT accessories) = |ntermediate stop ZA-PS 16 [p. 69]

= 2x Centering bushing @5x2.5 = Stop extension [p. 72]

= 2x Centering bushing @7x3 = Shock absorber ASSD M10x1 -1 [p. 72]
m 2x Shock absorber ASSD M10x1 -1 = Proximity switch holder PS 16 [p. 73]

= 2x Stop screw AS 08/14 (Catalogue HT accessories)

= |NI d4/6.5x45-Sn1.0-PNP-NO-M8x 1
= NI d4x25-Sn1.0-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 58



Preferred combinations

N
w

VP 127
VP 117
VP 117

VP 137
VP 137
VP 137

VS 500
VS 500
VS 500

VP 137
VP 137
VP 137

VP 137
VP 146
VF 403
VF 405
1.3 VP 118
VP 146

< direct >
VP 137

1 VP 137

VP 140
VW 308

VP 118
VP 137
VP 137 2

VP 137
2,3 VP 146

3 VP 137
VP 146
1 < direct >

WN = WN—= WN —= —  —

w W = .
NN NN NN
~ N N\LAJ\LAJ NN NWN NWN NwN\LAJ\UU N

- w w w N — =
N N N

~ NS NN S
w w w w w

NONN

Mounting areas

CS, ES PS LM, LE
3 3
—L =L M HR
2 2 2
PMP, PMP-c PEZ, PDZ PEL, PDL
3 3 3
a1 O % ol I
2 2

2

HM
1
ofl
2
CR, RM 32, RE, SREH

1Bﬂ3
2

1,2,3 <direct>
1 VP 127
2,3 VW 303
VP 117
123 vs 501
1 VP 137
2 VP 137
3 VP 137
1,2,3 VP 137
2,3 <direct >
1,2,3 <direct >
1,2,3 VP 117
1,2,3 VP 127
1,2,3 VP 117
1,2,3 VP 127
1,2,3 <direct >
1,2 VP 150
3 VP 151
1,3 VP 137
1,3 VP 151
1 < direct >
2,3 VP 107
1,2,3 <direct >
1,2,3 VP 109
1,2,3 VP 110
1,2,3 <direct >
1,2,3 <direct >
1,2,3 VP 147
1,2,3 VP 150
1,2,3 <direct >
SA
1
[—;
3
RM, RE

1|
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of pedestals are depicted in the catalogue HT accessories.

59 Handling technology HT Components linear

NN

N

- = NWwWw NWN

—
SN = NN s
N

PS 16

UG, GM, SG, DG, PG, GE

2[1H
3

afag.com



Slide loads

Max. static torque Mx
Max. static torque My
Max. static torque Mz
Max. dynamic torque Mx
Max. dynamic torque My
Max. dynamic torque Mz
Effective distance Wx
Effective distance Wz

23 Nm
38.5Nm
20.8 Nm

8.9 Nm
14.8 Nm

8.0 Nm

75 mm

10 mm

Installation position (horizontal) for mounting side 1

(
Installation position (horizontal) for mounting side 3
Installation position (vertical) for mounting side 1

(

Installation position (vertical) for mounting side 3

Assembly sides horizontal: 3
module mounting 1

Operation time PS 16

Time [ms]
0.400

0.350
0.300
0.250
0.200
0150
0100 ——  PS16150 ]
0.050 — PS 16/100]

——  PS16/150
0.000 I I I

0 1 2 3 4 5 6 7 8 9 10
Stroke [mm]

afag.com

vertical:

1

3.5kg
8 kg
3.5kg
8 kg

34.6 Nm
54.6 Nm
28.4Nm
13.3Nm
21.0Nm
10.9 Nm
100 mm

10 mm

3 kg
7.5kg
3kg
7.5kg

PS 16

42.4 Nm
70.7 Nm
36.2 Nm
16.3 Nm
27.2 Nm
13.9Nm
125 mm

10 mm

2.5kg
7 kg
2.5kg
7 kg

Handling technology HT Components linear



61 Handling technology HT Components linear afag.com



O afag

High-precision slides PS
PS 25

For large loads

Cross-roller guides

Long strokes

Intermediate stop for 3rd Position
Portal construction possible

afag.com Handling technology HT Components linear 62



Dimensions and dimension drawings PS 25

A 1x48 mm 1x48 mm 3 x48 mm 3x48 mm
B 36 mm 61 mm 38 mm 63 mm
C 2 x48 mm 2x48 mm 4 x 48 mm
D 60 mm 37 mm 62 mm 39 mm
E 220 mm 320 mm 420 mm 520 mm
F 66 mm 116 mm 166 mm 216 mm
G 120 mm 170 mm 220 mm 270 mm
J Front Front Front Front
K Top slide Top slide Top slide Top slide
P M5 M5 M5 M5
‘ B A 20.015
‘ M6x12 i i r@gm/zn
fET o o090
E %
O O O
@64 BIHT /2.1 K
D C 0015
65
J ‘_ E - 30 +0.015
® 9 i o @
o © (-3 o < @ @0
PS25/100 2 M ~ 4 RS9
IEI “’_. O 3 ®)- @
L \d L @ I &
10 27 F P ~ 10 M4 BTH7/16
min.25 G
M%x12 BIHT /21
@& ®
PS 25/50 b
] e®e ovo
b 38 48 0015 48 +0.015 48 0015
) PO 0O 0660 0©0 [6)
PS 25/100
PPe 0O 00O 006 ®
38 48 +0.015 50 +0.015 48 +0.015 50 +0.015 48 +0.015
@GO 00O Y0 000 000 &0 0% 0
PS 25/150
0He 060 WO 000 Oe 096 &0
38 48 0015 52 +0.015 48 +0.015 48 +0.015 48 +0.015 52 +0.015 48 +0.015
® B0 00 0©e OO 0O 6 06 e
PS 25/200
@00 0600 090 000 000 0906 e©e 096 6®

‘ 38 ‘ 48 0015 ‘ 4810,015J 54 +0.015 L4810.015 ‘ 48 +0.015 ‘ 4810.015J 54 +0.015 L48¢0.015 ‘ 48 0015 ‘

$ Bores can be screwed through

63 Handling technology HT Components linear afag.com



Technical data PS 25

Attachment grid 48 x 48 mm

Attachment grid alternative 30x 30 mm

Attachment thread M6

Attachment thread alternative M4

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 25 mm

Retract piston force 227N

Extend piston force 295N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50076883 50076888 50076891 50076893
Stroke H 50 mm 100 mm 150 mm 200 mm
Stroke limitation 2x25mm 2 x25mm 2x25mm 2 x25mm
Net weight 3.086 kg 3.086 kg 3.72 kg 4.35kg
Moving weight 1.32 kg 1.68 kg 2.05kg 2.41kg
Air consumption/cycle 0.2 NL 0.4 NL 0.6 NL 0.8 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.01mm +/-0.01 mm +/-0.01mm +/-0.01 mm
Maximum speed 0.2 m/s 0.3m/s 0.4 m/s 0.4 m/s
Minimum speed 0.05 m/s 0.05 m/s 0.05 m/s 0.05 m/s
Mounting position - - 4 +

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.
The module can be operated with lubricated or dry air.
Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery Accessories

(Catalogue HT accessories) = |ntermediate stop ZA-PS 25 [p. 70]

= 2x Centering bushing @7x3 = Stop extension PS 25 [p. 72]

= 2x Centering bushing @9x4 = Shock absorber ASSD M12x1 -1 [p. 72]
= 4x Mounting screw M6x14 = Proximity switch holder PS 25 [p. 73]

= 4x Mounting screw M6x16 (Catalogue HT accessories)

= 2x Stop screw AS 08/16 = |NI d4/6.5x45-Sn1.0-PNP-NO-M8x 1

= 2x Shock absorber ASSD M12x1 -1 = NI d4x25-Sn1.0-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 64



Preferred combinations PS 25

1 <direct> 2,3 ; < \ﬂifﬁt; g
! VP.H7 2 1 VP 112+VS 501 P
2 <d!rect> 3 23 VS 501
3 < direct > 2 1 VP 112 2
1 <direct> 2 2 <direct > 2
2 < direct > 3 3 VP 118 2
3 <direct > 2 1 VP 112+VS501 2
- 2 < direct > 2
1 < direct > 2 3 VP 118 2
3 VF410 2 ! V5500 2
E <directs 2 2 VS 500 3
3 dlied: 3 VS 500 2
3 VF 407 2,3 1 VP 117 2
1,3 VP 119 3 2 < direct > 3
1,3 <direct> 2 3 <direct > 2
. 1 VP 137 3
1 < direct > 2 2,3 VP 112 2
1 < direct > 2 2,3 VP 127 3
. 1 VP 127 3
1 < direct > 2 ’ <direct > 3
3 VP 118 2 2,3 < direct > 2
. 3 VP 146 3
3 <d!rect> 2 ; VP 117 ;
3 direct 2 2,3 <direct> 1
3 direct 2 213 \ij, 1 1t7 ;
. , < direct >
3 dlreC’[ 2 1 VP 120 1,2
1,2,3 <direct > 2 2 < direct > 2
1,2,3 VP146 3 2,3 < direct > 1
. 3 VP 122 2
3 < direct > 2 ] VP 120 12
1* < direct > 2 2.3 < direct > 1
. 2 < direct > 2
1 < dfrect > 2 3 VW 302 5
1 <direct> 2,3 1 VP 120+VS500 1
1 <direct>s 23 1 VP1204VS500 2
. 2 < direct > 1,2
3 < direct > 1
3 VP 118 2
1 VP 107 1,2
2,3 VP 115 1,2
1 < direct > 1,2
2,3 VP 115 1,2
1 VP 110 1
2,3 VP 129 1
1 VP 117 1
2,3 < direct > 1
1 VP 118 2
2,3 < direct > 2
2 VP 117 3
3 VP 113 3
* 2x MH 45x1, portal 1 VP 147 1
F flange 2,3 VP 127 1
1 VP 146 1
2 < direct > 1
3 VP 148 1
1 < direct > 1
2,3 VP 112 1
1,2,3 VP 150 2
Mounting areas
CS, ES PS LM, LE HM SA 0z
3 3 3 1 1
—1) 1 H___H 3@ [=—> HET
2 2 2 3 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
3 3
4 O Toy | [ [ 2[R
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.

65 Handling technology HT Components linear afag.com



Slide loads PS 25

Max. static torque Mx 60.7 Nm 87.7Nm 105.2 Nm 131.6 Nm
Max. static torque My 65.9Nm 89.6 Nm 113.2 Nm 136.8 Nm
Max. static torque Mz 37.4Nm 48.0 Nm 58.9 Nm 69.3 Nm
Max. dynamic torque Mx 23.3Nm 33.7 Nm 40.5 Nm 50.6 Nm
Max. dynamic torque My 25.3Nm 34.5Nm 43.5Nm 52.6 Nm
Max. dynamic torque Mz 14.4 Nm 18.5Nm 22.7 Nm 26.7 Nm
Effective distance Wx 85 mm 110 mm 135 mm 160 mm
Effective distance Wz 16 mm 16 mm 16 mm 16 mm
z
Mz

Installation position (horizontal) for mounting side 1 6 kg 5.5kg 5kg 5kg
Installation position (horizontal) for mounting side 3 12 kg 11kg 10kg 10kg
Installation position (vertical) for mounting side 1 6 kg 5.5kg 5kg 5kg
Installation position (vertical) for mounting side 3 12 kg 11 kg 10 kg 10 kg
Assembly sides horizontal: 3 vertical: 1

module mounting 1 D:':H:I 1

Operation time PS 25

Time [ms]

0.500

0.450

0.400 I = el

0.350 - — - —

0300 || T

0.250 —— T

0200 ]

0.150

0.100 ——

0.050 ———  PS25/150

0.000 7 -7 - PS250200
01 2 3 4 5 6 7 8 9 10 1 12 13 14 15

Stroke [mm]

afag.com Handling technology HT Components linear 66



67 Handling technology HT Components linear afag.com



O afag

High-precision slides PS
PS 32

For large loads

Cross-roller guides

Long strokes

Intermediate stop for 3rd Position
Portal construction possible

afag.com Handling technology HT Components linear 68



Dimensions and dimension drawings

A 1x48 mm 2 x48 mm 2 x48 mm
B 36 mm 37 mm 62 mm
C 1x48 mm 3x48 mm
D 60 mm 61 mm 38 mm
E 224 mm 324 mm 424 mm
F 75 mm 125 mm 175 mm
G 120 mm 170 mm 220 mm
J 64 mm 66 mm 68 mm
K 2 x48 mm 4 x48 mm 6 x48 mm
L Front Front Front
M Top slide Top slide Top slide
P G1/8 " G1/8" G1/8"
B A +0.015
M6x15 BIHT /2.1
e ¥ o || @ ]
~ A A y j
e fen
P6.4 B HT /2.1 M
D C +0.015
E
L
(-] (-]
S| e~ Ef
[E
12
M6x11 BIHT/ 2.1
S 3] @ 1S ® ®
é
< ® 9 e @
J K+0.015

$ Bores can be screwed through

69 Handling technology HT Components linear

20.5

48 +0.015

PS 32
4 x48 mm 4 x48 mm
39 mm 64 mm
3 x48 mm 5x48 mm
63 mm 40 mm
524 mm 624 mm
225 mm 275 mm
270 mm 320 mm
70 mm 72 mm
8 x48 mm 10x48 mm
Front Front
Top slide Top slide
G1/8" G1/8 "
80
48 0015
30 20,015
= Rica=
= Me |lm4a =
2 B

afag.com



Technical data PS 32

Attachment grid 48 x 48 mm

Attachment grid alternative 30x 30 mm

Attachment thread M6

Attachment thread alternative M4

Operating pressure 6 +/- 2 bar

Air connection P G1/8"

Cylinder @ 32 mm

Retract piston force 415N

Extend piston force 483 N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50076902 50076905 50076907 50076909 50076911
Stroke H 50 mm 100 mm 150 mm 200 mm 250 mm
Stroke limitation 2x25mm 2x25mm 2 x25mm 2x25mm 2 x25mm
Net weight 4.21kg 5.24 kg 6.29 kg 7.37 kg 8.4 kg
Moving weight 2.32kg 2.96 kg 3.59kg 4.23kg 4.86 kg
Air consumption/cycle 0.34 NL 0.69 NL 1.03 NL 1.38 NL 1.72 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01 mm
Maximum speed 0.2m/s 0.3 m/s 0.3m/s 0.3m/s 0.4 m/s
Minimum speed 0.05m/s 0.05 m/s 0.05 m/s 0.05 m/s 0.05 m/s
Mounting position 4> - - 4 +

The technical data refers to a nominal pressure of 6 bar under Afag standard test conditions. The maximum payloads are listed in the payloads table in the slide loads section.
The module can be operated with lubricated or dry air.
Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery Accessories

(Catalogue HT accessories) = |ntermediate stop ZA-PS 32 [p. 71]

= 2x Centering bushing @7x3 = Stop extension PS 32 [p. 72]

= 2x Centering bushing @9x4 = Shock absorber ASSD M14x1 -1 [p. 72]
= 4x Mounting screw M6x20 = Proximity switch holder PS 32 [p. 73]

= 2x Shock absorber ASSD M14x1 -1 (Catalogue HT accessories)

= 2x Stop screw AS 08/18 = |NI d4/6.5x45-Sn1.0-PNP-NO-M8x 1

= NI d4x25-Sn1.0-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 70



71

Preferred combinations

1 <direct> 2 ; <\?Fi,r$it5>
2,3 <direct> 2,3 13 <direct >
1 < direct > 2 1,2,3 VS 501
2 < direct >
3 VF 407 2,3 3 VP 119
1,3 <direct> 2 2 <direct>
: 3 VP 119
1,3 <direct> 2 1,3 VP 118
. 2 < direct >
1 2
< direct > 1 VP 137
1 < direct > 2 2 VP 137
. 3 VP 137
3 <direct> 2~ 1 < direct>
3 <direct> 2 2 <direct >
- 3 < direct >
2 < direct > 3 1 < direct >
. 2,3 < direct >
3 < direct > 2 13 VP 146
3 < direct > 2 2,3 < direct >
. 2 < direct >
1,2  <direct > 2 1 VP 146
1,2 VP 146 3 2 < direct >
3 VP 142 2,3 3 VP 146
: 1,2,3 <direct>
1 <direct> 2,3 1,2,3 <direct>
1 <direct> 2,3 1,2,3  <direct>
) 1 VW 303
1 <direct> 2,3 2 < direct >
3 VW 302
1 < direct >
1,3 VW 302
2 < direct >
3 < direct >
2 < direct >
3 VP 119
1* < direct >
2,3* VP 112
1,2,3 <direct>
1,2,3 <direct>
2 VP 117
1,3 VP 119
2 < direct >
2 < direct >
1,3 VP 146
1 VP 147
2,3 VP 127
1,3 VP 148
2 < direct >
) 1 < direct >
* Not possible for PS 32/50 23 VP 112
Mounting areas
CS, ES PS LM, LE HM SA
3 3 3 1 1
%1 1ﬁ:|1 1D:|:|ﬂ1 3 @ [%2
2 2 2 2
PMP. PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE
3
3 3
L O o e e J i IR IE -
2 2 2 2 2

Note that there might be different mounting positions from one module to another one.

NNWNNWNNNNNNNNDNNN

—_ N N N
SN2 NN = - - W W N WS
N w w w

JEENENG NN
[ S N
NNNN

wwwN —

NN
w w

PS 32

UG, GM, SG, DG, PG, GE

2[1H
3

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

Handling technology HT Components linear

afag.com



Slide loads

Max. static torque Mx
Max. static torque My
Max. static torque Mz
Max. dynamic torque Mx
Max. dynamic torque My
Max. dynamic torque Mz
Effective distance Wx
Effective distance Wz

104.7 Nm
152 Nm
92.2 Nm
40.3 Nm
58.3 Nm
35.5Nm

87 mm
18.5mm

Mz

130.8 Nm
217 Nm
120.4 Nm
50.3 Nm
83.5Nm
46.3 Nm
112 mm
18.5mm

Installation position (horizontal) for mounting side 1 12 kg 12 kg
Installation position (horizontal) for mounting side 3 20 kg 20 kg
Installation position (vertical) for mounting side 1 12 kg 12 kg
Installation position (vertical) for mounting side 3 20 kg 20 kg
Assembly sides horizontal: 3 vertical: 1
module mounting 1 D::H:I 1

Operation time PS 32

Time [ms]
1.000 ———pr
— PS32/50
0.900 {—— PS 32/100
0.800 +—— Ps32/150
0.700 |—— - PS32/200
0600 === PS 32/250 1oLt
0.500 | i SN B S
0400 L oemr-r=T=T20 e =
0300 F=r=F] A
0.200 —
0.100
0.000

012345678 91011213141516171819202122
Stroke [mm]

afag.com

Handling technology HT Components linear

183.2 Nm
282.1 Nm
150.4 Nm
70.5Nm
108.5 Nm
57.9Nm
137 mm
18.5mm

12 kg
20kg
12 kg
20kg

209.2 Nm
347.2 Nm
181.3 Nm
80.5Nm
133.5Nm
69.7 Nm
162 mm
18.5 mm

12 kg
20kg
12 kg
20kg

PS 32

261.7 Nm
412.2 Nm
211.7 Nm
100.6 Nm
158.5 Nm
81.2 Nm
187 mm
18.5mm

12 kg
20 kg
12 kg
20 kg

72



73

Accessories PS

Order number

50222736
Net weight 0.5kg
p M5
%
M~
= 00
D43
DT.5n7
1245 62.6
|
biig iy
102.5
30 _ 15 495
15 20_ 145 o
I ‘ ‘ o
Lr) = T T i Y ~
© - £
S e 5
¥ L) A
| OV %
P
7 30 043 L/
D547
80.5

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

Note: The ZA intermediate stops for the PS modules are distinguished by their compact size and construction that is adapted to the module. They can be set in various positions
on the module slide grid. Depending on the module stroke length, several intermediate stops may be placed.

The intermediate stop can be easily modified so that it can then be used for retracting or extending movements.

Important: stop angle and shock absorber and adjusting stop screw are included in the delivery.

Inlcuded in the delivery
(Catalogue HT accessories)
= 3x Centering bushing ZA-PS 16
= 3x Mounting screw M4x70

Handling technology HT Components linear

Accessories

(Catalogue HT accessories)

= INI 6.3x4.7x26.3-Em-PNP-NO-M8x1
= Cylinder switch ZA-PS

afag.com



Accessories PS

Order number 50222737
Net weight 1.296 kg
P M5
D00
< @
© o
Sy o
o 3 K OO0
141 (796 )
1N 0] 1N
131
- 54 12 .12 .12 12 12 9
@« 425
~ (e}
1 | EE——000000G— — -
S F e
© s g 3 g
0 o @
. : r—r\r\r\
. O
P 18.5 [11.5 ‘
75 29.5 96.5

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

Note: The ZA intermediate stops for the PS modules are distinguished by their compact size and construction that is adapted to the module. They can be set in various positions
on the module slide grid. Depending on the module stroke length, several intermediate stops may be placed.

The intermediate stop can be easily modified so that it can then be used for retracting or extending movements.

Important: stop angle and shock absorber and adjusting stop screw are included in the delivery.

Inlcuded in the delivery
(Catalogue HT accessories)
= 3x Centering bushing ZA-PS 25
= 3x Mounting screw M6x45

afag.com

Accessories

(Catalogue HT accessories)
= INI 6.3x4.7x26.3-Em-PNP-NO-M8x1

= Cylinder switch ZA-PS

Handling technology HT Components linear

74



Accessories PS

Order number 50222738
Net weight 2.115kg
p M5
010317
06.4
OO
| | O OY
[ s
g -
AN AN AN AN AN
NANTAANTANTA = ANZASZANTAS AN AN ZA AN AN
1805 T (965) |
‘ I
‘ ‘ () (&
— I @‘
\
169
13x 12mm 6.6
=) eV aa N 7\ ViV an a7\ Vaa\ Ve V/an\V/ao\Van
(SZASZASZASZASAASAASZASZA AN A A AN -
I g .
S = i 8
Y o ~
ol & [ T A @G
= —— WYY
e/
6 43 D6.4
10.317
5x 12mm 54.6
1255

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

Note: The ZA intermediate stops for the PS modules are distinguished by their compact size and construction that is adapted to the module. They can be set in various positions
on the module slide grid. Depending on the module stroke length, several intermediate stops may be placed.

The intermediate stop can be easily modified so that it can then be used for retracting or extending movements.

Important: stop angle and shock absorber and adjusting stop screw are included in the delivery.

Inlcuded in the delivery Accessories
(Catalogue HT accessories) (Catalogue HT accessories)
= 3x Centering bushing ZA-PS 32 = INI 6.3x4.7x26.3-Em-PNP-NO-M8x1

= 3x Mounting screw M6x60 = Cylinder switch ZA-PS

Handling technology HT Components linear afag.com



Accessories PS

Stopper extension for PS PS 16 PS 25 PS 32
Order number 50138720 50138771 50138842
Net weight 0.013kg 0.013kg 0.021kg
A Stop position Stop position Stop position
normal normal normal

B Stop position with Stop position with Stop position with
extension extension extension

Stop screw/shock absorber for PS

ASSD M10x1 -1

ASSD M12x1 -1

ASSD M14x1 -1

Order number 50105233 50105234 50105235
Net weight 0.026 kg 0.059 kg 0.1 kg
Max. energy input/stroke 12 Nm 18 Nm 17 Nm
Max. energy input/s 16 800 Nm 42 000 Nm 34 000 Nm
Suitable for PS 16 PS 25 PS 32
A 59.5 mm 77 mm 102.1 mm
B 51.5mm 67.5mm 89 mm
C 41.5mm 55.7 mm 77.2 mm
D 3mm 4 mm 4 mm
E M10x1T mm M12x1T mm M14x1 mm
H 8 mm 10 mm 13 mm
A
ol W]
SN S
B C

afag.com

Handling technology HT Components linear

76



Accessories PS

Proximity switch holder PS 16 Proximity switch holder PS 25

Order number 50138506 Order number 50138579
Net weight 0.024 kg Net weight 0.026 kg
Suitable for PS16 Suitable for PS 25

8 36.5 8 36.5 16

) I

‘V—l’—"
ML SW6

7.5

=)
=)

ot
)
~

L SW6

49.2
45.7
Proximity switch holder PS 32
Order number 50138592
Net weight 0.028 kg
Suitable for PS 32
8 36.5

*'—t‘—j

-
S

SW 6
48.5

0.7

77 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 12 - LM 32

78 Handling technology HT Components linear afag.com



Table of contents: LM

LM 12 | 81
LM 16
LM 20 | 93
LM 25 | 99
LM 32 | 105 |
Accessories LM m

afag.com Handling technology HT Components linear 79



80 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 12

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 81



Dimensions and dimension drawings

A 117 mm
B 107 mm
H 30 mm
P M5
min. 14.5 min. 12.5
14 60 12
N
| T —— T
\ F L [ — R
} L%f PN ﬁ i i ©
| - TTT v & ’€} [ **’7"‘*’ TTE e N
~ ‘Jﬂ:‘ | S jifn‘n@ I —— - J ~
S T TS T s =
0 13
© e —
21 24
H A H
M4x6 6 @4H7/3.1 4x M5%8 2x Q6 M4x6
— é Dujjujn i T T ‘ T / ﬁ»
,7LT:,f>%7 | H‘U 1 i e — Y o I
‘ \?7 ~ | | ~
e, FE—=<
SIS T—0 3 —0 SIS
[ ] ~ & < ~ TL‘&
Moprrpee@a et Tad— et 1
=] 1 | ‘ L Il ‘ I N
A |
6 48 +0015 5 (SD M8x1-2)
5 B
AS 08/25 M5x12 P . _@OYHT21 AS 08/40
] S :
} bt & & T I R
m j B o
L i

82 Handling technology HT Components linear

147 mm
137 mm
60 mm

M5

(4.5)

LM 12

177 mm
167 mm
90 mm

M5

afag.com



Technical data

LM 12

Attachment grid 20 x 48 mm

Attachment thread M5

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 12 mm

Retract piston force 51N

Extend piston force 68 N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 11010377 11010378 11010379
Stroke H 30 mm 60 mm 90 mm
Stroke limitation 20 mm 20 mm 20 mm
Net weight 0.31kg 0.34 kg 0.37 kg
Moving weight 0.13kg 0.16 kg 0.19kg
Air consumption/cycle 0.019 NL 0.038 NL 0.057 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.02 mm +/-0.02 mm +/-0.02 mm
Mounting position - 4 +

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7
*QOptional 2 x 20 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 1x Stop screw AS 08/25

= 1x Stop screw AS 08/40

Accessories

= Base plate LM 12 [p. 105]

= Stop L-bar LM 12/LM 16 [p. 105]
(Catalogue HT accessories)

= Adjusting stop pin M8x1/40

= Adjusting stop pin M8x1/25

= Stop screw AS 08/80

= Shock absorber SD M8x1 -2

= |NI d6.5x44-Sn1.5-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)
= NI d6.5x35-Sn1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

83



Preferred combinations

2,3

[ N N N R UV [N

2,3
1.2,3

w w w w

1.2

PMP, PMP-c

4@1

VP 105
VP 105

VP 127
VW 303

VW 304
VP 117

VP 120
VP 120
VP 120

VP 127
VW 303

VP 120
VP 120
VP 105
VP 120
VF 409
VF 403
VP 105
VP 105

NN NN

N

NN NN NN NN DNNDN NN

PS
3
1;;1

PEZ, PDZ

3
B [o

2

Mounting areas

LM, LE
3
30
2
PEL, PDL

3
Y I—
2

HM
1
o[l
2
CR, RM 32, RE, SREH

B
2

W= — = —a

RM, RE

1

P
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

84 Handling technology HT Components linear

VW 304
VW 304
VW 304
VW 305

VW 304
< direct >

VW 305

1,2

1
1

LM 12

UG, GM, SG, DG, PG, GE

2[1H
3

afag.com



Module stresses LM 12
Type LM 12/30 LM 12/60 LM 12/90
Max. static torque Mx 5.6 Nm 5.6 Nm 5.6 Nm
Max. static torque My 9.6 Nm 9.6 Nm 9.6 Nm
Max. static torque Mz 9.6 Nm 9.6 Nm 9.6 Nm
Max. dynamic torque Mx 2.5Nm 2.5Nm 2.5Nm
Max. dynamic torque My 4.3 Nm 4.3 Nm 4.3 Nm
Max. dynamic torque Mz 4.3 Nm 4.3 Nm 4.3 Nm
Effective distance Wx 68 mm 68 mm 68 mm

LM 12/30 LM 12/60 LM 12/90

Maximum payload/type

Installation position (horizontal) for mounting side 1 0.5kg 0.5kg 0.5 kg
Installation position (horizontal) for mounting side 3 0.5kg 0.5kg 0.5kg
Installation position (vertical) for mounting side 1 0.5kg 0.5kg 0.5kg
Installation position (vertical) for mounting side 3 0.5kg 0.5kg 0.5kg

Assembly sides
module mounting

horizontal: 3 vertical: 1

O

Operation time diagrams

Stroke time LM 12 with shock absorber Stroke time LM 12 without shock absorber

400 600
350 — 500 ///
300 /,4./' //‘
250 ] a— 400 | ]
E /;/// E a0 |+ | S
- m L /
E 150 1 // g _— L L, —1 )
= 100 ——0kg ] = ] ——0kg
4 —=-0,25kg 100 —=-025kg |
50 - 05kg —05kg
0 \ \ 0 | |
15 20 30 40 50 60 70 80 90 15 20 30 40 50 60 70 80 90
Stroke [mm] Stroke [mm]

afag.com Handling technology HT Components linear 85



86 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 16

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 87



U T W >

60

Dimensions and dimension drawings LM 16
122.5mm 152.5mm 182.5mm
104.5 mm 134.5mm 164.5 mm
30 mm 60 mm 90 mm
M5 M5 M5
min. 16.5 min. 15.5
60 15
T — Hlu
il 1] RS =EE
o IR & & L T ®
- i HE i
13 o
21 24
A H
=]
‘ @ 4H7/3.1 4x M5%8
=/ ROl &
Ne-o/T i @,
w o ] jfi@ ]
- gs &
© N — M8x1
&
EMEDE ! &
05 (Of] Lt
oo
LL« (SD M8x1-2) 7
48+0.015 2x @8 P 16
B
AS 08/25 M6 P @ 9H7/2.1 AS 08/40
|
1 e |
== =)
‘ 1
Handling technology HT Components linear afag.com



Technical data

LM 16

Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 16 mm

Retract piston force 104 N

Extend piston force 121N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 11001864 11001865 11001866
Stroke H 30 mm 60 mm 90 mm
Stroke limitation 20 mm 20 mm 20 mm
Net weight 0.478 kg 0.515 kg 0.554 kg
Moving weight 0.138 kg 0.175kg 0.214 kg
Air consumption/cycle 0.036 NL 0.072 NL 0.108 NL
Noise level 60 dB (A) 60 dB (A) 60 dB (A)
Repeat accuracy +/-0.02 mm +/-0.02 mm +/-0.02 mm
Mounting position - 4 +

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7
*QOptional 2 x 20 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 1x Stop screw AS 08/25

= |x Stop screw AS 08/40

Accessories

= Base plate LM 16 [p. 105]

= Stop L-bar LM 12/LM 16 [p. 105]
(Catalogue HT accessories)

= Shock absorber SD M8x1 -2

= Stop screw AS 08/80

= INI d6.5x44-Sn1.5-PNP-NO-M8x1

Alternative accessories

(Catalogue HT accessories)
= NI d6.5x35-5n1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

89



Preferred combinations

VP 127
VP 120
VS 501
VS 501
VS 501

.3 VP117+VS501

1 VP117+VS501
2,3 VS501

1.2,3 VS 501

1 VP 117
VS 501
VP 106
VP 117
VF 406

VF410
VS 501

1,3 VP 113
1.2 VP 117
1.2 VP 112

1 VP 117
2,3 VS 501

3 VP 117
3 VS 501
1 < direct >
1
1
1
1

N = = s

1,

ww w w w —

< direct >
< direct >
< direct >
< direct >

CS, ES PS
3 3
PEZ, PDZ

PMP, PMP-c

4@1

NN N NN NN NN N DN DN NN N NN DNDNDDND NN NN DNDDNDN NN

3 3
o] & [oh| {[I——_1n
2 2

LM 16

1 VW 305 2
1.3 VP 120 1.2
VP 120
VS 501
VW 305 1.2

VP 112 1
VP 108 2

VP 115 1.2

VW 304 1
< direct > 1

1 VW 305 1

W= = = —a a

Mounting areas

LM, LE HM SA (074
3 1

T H 3]
2 2

PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE

e IS (78
2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

90 Handling technology HT Components linear

afag.com



Module stresses LM 16

LM 16/30 LM 16/60 LM 16/90

Max. static torque Mx 11 Nm 11 Nm 11 Nm
Max. static torque My 18 Nm 18 Nm 18 Nm
Max. static torque Mz 18 Nm 18 Nm 18 Nm
Max. dynamic torque Mx 5Nm 5Nm 5Nm
Max. dynamic torque My 8 Nm 8 Nm 8 Nm
Max. dynamic torque Mz 8 Nm 8 Nm 8 Nm
Effective distance Wx 71 mm 71 mm 71 mm

Maximum payload/type LM 16/30 LM 16/60 LM 16/90
Installation position (horizontal) for mounting side 1 1kg 1kg 0.8 kg
Installation position (horizontal) for mounting side 3 1kg 1kg 0.8kg
Installation position (vertical) for mounting side 1 1kg 1kg 0.8kg
Installation position (vertical) for mounting side 3 1kg 1kg 0.8kg
Assembly sides horizontal: 3 vertical: 1

module mounting 1 D:':H:I 1

Operation time diagrams

Stroke time LM 16 with shock absorber Stroke time LM 16 without shock absorber
600 1000
I I I I
50 |+ 0kg 900 = 4 0kg I
—=05kg L 800 |~ = 05kg —
400 | —a1kg ] 700 {— —+1kg - ——
- — ] . 600 1
g 300 / | g 500 /"/ "
= |/
o 1 R S o 400 L — 4 /
£ 200  ——¢+ | E 20 —
- | 1 =
100 200
100
0 0
15 20 30 40 50 60 70 80 90 15 20 30 40 50 60 70 80 90
Stroke [mm] Stroke [mm]

afag.com Handling technology HT Components linear 91




92 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 20

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 93



Dimensions and dimension drawings LM 20
A 140 mm 200 mm 260 mm 320 mm 380 mm 480 mm
B 129 mm 189 mm 249 mm 309 mm 369 mm 469 mm
C 50 mm 79 mm 109 mm 139 mm 169 mm 219 mm
D 80 mm 110 mm 140 mm 170 mm 200 mm 250 mm
E 1 1 2 2 3 4
F 212 mm 272 mm 332 mm 392 mm 452 mm 552 mm
G 10 mm 24 mm
H 30 mm 60 mm 90 mm 120 mm 150 mm 200 mm
P M5 M5 M5 M5 M5 M5
min.12.5 D min. 10.5
iz - - 6 0, |
P gl P
1& == @% O Inmit - +
E 15—  h Yy 1*;53% N
I= — ki i I i ]
__F L — F‘AL «—i d Hl\ \1‘ JM EB} ;:trff
M6/14 @ 9H7/2.1 h
c 15
H A
6 B 5 SD M14x1-1 P 115
M5x10/14 | @ 9HT7/2.1 =)
?(j / \/‘ . ‘\// /‘H i\ \/ ‘ — ’777 ‘\ ‘ﬁ:::J
oi] | | == e @ s
| ——e= a = . o et
@;7 & S & 5l 240 9HTI2.4 r@j s
] N2 S N2 Ial V6 ) il
bto i / P
E x 4820015 | G E x 4820015 25 XD 12 M6x13 AS 08/40 P20 28
94 Handling technology HT Components linear afag.com



Technical data LM 20
Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 20 mm

Retract piston force 140 N

Extend piston force 172 N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 11001720 11001645 11001646 11001647 11001648 11009043
Stroke H 60 mm 90 mm 120 mm 150 mm 200 mm
Stroke limitation 2x25mm 2 x25mm 2x25mm 2x25mm 2x25mm 2x25mm
Net weight 1.28 kg 1.55 kg 1.82 kg 2.1kg 2.372 kg 2.82kg
Moving weight 0.71 kg 0.84 kg 0.97 kg 1.11 kg 1.23kg 1.44 kg
Air consumption/cycle 0.065 NL 0.125NL 0.19 NL 0.255 NL 0.32 NL 0.43 NL
Noise level 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A)
Repeat accuracy +/-0.01 mm +/-0.01mm +/-0.01mm +/-0.02mm +/-0.02 mm +/-0.02 mm
Number of interim attachments 1 1 1 1 1
Damping travel 15 mm 15 mm 15 mm 15 mm 15 mm
Mounting position 4 o4~ o4 4 4

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Stop screw AS 08/40

= 2x Shock absorber SD M14x1 -1

Accessories

= Base plate LM 20/LM 25 [p. 106]

= 3, Position LM 20 [p. 106]

= |Intermediate stop ZA 20/25 [p. 108]
(Catalogue HT accessories)

= Stop screw AS 08/80

= Stop screw AS 08/25

= NI d6.5x44-Sn1.5-PNP-NO-M8x1

Alternative accessories
(Catalogue HT accessories)
= NI d6.5x35-5n1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

95



Preferred combinations LM 20

1 VP 122 2 1 VP 112 2
1 VP 122 2 1 VP 115 2
1 < direct > 2 1,2 VP 112 2
1 < direct > 2 1 VP 120 2
1 VP 112 2 1 VS 501 2
: B e
2 < direct > 2 1 MERITZ 1.2
3 VP 119 2 1 < direct > 1
1 VP 146 2 ! e 2
" ' I
3 B 2 1 Vss507 1
3 VF 407 2 1 VW 302 2
13 V113 2 3 Ry
13 VP 119 2 1,3 VP 120 1,2
1.2 VP 112 2 1 VP 150 1,2
123 VP146 2 ! B 12
123 VP146 2 1 i 1’
12 VP 146 2 1 VP 115 1,2
3 VP 142 2 1,3 VP 128 1
3 VP 146 2 1,3 <direct> 1
1 < direct > 2 1,3 <direct> 1
1 < direct > 2 1 VP 112 2
1 < direct > 2 1 VP 117 3
1 < direct > 2 1 VP 150 2
1 < direct > 2
1 < direct > 2
1 < direct > 2
Mounting areas
CS, ES PS LM, LE H1M SA 0z
el = L A - T =
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 35, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
s iy marer A I — [ [P 21§
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

96 Handling technology HT Components linear afag.com



Module stresses

LM 20/30 LM 20/60

LM 20

LM 20/90 LM 20/120 LM 20/150 LM 20/200

Max. static torque Mx 11 Nm 11 Nm 11 Nm 11 Nm 11 Nm 11 Nm
Max. static torque My 11 Nm 17 Nm 23 Nm 29 Nm 35Nm 45 Nm
Max. static torque Mz 11 Nm 17 Nm 23 Nm 29 Nm 35Nm 45 Nm
Max. dynamic torque Mx 3 Nm 3 Nm 3 Nm 3 Nm 3 Nm 3 Nm
Max. dynamic torque My 5Nm 8 Nm 10 Nm 13Nm 16 Nm 20 Nm
Max. dynamic torque Mz 5Nm 8 Nm 10 Nm 13Nm 16 Nm 20 Nm
Effective distance Wx 80 mm 110 mm 140 mm 170 mm 200 mm 250 mm

Maximum payload/type

Installation position (horizontal)

LM 20/30 LM 20/60

LM 20/90 LM 20/120 LM 20/150 LM 20/200

for mounting side 1 8kg 7k >k 4k 2k 2k
:crg)s;trariljl’ji:{i]n;;ossii(’;i:g (horizontal) 8kg 7kg 5kg 4kg 3kg 2 kg
Ir:s;cj:;triznsgc;s;tion (vertical) for 8kg 7kg 5 kg 4kg 3kg 2 kg
Assembly sides horizontal: 3 vertical: 1
module mounting 1 D:':H:I 1

3

1

Operation time diagrams

Stroke time LM 20 with shock absorber

350
330
310
290 " a
= 270 = =
£ - A
£ 250 = e 0k 8
g 230 _ / 9 i
= 210 // -2 kg |
190 |4 e
— —x— 6 kg R
170 = m 8kg
150
25 50 100 150 200
Stroke [mm]
afag.com

Handling technology HT Components linear

97



98 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 25

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 99



Dimensions and dimension drawings

LM 25
322.5mm 482.5 mm
309 mm 469 mm
140 mm 220 mm
170 mm 250 mm
2 4
397.5mm 557.5mm
120 mm 200 mm
G1/8" G1/8"
68
2X@OH7/2.1 115

A 202.5mm
B 189 mm
C 80 mm
D 110 mm
E 1
F 277.5mm
H 60 mm
P G1/8"
min. 15.5 D min. 12.5
15 = = 5 12
<
P =] P
1 [ [ B O ——
B Y S & &l i !
i }L::? f’:;:: “4‘7‘ _
\ | .
=g R i o
BN ===
oL =T h T I e
== T T N s e = = T~
Lo 57 FEota—] JTL JT;L —— S T
. H A
F
75 | B 6 SD M14x1-1
‘ M6x14 @ 9H7/21 5
I [m 7 ‘ WFTTH‘ — .
oo w1 —ff]
T
’:$ T ¢ 1 T I
£l o g — 1 g
ERIRCN — &
S e e e = <
L& 1 0 o ——m
A 2 4
@ Jg?\‘lfl’:i’””"Trg&’*"”’ii’!i?"
O \ oo
7 E x 4840015 M5x10/14 2x @16 | | M6x13 AS 08/40 2x @5H7
P
2x @9H7/2.1

4x M5
60

@ 4H7/3.1

M6

100 Handling technology HT Components linear

afag.com



Technical data

Attachment grid
Attachment thread
Operating pressure

Air connection P
Cylinder @

Retract piston force
Extend piston force
Operating temperature
Storage temperature
Humidity

Medium filtered compressed air

Order number

LM 25

48 x 48 mm
M6

6 +/- 2 bar
G1/8 "

25 mm
265N
295N
0-50°C
0-50°C
<90 %
10-40 pm

11011895 11011896 11011897

Stroke H

Stroke limitation

Net weight

Moving weight

Air consumption/cycle
Noise level

Repeat accuracy
Mounting position

60 mm 120 mm 200 mm
2x25 mm 2x25 mm 2x25 mm
1.965 kg 2.821kg 3.944 kg
0.99 kg 1.43kg 2.01kg
0.164 NL 0.33NL 0.55 NL

65 dB (A) 65 dB (A) 65 dB (A)
+/-0.01mm +/-0.02 mm +/-0.02 mm

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Stop screw AS 08/40

= 2x Shock absorber SD M14x1 -1

":" <-:-> «:—»
Accessories Alternative accessories
= Base plate LM 20/LM 25 [p. 106] (Catalogue HT accessories)
= 3, Position LM 25 [p. 107] = NI d6.5x35-Sn1.5-PNP-NO-M8x1

= |ntermediate stop ZA 20/25 [p. 108]

(Catalogue HT accessories)
= INI d6.5x44-5n1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

101



Preferred combinations LM 25

1 < direct > 2 1 VP 115 2
1 < direct > 2 1 < direct > 2
1 VP 112+VS 501 2 1 VP 120 2
2 < direct > 2
3 VP 118 2 1 VS. 501 2
2 < direct > 2 1 < direct > 2
3 VP 119 2 1 < direct > 2
1 VP 146 2 1 VP 117 2,3
3 VF 407 2 1 VP 112 1,2
1,3 VP 113 2 1 < direct > 1
1.3 VP 119 2 1 VW 302 2
1 VW 306 2 1 < direct > 1
1 VS 506 1
? veiTe 2 1 VW 302 2
3 VP 119 2 3 VW 302 1
1,2,3 VP 146 2 1 VS 507 1
1 VW 302 2
1,2,3 VP 146 2 3 N ;
1,2,3 VP 146 2 : S 57 1
3 VP 146 2 1 VW 302 2
1 < direct > 2 3 VW 302 1
1 < direct > 2 1 VP 115 1,2
1 < direct > 2 1 VP 115 1,2
1 < direct > 2 1,3 <direct> 1
1 < direct > 2 1,3 <direct> 1
1 VP 112 2
1 VP 117 3
1 VP 117 3
1 VP 150 2
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 1 ]
2 2 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
AR [ER e s ol s R E [ (T
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

102 Handling technology HT Components linear afag.com



Module stresses LM 25

Type LM 25/60 LM 25/120 LM 25/200
Max. static torque Mx 8Nm 8 Nm 8 Nm
Max. static torque My 20 Nm 35Nm 55Nm
Max. static torque Mz 20 Nm 35Nm 55Nm
Max. dynamic torque Mx 4 Nm 4 Nm 4 Nm
Max. dynamic torque My 9 Nm 16 Nm 25Nm
Max. dynamic torque Mz 9 Nm 16 Nm 25Nm
Effective distance Wx 85 mm 115 mm 145 mm

Qg
N

Maximum payload/type LM 25/60 LM 25/120 LM 25/200

Installation position (horizontal) for mounting side 1 9kg 6 kg 4kg
Installation position (horizontal) for mounting side 3 9kg 6 kg 4kg
Installation position (vertical) for mounting side 1 9kg 6 kg 4kg
Installation position (vertical) for mounting side 3 9kg 6 kg 4kg
Assembly sides horizontal: 3 vertical: 1

module mounting 1 D:':H:I 1

—_
w

Operation time diagrams

Stroke time LM 25 with shock absorber

500 T

450 I e 0kg

400 | —=4kg

350 [ —*6kg e
_ 300 + 9% =
£ 250 2 -
g 200 ] —
£ 150 —r //

100 [ —

50

0

2% 50 100 150 200

Stroke [mm]

afag.com Handling technology HT Components linear 103



104 Handling technology HT Components linear afag.com



O afag

Linear modules LM
LM 32

= Super robust
= Optional intermediate stops
= Tried, tested and frequently copied

afag.com Handling technology HT Components linear 105



Dimensions and dimension drawings LM 32
A 360 mm 560 mm 760 mm 960 mm
B 226 mm 326 mm 426 mm 526 mm
D 140 mm 240 mm 340 mm 440 mm
E 2 4 6 8
F 365 mm 565 mm 765 mm 965 mm
H 100 mm 200 mm 300 mm 400 mm
P G1/8" G1/8" G1/8" G1/8"
min.16
15 B min.16
10 B-20 ‘ 15 o P
\ >
- - & =
— = S 1 o B = = “ gD
| D e | N E L i =2
| ] 4 @ *@E@
R T = HoE
- o o ® 2 [ e
S el a ] 1 i BOs
L % i ]l il 11 o
~l75 M6x12 |13 Méx17 | 20| 2x620 75 480015
65 Ex 48:0,015‘ @ 9H7/2.1 60
H A (66)
© 7 SDM14x1-1 P o P AS 12/60
s s &
SelgE=rtd FY el
5 ‘1'5 \j tJ ¢ @
L 9 Ty v A
1 e e ®—  EE
S 10| |18
S
2 43 D
F
106 Handling technology HT Components linear afag.com



Technical data

LM 32

Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/- 2 bar

Air connection P G1/8"

Cylinder @ 32 mm

Retract piston force 295N

Extend piston force 295N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 11001558 11001559 11001561 11001562

Stroke H 100 mm 200 mm 300 mm 400 mm

Stroke limitation 2 x40 mm 2 x40 mm 2 x40 mm 2 x40 mm

Net weight 4kg 5.4 kg 6.6 kg 7.9kg

Moving weight 1.81kg 2.29kg 2.79kg 3.28 kg

Air consumption/cycle 0.4 NL 0.8 NL 1.2 NL 1.6 NL

Noise level 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A)

Repeat accuracy +/-0.01mm +/-0.01mm +/-0.02mm +/-0.02 mm
& & & &

Mounting position

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Stop screw AS 12/60

= 2x Shock absorber SD M14x1 -1

Accessories

(Catalogue HT accessories)
= INI d6.5x44-5n1.5-PNP-NO-M8x1

¥

¥

Alternative accessories

12

12

(Catalogue HT accessories)
= NI d6.5x35-Sn1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

107



Preferred combinations

1,3 VP 118
2 < direct >

2

2
1 VP 146 2
3 VF 407 2
1,3 VP 119 2
1 VW 306 2
1 VP 119* 2
1 VW 306 2
3 VP 118 2
3 VP 118 2
2,3 VP 146 2
VP 146 2
1 < direct > 2
1 < direct > 2
1 <direct > 2

* Not for LM 32/100

Mounting areas
CS, ES PS LM, LE HM

3 3 3 1

2

PMP, PMP-c PEZ, PDZ PEL, PDL
3 3 3
al L) o] "2 [oh| I 1In

2 2 2 2

CR, RM 32, RE, SREH

[ s

P SN G N UGN N NP G i G U\ NPUEE S TN U G N

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

108 Handling technology HT Components linear

VP 112
VP 145
< direct >
< direct >
VP 117
< direct >
< direct >
< direct >

< direct >
VP 117

< direct >
VW 302

< direct >
< direct >
VP 115
VP 115
VP 130

< direct >
VP 131

VP 117

LM 32

UG, GM, SG, DG, PG, GE

217
3

afag.com



Module stresses LM 32

Type LM 32/100 LM 32/200 LM 32/300 LM 32/400
Max. static torque Mx 12 Nm 12 Nm 12 Nm 12 Nm
Max. static torque My 95 Nm 127 Nm 158 Nm 190 Nm
Max. static torque Mz 95 Nm 127 Nm 158 Nm 190 Nm
Max. dynamic torque Mx 5Nm 5Nm 5Nm 5Nm
Max. dynamic torque My 43 Nm 57 Nm 71 Nm 85 Nm
Max. dynamic torque Mz 43 Nm 57 Nm 71 Nm 85 Nm
Effective distance Wx 311 mm 411 mm 511 mm 611 mm

X@ Mx

Maximum payload/type LM 32/100 LM 32/200 LM 32/300 LM 32/400
Installation position (horizontal) for mounting side 1 10 kg 9kg 7 kg 5kg
Installation position (horizontal) for mounting side 3 10 kg 9kg 7 kg 5kg
Installation position (vertical) for mounting side 1 10 kg 9kg 7 kg 5kg
Installation position (vertical) for mounting side 3 10 kg 9kg 7 kg 5kg
Assembly sides horizontal: 3 vertical: 1

module mounting 1 D:':H:I 1

3
1
Operation time diagrams

Stroke time LM 32 with shock absorber

650 : :
600 - —e 6kg —+ 10kg
550 |- = 8kg — 1
500 ——

= 450 —] T

£ A ]

= 400 —

£ om0 —] 4k

= —h—
300 ——— — g
250 — —-0kg —
200 ‘

100 150 200 250 300 350 400

Stroke [mm]

afag.com Handling technology HT Components linear 109



Accessories LM

Base plate LM 12 LM 12/30 LM 12/60 LM 12/90
Order number 11010371 11010372 11010373
Net weight 0.1kg 0.13 kg 0.16 kg
A 117 mm 147 mm 177 mm
B 112 mm 142 mm 172 mm
C 106 mm 136 mm 166 mm
+0.007
D4 5000 w4
© [l ] © -
H K §
© q 1
C
B
A

LM 12/30/ LM 12/60/ LM 12/90 /
coBlE R S LM 16/30 LM 16/60 LM 16/90
Order number 11001880 11001884 11001887
Net weight 0.08 kg 0.1 kg 0.12 kg
A 117 mm 147 mm 177 mm
12
45 A

20
14

M8x1 : =
] v o) k [

24E JH.M J_Lﬁ

5
45

Base plate LM 16 LM 16/30 LM 16/60 LM 16/90
Order number 11001437 11001442 11001445
Net weight 0.21 kg 0.28 kg 0.32 kg

A 122.5mm 152.5 mm 182.5mm
B 104.5 mm 134.5 mm 164.5 mm

@ 9h6

10
2

110 Handling technology HT Components linear

afag.com



Accessories LM

3. Position LM 20

Order number 11001623 “

Net weight 0.45 kg
A 24 mm
B extended
C retracted

AS 08/40 3. Pos

40

70

LM 20
LM 32

SD 14/16

x I

7 L 49 |

Note: Requirement: Module combination LM 32 with LM 20

Purpose: Various removal and application heights can be covered between the retracted and extended states.
Stroke difference grading: Standard = 10 mm

1 additional plate = +10 mm

Max. 3 additional plates possible

*LM 20/30 = 14 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 1x Stop carrier

= 1x Contact plate

= 1x Intermediate contact plate

= 1x Shock absorber SD M14x1 -1
= 1x Stop screw AS 08/40

Intermediate contact plate

Order number 11001613
Net weight 0.137kg

LM 20/60 / LM 20/120 / LM 20/200 /
Base plate LM 20 / LM 25 LM 20/30 LM 25/60 LM 20/90 LM 25/120 LM 20/150 LM 25/200
Order number 11001619 11001624 11001626 11001628 11001630 11009423
Net weight 0.25 kg 0.35kg 0.44 kg 0.54 kg 0.64 kg 0.85 kg
A 140.8 mm 200.8 mm 260.8 mm 320.8 mm 380.8 mm 480.8 mm
B 129 mm 189 mm 249 mm 309 mm 369 mm 469 mm

afag.com Handling technology HT Components linear 111



Accessories LM

Order number 11013401
Net weight 0.45kg
A 40 mm

3.Pos

AS 08/80

AS 08/80 LM25 i

AS 08/80
) il M32 1 ‘ ‘
/ —

<1 o
R

== | m -

10

SD M14x1-1

om

O,
%
9

=
&
A
A+

Note: Requirement: Module combination LM 32 with LM 25

Purpose: Various removal and application heights can be covered between the retracted and extended states.
Stroke difference grading: Standard = 10 mm

1 additional plate = +10 mm

Max. 3 additional plates possible

Inlcuded in the delivery
(Catalogue HT accessories)
= 1x Stop carrier

= 1x Contact plate

= 1x Intermediate contact plate

= 1x Shock absorber SD M14x1 -1
= 1x Stop screw AS 08/40

112 Handling technology HT Components linear afag.com



Accessories LM

Order number 11011366
Net weight 0.3kg
Weight, stop 0.03 kg

Air consumption/stroke 0.01 NL
Repeat accuracy +/-0.02 mm

A

B
C
D

m

10.5 69.5

C x
Al B % | ]
SD M14x1-1 E ‘ \n ‘
RN ot VR o T O
i ©
=————-1I e
— | '
M~ T
e
@ 9h6 _| | |_M5
114
80
\ |
@I O® .
— ] g«
[=
- —— &
= & &
19 32
E
42
. Proximity switches
The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Inlcuded in the delivery Accessories

(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 1x Mounting screw M5x12

= 2x Mounting screw M5x16

= 1x Stop screw ZA20/25

= 1x Shock absorber SD M14x1 -1

afag.com

ZA retracted (front)”

ZA extended (rear)
Shock absorber damped
Stop screw

Proximity switch (left or right)
depending on SD installation

M5

.

59

&

A

g |
12
T

= [
 ——

@9h8u N

=

Q

D
o e

EZ;E?%
.\JF%F% S8
}

2
54 S
>
60 =

= Base plate ZA LM 20/LM 25 [p. ]
= INI d6.5x44-Sn1.5-PNP-NO-M8x1 [p. ]

Handling technology HT Components linear

113



Assembly example ZA 20/25

The intermediate stop can be installed acting forwards as well as backwards on the base plate ZA due to the symmetrical
structure. Depending on how the base plate is installed, the intermediate stop can be fitted to the right or the left of the
module. The head side of the stop screw is always oriented against the shock absorber. The base plate ZA and the stop
serve for continuous intermediate position adjustment. The stop screw is fitted in the bore on the module slide and the
intermediate stop is screwed into the desired position on the base plate.

With the intermediate stop, you can limit the extension or retraction stroke with an intermediate position.

ZA extended (rear)
Position SD

ZA retracted (front)
Base plate

Stop screw

A
B
C
D
E
F

Intermediate stop

|
1=
122

~110

i
I 1]
A
444ﬁ444
|
|
o
Tf
%ﬁ;%ﬁ
thE
ﬂ:’LL
Tl
L]
i
92

ZA 20125 - LM 20

| @ ©
w

&
M6x0.75

ZA20/25 - LM 25
[ &_© © © © cireosesd—
E=== f Ee=HoE— B 6 ——

M

Ji
=
|
i
|
|
|
78

73

M6x0.75
3

56.6
@
m,

[T ITIT1T
\

@

475

57

114 Handling technology HT Components linear afag.com



Accessories LM

LM 20/60 LM 20/120 LM 20/200
Base plate ZA LM 20 / LM 25 LM 25/60 LM 20/90 LM 25/120 LM 20/150 LM 25/200
Order number 11011031 11011033 11011033 11011034 11011035
Net weight 0.34 kg 0.43 kg 0.53kg 0.63 kg 0.84 kg
Number of interim attachments 1 1 1 1 1
A 200.8 mm 260.8 mm 320.8 mm 380.8 mm 480.8 mm
B 189 mm 249 mm 309 mm 369 mm 469 mm
C 25.4 mm 40.4 mm 55.4 mm 70.4 mm 90.4 mm
D 5 6 7 8 10

Dx30
10 C 30 0015
‘T—ri — — _‘

60
48 0015

r
‘*7
M6
@ 9h6

59 B

M5 x 11/15
@ 9H7/2.1

Note: No ZA is provided for the LM 20/30

afag.com Handling technology HT Components linear 115



Accessories LM

Order number 11009325

Net weight 0.574 kg

A ZA retracted (bottom)”
B ZA extended (top)”

C Shock absorber damped
H 15 mm

P M5

. Proximity switches

86

42.5

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Note: A back or front stop rod, depending on the place of installation, must also be ordered.

*Proximity switch (optional)

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Mounting screw M6x45

= 1x Shock absorber SD M14x1 -1
= 2x Clamping nut M8x0.75

Accessories

= Back stop rod ZA 32 [p. 114]

= Front stop rod ZA 32 [p. 113]

= Narrow safety cover ZA 32 [p. 114]
= Wide safety cover ZA 32 [p. 113]
(Catalogue HT accessories)

= NI d6.5x44-Sn1.5-PNP-NO-M8x1

116 Handling technology HT Components linear afag.com



Assembly example ZA 32

Should the ZA 32 be mounted up front to the LM 32 no extra safety cover is required. Mounted in the back depending on n
either one or both sides a «narrow» or «wide» cover is necessary. The covers have to be ordered seperately.

The stop rods are needed for a continuous adjustability of the intermediate positions. It is recommended to always use the

shortest possible stop rod.

Type ZA 32/125 ZA 32/200 ZA 32/275
A 125 mm 200 mm 275 mm

pd

84

afag.com Handling technology HT Components linear 117



Accessories LM

Front stop rod ZA 32 ZA 32/125 ZA 32/200 ZA 32/275
Order number 11010462 11010463 11010464
Net weight 0.139kg 0.185kg 0.23 kg
LM 32/100
Sutablefor 32200 2000 (327300
LM 32/300 LM 32/400 LM 32/400
LM 32/400
A 125 mm 200 mm 275 mm
B 95 mm 95 mm 95 mm
SW 13 mm 13 mm 13 mm
8
24
Inlcuded in the delivery
(Catalogue HT accessories)
= 2 Mounting screw M6x25
= 1x Nut M10x1 for ZA 32
Wide safety cover ZA 32 ZA 32/100 ZA 32/200 ZA 32/300 ZA 32/400
Order number 11010473 11010472 11010471 11010470
Net weight 0.82 kg 0.63 kg 0.445 kg 0.26 kg
Suitable for LM 32/100 LM 32/200 LM 32/300 LM 32/400
A 139 mm 239 mm 339 mm 439 mm
B 89 mm 89 mm 89 mm 89 mm
C 148 mm 148 mm 148 mm 148 mm
o
A N c ﬂ
118 Handling technology HT Components linear afag.com



Accessories LM

Back stop rod ZA 32 ZA 32/125 ZA 32/200 ZA 32/275
Order number 11009326 11009327 11009328
Net weight 0.15kg 0.196 kg 0.241 kg
LM 32/100
LM 32/300 LM 32/400 LM 32/400
LM 32/400
125 mm 200 mm 275 mm
B 95 mm 95 mm 95 mm
SW 13 mm 13 mm 13 mm

Inlcuded in the delivery
(Catalogue HT accessories)
= 2 Mounting screw M6x25

= 1x Nut M10x1 for ZA 32

Narrow safety cover ZA 32 ZA 32/100 ZA 32/200 ZA32/300 ZA 32/400

Order number 11010466 11010467 11010468 11010469
Net weight 0.22 kg 0.375kg 0.53kg 0.69 kg
Suitable for LM 32/100 LM 32/200 LM 32/300 LM 32/400
A 139 mm 239 mm 339 mm 439 mm

B 89 mm 89 mm 89 mm 89 mm

C 108 mm 108 mm 108 mm 108 mm

| | | | |
T T T T T

[

afag.com Handling technology HT Components linear

119



O afag

Lifting modules HM
HM 10 - HM 25

120 Handling technology HT Components linear afag.com



Table of contents: HM

Lifting modules HM Page

HM 10
HM 16
HM 25

afag.com Handling technology HT Components linear 121



122 Handling technology HT Components linear afag.com



O afag

Lifting modules HM
HM 10

N
N
N
N
N

Vo

= Torsion-resistant
= Short build
= Simple table installation

afag.com Handling technology HT Components linear 123



75

Dimensions and dimension drawings

HM 10/10

30 +0.015 s
@ P
- Y 0
© £
8 O .e.
fp = -
. T o -
© r R <=
© s E BTHIN6 BTHTA6
P 8] 205 9 17 _ 15 Maxg Maxg 20
Y ‘ ° o
o
p
P . L A :
nj o ! . T & ' .
I . | . :
S 8
) . . . .
i o i B o EOIRIREC
(1 o 8 g = . 8
© [ ] ~ L * ~
I I *
Mdx12 12 30 +0.015 30 +0.015 12
54 54
©
=
I
s
A 2
8
30 0015 T
“
[ £
1 w©
o @ TH6 GTHIE
I =
g 18 05 | |4 M4x8 195
o ‘ ‘ ° © ‘
o
= P
: L .
@ (€ O | @
3 H H
8 # o~ S
< =] - 8
g &
= i =l
| |
12 30 20,015 30 20,015 12
! 54 54

HM 10/25

3 Bores can be screwed through

15 +0.015

30 +0015

124 Handling technology HT Components linear

HM 10

afag.com



Technical data

Attachment grid
Attachment thread
Operating pressure

Air connection P
Cylinder @

Retract piston force
Extend piston force
Operating temperature
Storage temperature
Humidity

Medium filtered compressed air

Order number

HM 10

30 x30 mm
M4

6 +/- 2 bar
M3

10 mm
35N
47N
0-50°C
0-50°C
<90 %
10-40 pm

50287740 50287741

Stroke H

Net weight

Max. payload

Air consumption/cycle
Noise level

Repeat accuracy

Load balance (LA)
Mounting position

10 mm 25 mm
0.519 kg 0.638 kg
1.2 kg 0.9kg

0.007 NL 0.016 NL
<65dB(A) <65dB(A)
+/-0.01mm +/-0.01 mm

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Note: The load balance supports the extension stroke and damps the retraction stroke.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)

= 2x Centering bushing @7x3

= 2x Mounting screw M4x8

= 2x Mounting screw M4x12

= 2x Washer M4

= 1x Shock absorber SD M6x0.5 -3
= 1x Stop sleeve ASH M8x1 -1

10N 88N
<-*-> <-'->
[ [
Accessories Alternative accessories
(Catalogue HT accessories) (Catalogue HT accessories)

= Compressed air connection angled M3 x 0.5 = INI c10x28.5-Em-PNP-NO-M8x 1
= Compressed air connection straight M3 x 0.5

= NI c10x19.5-Em-PNP-NO-M8x1

= NI c10x9-Em-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

125



Preferred combinations

< direct >
< direct >
3 VP 112

VP 137
< direct >
3 VP 137
1

VP 137
VP 112
VP 127

< direct >

N —
w N

w w

NN

P J RN N

< direct >
VP 117

< direct >
1,3 VP113
< direct >
VP 117
VP 112

< direct >
VP 146

< direct >
VP 119

direct

VP 137
2,3 VP 113

VP 139
VP 113
VP 119

< direct >
1 VP 117
1 < direct >

- w ww ww

w wWwN =

1 < direct >
1 VP 117
1 VP 117

PMP, PMP-c PEZ, PDZ

3

Win NN

wNw wN

2,3
2
3

2

LA)NUUI\)LA)I\)NNNS

N
w

NN
SN w
w W

NN N
wow w N

2,3
2,3

3
g o samtel}
2

*  Offset mounting
** VS not included

Mounting areas

PEL, PDL

3
I —

2

HM
1
o[l
2
CR, RM 32, RE, SREH

IEIE
2

[%

'I‘k

SA

RM, RE

1

P
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

126 Handling technology HT Components linear

< direct >

VP 117 +
VS 501**

< direct >
< direct >
VP 117
VW 302
VW 303

< direct >
VP 111

VP 150

VP 139

VP 107
< direct >
VP 109

VP 110

VP 147

VP 107

<direct >
VP 150

HM 10

UG, GM, SG, DG, PG, GE

2[4
3

afag.com



Module stresses

Max.
Max.
Max.
Max.
Max.

static torque Mx
static torque My
static torque Mz
effective force Fy
effective force Fz

Effective distance Wx

Stroke times HM 10/10 extend vertically

60
55
50

45

40
35
30
25
20
15
10

Time [ms]

—  200g

I 5009 ———
12009 —-—--

Stroke [mm]

afag.com

10

11 Nm
7 Nm
7 Nm
180N
180N
38 mm

Mz

Stroke times HM 10/25 extend vertically

80
75
70

Fz

HM 10

14 Nm
7 Nm
7 Nm
150N
150N
45 mm

65 —

60
55
50
45
40
35
30

Time [ms]

—  200¢
- 5009 ——— —
900g — - — - o
./'// —_
— —
- //
- -
e —_—
-
-
v

8 10 12 14 16 18 20
Stroke [mm]

24 26

Handling technology HT Components linear

127



128 Handling technology HT Components linear afag.com



O afag

Lifting modules HM
HM 16

= Torsion-resistant
= Short build
= Simple table installation

afag.com Handling technology HT Components linear 129



Dimensions and dimension drawings HM 16

48 £0015

s
[¢] .
©
o bt
% d GOHTI2.4 D OHTI2.4
P 9| 32 Sz
S| 19 M6x8 M6x8| | 19
o ° °
P L]
o @ g o
< ) Q : * E
1 e ¥
(T © @ ©®
3 w0 =3 o w
wl | w N © ol &
~ [ S 8
o ; | |
30 0,015 10 48 +0015 48 +0015 10
@THTN .6 | _M4x12 o 68 68
—
o~
g {
E 3
8 2
HM16/16 &
Ed
Q| 24 +0015|
05 48 0015
48 0015 6{7‘
g 2
g
S BOHTI2.4 POHTI2.1
N
P g 19 M6x8 M6x8 19
o ° o

@

123

48
© p

=4

48 x0.015

48
©

48 0015

2
Hk® .
'y == NI S 5 s s
o [ ] ‘
o I : .
1
30 £0015 10 48 +0.015 48 10015 0
68
PTHTI.6 Mdx12 - 68
o o
& Q
5 E
@ 2
HM 16/40 &
>
B

3 Bores can be screwed through

130 Handling technology HT Components linear afag.com



Technical data HM 16

Attachment grid 30x 30 mm

Attachment grid alternative 48 x 48 mm

Attachment thread M4

Attachment thread alternative M6

Operating pressure 6 +/- 2 bar

Air connection P M5

Cylinder @ 16 mm

Retract piston force 103 N

Extend piston force 120N

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Medium filtered compressed air 10-40 ym

Order number 50287742 50287743
Stroke H 16 mm 40 mm
Net weight 1.208 kg 1.321kg
Max. payload 4kg 3kg

Air consumption/cycle 0.028 NL 0.069 NL
Noise level <65dB(A) <65dB(A)
Repeat accuracy +/-0.01 mm +/-0.01 mm
Load balance (LA) 30N 25N
Mounting position 4 +

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Note: The load balance supports the extension stroke and damps the retraction stroke.
The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery Accessories

(Catalogue HT accessories) (Catalogue HT accessories)
= 2x Centering bushing @9x4 = |NI c10x19.5-Em-PNP-NO-M8x1
= 2x Mounting screw M6x16 = NI ¢10x9-Em-PNP-NO-M8x1

= 2x Washer M6 = NI c10x28.5-Em-PNP-NO-M8x1

= 1x Stop sleeve ASH M10x1 -2
= 1x Shock absorber SD M8x1 -5

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 131



Preferred combinations

3 VP 117
3 < direct >
3 < direct >
1 < direct >
1

VP 127
2,3 <direct>
2 < direct >
3 VP 146

1,3 VP 146
< direct >
< direct >

2

3

1 < direct >
1 < direct >
1 VP 146

3 VP 117

1,3 VP 113

< direct >
VP 146

< direct >
VP 146

< direct >
VP 119

< direct >
VP 119

direct

w w ww ww ww — w

direct

< direct >
VP 113

< direct >
VP 119

< direct >

N N

N N N N N N N SRR VSRV R
w w

< direct >
< direct >
< direct >
< direct >
< direct >
< direct >
< direct >

CS, ES PS
3 3

PMP, PMP-c PEZ, PDZ

3

2,3

~$NWNLAJI\JNI\JLAJNUJNLUNUJN

NNN NN
w w w w w w

3
s[T)1 ook

2

* Offset mounting

Mounting areas

LM, LE

3
3
2

PEL, PDL

I

2

HM
1
ofl
2
CR, RM 32, RE, SREH

1Bﬂ3
2

RM, RE

1

b
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

132 Handling technology HT Components linear

<direct >

< direct >

<direct >
VS 501
VP 146
VP 137

< direct >
VP 117

<direct >
< direct >
< direct >
< direct >
VW 302

VS 507
VW 303*

VS 507
VW 303*

< direct >
VP 112

VP 150
< direct >
VP 110
< direct >
< direct >
<direct >
VP 137
VP 137
VP 148
< direct >
VP 150

HM 16

WN NN NN NN

N
— -
w

UG, GM, SG, DG, PG, GE

2[1H
3

afag.com



Module stresses HM 16

Type HM 16/16 HM 16/40
Max. static torque Mx 30 Nm 30 Nm
Max. static torque My 20 Nm 22 Nm
Max. static torque Mz 20 Nm 22 Nm
Max. effective force Fy 380N 420N
Max. effective force Fz 380N 420N
Effective distance Wx 51.5mm 51 mm

Operation time diagrams

Stroke times HM 16/16 extend vertically Stroke times HM 16/40 extend vertically

100 130

90 | 500¢g § 120 — 5009 —

20009 — — — - 1o | 18009 ——— =
80 |— 40009 —-—-- —— 30009 —-—-- =
— 100 — —

70 .- -
= - - 90 = -
g 60 — — £ - -
- Pl - o 80 ——

40 ———= 60 —

_
30 — 50
20 ‘ ‘ ‘ ‘ T T T 40 T T T T
0 2 4 6 8 10 12 14 16 15 20 25 30 35 40

Stroke [mm] Stroke [mm]

afag.com Handling technology HT Components linear 133



134 Handling technology HT Components linear afag.com



O afag

Lifting modules HM
HM 25

= Torsion-resistant
= Short build
= Simple table installation

afag.com Handling technology HT Components linear 135



Dimensions and dimension drawings HM 25

65

48 +0.015 )5{\9

£ = 3
8l s
2 5 ©
B
3 adhs S
p 65 37 gz BYHTI2.1 P9HTI2.1
- B
22.5 M6x8 M6x8 225
S [ - [
=%r/77
© o | ® g
S e < e
o ||le® o | @] «@
10 o v o«
[ ]
ha I I
18.5| 48 s0.015 48 10015 _|18.5
85 85
™
=
24 10015
0.5 48 +0.015
65
48 +0015 S5
| |
g © 3
8 = =
2
o % @
pd © |3 S
od w7 | S| E BOHTI21 BOHTI2.1
P - B
22.5 M6x8 M6x8 225
= [ [
U P
— I~ ole)
®
I LA ol B4—
< @) - © \% § 3 é
© ©
(@]
D @
0 w©
(@] 0 % ) (] %
o s A A I = ¥ i
~ I \* I I \'
18.5] 48 0015 48 +0015 _[18.5
BYHTI2.1 -
‘H‘ b 85 85
]
=i
@
@ & E
HM 25/64 o] % =
S
24 +0015
0.5 | 48 +0.015

3 Bores can be screwed through

136 Handling technology HT Components linear afag.com



Technical data

Attachment grid
Attachment thread
Operating pressure

Air connection P
Cylinder @

Retract piston force
Extend piston force
Operating temperature
Storage temperature
Humidity

Medium filtered compressed air

Order number

HM 25

48 x 48 mm
M6

6 +/- 2 bar
G1/8"
25 mm
247 N
295N
0-50°C
0-50°C
<90 %
10-40 pm

50287744 50287745

Stroke H

Net weight

Max. payload

Air consumption/cycle
Noise level

Repeat accuracy

Load balance (LA)
Mounting position

25 mm 64 mm
2.168 kg 2.661 kg
10 kg 9kg

0.104 NL 0.266 NL
<65dB(A) <65dB(A)
+/-0.01mm +/-0.01 mm

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Note: The load balance supports the extension stroke and damps the retraction stroke.

The module can be operated with lubricated or dry air.

Cleanroom class ISO 14644-1, class I1SO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4

= 2x Mounting screw M6x16

= 2x Stop sleeve ASH M16x1 -1

= 2x Washer M6

= 2x Shock absorber SD M12x1 -1

70N 70N
«:—» «:—»
Accessories Alternative accessories
(Catalogue HT accessories) (Catalogue HT accessories)
= NI c10x9-Em-PNP-NO-M8x1 = INI c10x19.5-Em-PNP-NO-M8x1

= INI c10x28.5-Em-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

137



Preferred combinations

3 VP 119
3 VP 142
1 VP 146 3
3 VP 146 2,3
2 <direct> 2,3
1 < direct > 3
1,3 VP 119 2,3
3 VP 142 2
1 VP 146 3
3 VP 119 2,3
3 VP 119 2,3
3 VP 119 2,3
3 VP 119 2,3
3 VP 146 2
3 VP 146 2
1 VP 146 3*
2,3 VP 119 2,3
1 VP 146 3*
2 VP 119 2,3
3 VP 142 2,3
1 <direct> 2,3
1 <direct> 2,3
1 <direct> 2,3
CS, ES PS LM, LE
3 3 3
2 2 2
PMP, PMP-c PEZ, PDZ PEL, PDL
3 3 3
=l e Ton | T
2 2 2

* Offset mounting

Mounting areas

3

CR, RM 32, RE, SREH

BE
2

1

SA

VP 112
<direct >
VP 142
VP 146
VP 146
VP 146
VP 146
< direct >
< direct >

< direct >
VP 146

< direct >
< direct >
VP 146

VS 507
VW 302

VS 507
VW 302

VP 146
VP 112
< direct >
VP 146
VP 146
VP 146
VP 148
VP 112

[%z

RM, RE

1 @’3

2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

138 Handling technology HT Components linear

HM 25
1
2
2
2
2
2
2
2
2
2
2
3
1
1
1
1
2
1
2
1,2
2
2
3
3
2,3
1
1
oz
=)

2

UG, GM, SG, DG, PG, GE

2[1H
3

afag.com



Module stresses HM 25
Type HM 25/25 HM 25/64
Max. static torque Mx 50 Nm 56 Nm
Max. static torque My 25Nm 27 Nm
Max. static torque Mz 25Nm 27 Nm
Max. effective force Fy 410N 400 N
Max. effective force Fz 410N 400N
Effective distance Wx 60 mm 66.5 mm
Operation time diagrams
Stroke times HM 25/25 extend vertically Stroke times HM 25/64 extend vertically
150 250
1000 g 1000 g )
130 50009 — — — - z 50009 — — — Pt
100009 — - — - T 200 — 90009 —-—-- =
110 = o -
R e —— Z 150 — — -
(3] K ° - © .- _ _—
E 0= = E -
- 100 -—
50 ——
30 \ ‘ ‘ ‘ 50 T T T T T T T T ‘ ‘ ‘
0 5 10 15 20 25 16 20 24 28 32 36 40 44 48 52 56 60 64
Stroke [mm] Stroke [mm]
afag.com Handling technology HT Components linear

139



O afag

Gantry modules pneumatic PMP
PMP & PMP-c




Table of contents: PMP & PMP-c

Gantry modules pneumatic PMP & PMP-c Page

Accessories PMP & PMP-c 157 ﬂ

afag.com Handling technology HT Components linear 141



142 Handling technology HT Components linear afag.com



O afag

Gantry modules pneumatic PMP
PMP

= Millimetre-accurate strokes

= Rigid construction

= Self-supporting profile

= |ntermediate stop for any number of positions

afag.com Handling technology HT Components linear 143



Dimensions and dimension drawings PMP

Mounting protrusion 1 Mounting protrusion 1
Mounting protrusion 2 Mounting protrusion 2

A
B
C
D Proximity switch bracket
E
F
G

End stop
P1 G1/8 " G1/8 "
P2 M5 M5

14420015
4810015

G9H7/2.1

118
M6 2l SD M14x1-1

-6
I 06

I ] [TT]
= — | %*J'D —F &%@

Q—ifi?j'é

‘g E
/.

118
119

{3

48:0.015

LF =Hub + 180mm

L1=Hub +220mm
A L =Hub +260mm B
L2 =Hub +260mm+A+8 4

48:0015

AS12/60
=== Bansi== =

= e =
= By

=18

20

PMP 01 L |[gonna
Fix end stop M_SJ

[t:) 1440015
160

PIHTI21

1605
M6
P1 NI SD M14x1-1 118
@) ‘ . ‘ ‘ (@) (®}
i

118
119

4840015
14410015

P2

LF = Hub + 180mm
L1=Hub +220mm
A L = Hub + 260mm B

L2 =Hub + 260mm + A +B 4

Ay

O
4810015
o

— G A ———
; e .
= SRR | =
it 4
PMP 02 ] T BIHT 2.1
Adjustable end stop |48:001
plus 1 intermediate stop o tadaos
160

144 Handling technology HT Components linear afag.com



Technical data

PMP

Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/-2 bar

Air connection P M5/G1/8"

Cylinder @ 25 mm

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Order number 11000105 11000106
Max. stroke 3000 mm 3000 mm
Net weight 6 kg 9.1kg
Moving weight 1.87 kg 2.33kg
Weight/100 mm stroke 1.11kg 1.11kg
Module weight, 0 mm stroke 6 kg 6 kg

Max. payload “15 kg “15 kg

Air consumption/100 mm stroke 0.25NL 0.25NL
Piston force 250N 250N
Repeat accuracy +/-0.1mm  +/-0.1 mm
Max. profile length 6000 mm 6000 mm

Mounting position

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.

Note: Also included in the PMP 02 scope of delivery:

1 x stop slide PMP
2 x end stops PMP
1 x intermediate stop PMP

*QObserve operation time diagram
**0 mm stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Shock absorber SD M14x1 -1
m 2x Stop screw AS 12/60

Accessories

= Stop slide PMP [p. 153]

= Safety brake PMP [p. 153]

= |Intermediate stop PMP [p. 154]

= Fine adjustment PMP [p. 154]

= End stop PMP [p. 154]

= Proximity switch bracket PMP [p. 154]
= Cover cap 40 x 40 [p. 155]

= Cover cap 40 x 80 [p. 155]

= Angle profile PMP [p. 155]

= | ubricator adapter PMP [p. 155]
(Catalogue HT accessories)

= T-nut M8

= NI d6.5x44-Sn1.5-PNP-NO-M8x1

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

145



Preferred combinations PMP

1,3*  VP133 2,4 1,3  <direct> 2
1 VS 504 2 1,3 VP 145 2
1,3 VP 119 2

1,3 VP 119 2

1,3 VP 119 2

1,3 VP 119 3

1,3 <direct> 2

1,3 <direct> 2

1,3 VP 119 2,3

1.3 VS 507 1
1,3 VP 119 2

1.3 VP 119 1.2

1,3* VP 135 2,4
1,3** VP 136 1,3

1,3*  VP133 2,4
1,3 <direct> 2

1,3 VP 119
*  Area gantry version 13 VP 119
** Cross construction slide-slide !
(Please observe the load on the 1,3 VP 136 2,3
guide)

1.3 VP 148 1

Mounting areas

CS, ES PS LM, LE HM SA 0z
3 3 3 ! 1
1

—1] ] i) N 2] = T
2 2 2 7

PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3

4[] o) i s on (R s 1[4 [ [T

2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

146 Handling technology HT Components linear afag.com



Module stresses PMP

Max. static torque Mx 380 Nm 380 Nm
Max. static torque My 380 Nm 380 Nm
Max. static torque Mz 650 Nm 650 Nm
Max. dynamic torque Mx 26.5Nm 26.5Nm
Max. dynamic torque My 26.5Nm 26.5Nm
Max. dynamic torque Mz 40 Nm 40 Nm
Effective distance Wy 40 mm 40 mm
Effective distance Wz 40 mm 40 mm

Angle profile deflection, load case static Angle profile deflection, load case static
0.00 — L
-0.10 So=
-0.20 SR YL
-0.30 el
g -0.40 SO
£ . AN
& 080 Load F= 50 [N] RN F
S -0.60 — Load F= 100 [N] <
T .070 | Load F= 150 [N] AN
2 — — . Load F=200[N] N\ N
2 -080 — Load F= 250 N] i M
-0.90 I ———- Load F=300([N] N M —
o L N WY
o ©O O O O O O O O O O O O o o o
o O O O O O O O O O O O O O o
N < © 0 O N & © 0 O N ¥ © 0 O
vvvvv N N N N N ™
Profile length L [mm]
Angle profile deflection, load case static
3.50
3.00 / - 7 =
’/
/
2.50 7 1.7 F
‘E 200 / / — -
() ’ L id
S 150 // 7 -
= L7 M =0 k
100 VA A ___M:5k2*
o T
0.50 // - — - — -M=10kg_|
----- M = 15 kg
0.00 ‘ ‘ ‘
0 1 2 3 4 5 6 7 8
Time [s]

afag.com Handling technology HT Components linear 147



Determination of stroke

Determination of the stroke for PMP 01

The maximum work area is determined with the nomi-
nal stroke data. We recommend a stroke reserve for the
determination of the nominal stroke. The adjustment
range of the stop screws is up to 30 mm per stop side.

Determination of the stroke for PMP 02

With the information of nominal stroke, you determine

the maximum field of action. We recommend adding some
extra stroke depending on the application.

Due to the slideable end stops the work area can be limited.
Please note that a minimal grid of 50 mm is given when
using more than one intermediate stop.

Please contact out technicians for tasks that require a smaller
grid.

If pneumatic cylinders are measured by the means of magne-
tic switches a minimum gap of 60 mm is necessary.

148 Handling technology HT Components linear

PMP 01

Nominal stroke = maximum working stroke

Adjustment range = 30 mm

PMP

Version with pneumatic cylinder and two fixed limit stops.

Adjustment range = 30 mm

) D

o
o[ ——
°

!;lﬂj’

°

Shock absorber SD M14x1-1 /

Stop screw AS 12/60

d F=o

= 3

PMP 02

Nominal stroke = maximum working stroke

[mrjols

Adjustmentrange  Adjustmentrange

I

Version with pneumatic cylinder and adjustable intermediate
and end stops.

9
r@

= v —

o)

afag.com



Ordering example PMP

PMP-Version XXXXXXXX XXXX XXXX XXXX

stroke MaB A MaB B

Order form

Ordering example 1

.m 11000105 1500 mm 500 mm 800 mm

Ordering example 2

.m 11000106 3000 mm 100 mm 100 mm

Ordering process

= Select the desired PMP version, the stroke length, dimension A and dimension B.

= Enter the corresponding red order number in the order form in the place of the cross.

= Enter the corresponding lengths in mm for the stroke as well as dimensions A and B (also in mm) in the order form in the
place of the cross.

afag.com Handling technology HT Components linear 149



150 Handling technology HT Components linear afag.com



O afag

Gantry modules pneumatic PMP
PMP-c

Millimetre-accurate strokes

Rigid construction

Self-supporting profile

Intermediate stop for any number of positions

afag.com Handling technology HT Components linear 151



152

Dimensions and dimension drawings

m O N © >

-

Mounting protrusion 1
Mounting protrusion 2

G1/8 "
P 8, P
M6 48 @ 9HTI2.1
— —)
EEag—— " *® ® ¢—— B
S s faa 7&
=13 18 | 5 & ©.. | F & S——r——=
© LF=H+138
L1=H+220 5
A L=H+250 B
12=H+250+A+B
=iz 2 2= OGO QDO === = S —
==ac %o ==
— | o ] gowrd | ] —

PMP-c

Mounting protrusion 1
Mounting protrusion 2
End stop

Stop slide
Intermediate stop

Proximity switch & 6.5
mm

G1/8 "

81

m

PMP-c 01
Fix end stop 48 \ 48
120
P 8, P
/ @ OH72.1 48 M6 \
— e oo b—
R S i A==}
o g —— 43N
s s sle % " o & o [T E——t—
o \
48
120
LF=H+138
L1=H+220
A L=H+250 B
L2=H+250+A+B

= = w = =
T AR S 7
=&, | 3 B 9HT2.1 =
e 6o o
PMP-c 02 e w
Adjustable end stop «© 48 |, 48
plus 1 intermediate stop 120

Handling technology HT Components linear

afag.com



Technical data PMP-c
Attachment grid 48 x 48 mm

Attachment thread M6

Operating pressure 6 +/-2 bar

Air connection P G1/8"

Cylinder @ 25 mm

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Order number 11015620 11015621
Max. stroke 2000 mm 2000 mm
Net weight 2.2kg 2.6 kg
Moving weight 0.55kg 0.89 kg
Weight/100 mm stroke 0.54 kg 0.54 kg
Module weight, 0 mm stroke 2.22 kg 2.64 kg
Max. payload “5kg "5 kg

Air consumption/100 mm stroke 0.25NL 0.25NL
Piston force 250N 250N
Repeat accuracy +/-0.1mm  +/-0.1 mm
Max. profile length 3000 mm 3000 mm
Mounting position > >

The technical data refer to a nominalpressure of 6 bar under Afag standard testconditions.
Note: Also included in the PMP-c 02 scope of delivery:

1 x stop slide PMP-c
2 x end stops PMP-c
1 x intermediate stop PMP-c

*QObserve operation time diagram
**0 mm stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Stop screw AS 08/40

= 2x Shock absorber SD M14x1 -1

Accessories

= Stop slide PMP-c [p. 156]

Safety brake PMP-c [p. 157]
Intermediate stop PMP -c [p. 156]
Fine adjustment PMP-c [p. 156]
End stop PMP-c [p. 158]
Drag-chain PMP-c [p. 157]

Cover cap 40 x 20 [p. 157]

= Cover cap 60 x 20 [p. 157]

= Angle profile PMP-c [p. 158]
(Catalogue HT accessories)

= NI d6.5x44-5n1.5-PNP-NO-M8x1
= T-nut M4

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

153



154

Preferred combinations

1,3*  VP134 2,4

1,3*  VP135 2,4
1,3** VP 136 1.3

1 VS 505 2

*  Area gantry version

**  Cross construction slide-slide
(Please observe the load on
the guide)

**% Cut 2.5 mm srews of CS

Mounting areas

CS, ES PS LM, LE HM
3 3 3 1
E—T) gim—ly A 3 @
2
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH
3
3 3
a[L] o] = Toht| I/ 1 s
2 2 2 2

PMP-c
|

1,3 VP 113 2

1,3 VP 113 2

1,3*** <direct > 2

1,3 VP 113 2

1,3 VP 113 2

1,3 VP 113 2

1,3 VP 118 2

1,3 VP 113 2,3

1,3 VP 113 2,3

1,3 VS 507 1

1,3 VP 113 2

1,3 VS 507 1

1,3 VP 113 2

1,3*  VP134 2,4

1,3 VP 120 2
1 VP 113 3

1,3 VP 113 3

1,3 VP 113 1

1,3 VP 148 1

1,3 VP 120 2

1,3 VP 150 2

SA 0z

RM, RE UG, GM, SG, DG, PG, GE

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

Handling technology HT Components linear

2[1H
3

afag.com



Module stresses

Max
Max
Max

. static torque Mx
. static torque My
. static torque Mz

Max. dynamic torque Mx
Max. dynamic torque My
Max. dynamic torque Mz
Effective distance Wy
Effective distance Wz

158 Nm
158 Nm
199 Nm
5.2Nm
5.2Nm
6.5Nm
26 mm
26 mm

Angle profile deflection, load case static

0.00 S
-0.10 ‘\‘:\ ~
-0.20 BINERNN
S S
_-0.30 S .
€ _ A N
£ 0.40 N N
-— - \
c 0.50 Load F= 10 [N] N N
2 -0.60 {— Load F=25[N]
9 ___load F=50(N] \
U - |-
% 0.70 _ __.loadF=75]N] \ N
o -0.80 — Load F= 100 [N] Xy ¥
-090 1 -—-- _Load F= 150 [N] \
\
100 N\
o o o o o o o [=] o o o o o o o o
o O o o o o o o o o o o o o o
N < © ¢ o N < () 2] o N < © <o) o
rrrrr N N N N ™
Profile length L [mm]
Angle profile deflection, load case static
3
e mE kg i
m = 5 kg / /
2 ///
E /
@ 15 //
s //
a1
V4
0.5 /4
0
0 0.5 1 15 2 25 3 3.5 4.5 5

Time [s]

afag.com

Angle profile deflection, load case static

L

PMP-c

158 Nm
158 Nm
199 Nm
5.2Nm
5.2Nm
6.5 Nm
26 mm
26 mm

%L

N~ ]

Handling technology HT Components linear

155



Determination of stroke PMP-c

PMP-c 01
Version with pneumatic cylinder and two fixed limit stops.

Determination of the stroke for PMP-c 01 Nominal stroke = maximum working stroke
The maximum work area is determined with the nomi- Adjustment range Adjustment range
nal stroke data. =10mm =10mm
We recommend a stroke reserve for the determination r |
of the nominal stroke. e = —
The adjustment range of the stop screws is up to 10 —&e LR AR A 1= -
mm per stop side. s : | — Yal

@ @ @ QQ —

PMP-c 02
Version with pneumatic cylinder and adjustable intermediate
and end stops.

Nominal stroke = maximum working stroke

Determination of the stroke for PMP-c 02

With the information of nominal stroke, you determine ) |Adjustment range Adjustment range
the maximum field of action. We recommend adding Adjuitrzn;;:;ange ' SD M1dx1-1
some extra stroke depending on the application. 1 n_ﬂ_#
Due to the slideable end stops the work area can be li- ﬁ:‘:[fbw %w P
mited. & & & & & & & & & & % s ——
Please note that a minimal grid of 30 mm is given when - M :

. . . =2 -
using more than one intermediate stop. Stroke & ¢ & & &
Please contact out technicians for tasks that require a
smaller grid. 36__30
If pneumatic cylinders are measured by the means of — @;l
magnetic switches a minimum gap of 40 mm is neces- e e
sary.

156 Handling technology HT Components linear afag.com



Ordering example PMP-c

PMP-c Version XXXXXXXX XXXX XXXX XXXX

Stroke Dimension A Dimension B

<
S
o
[
—
()]
©
=
(©)

Ordering example 1

.m 11015620 1500 mm 500 mm 800 mm

Ordering example 2

.m 11015621 2000 mm 100 mm 100 mm

Ordering process

= Select the desired PMP-c version, the stroke length, dimension A and dimension B.

= Enter the corresponding red order number in the order form in the place of the cross.

= Enter the corresponding lengths in mm for the stroke as well as dimensions A and B (also in mm) in the order form in the
place of the cross.

afag.com Handling technology HT Components linear

157



Accessories PMP & PMP-c

Stop slide PMP

Order number 11000110
Net weight 0.5kg
SD M14x1 -1
&
B
100
~224 42.5
Inlcuded in the delivery Accessories
(Catalogue HT accessories) (Catalogue HT accessories)
= 2x Shock absorber SD M14x1 -1 = |NI d6.5x35-Sn1.5-PNP-NO-M8x1
= INI d6.5x44-5n1.5-PNP-NO-M8x 1
Safety brake PMP
Order number 11016936
Net weight 2.852 kg
39 215 .

D

@
@
@
@
+ §L>A<m

158 Handling technology HT Components linear afag.com



Accessories PMP & PMP-c

Intermediate stop PMP Fine adjustment PMP

Order number 11000111 Order number 11004973

Net weight 0.351kg Net weight 0.302 kg

: s 5

79

Accessories
(Catalogue HT accessories)
= NI 10.5x5.8x30-Em-PNP-NO-M8x 1

End stop PMP Proximity switch holder PMP

Order number 11000112 Order number 11004972

Net weight 0.203 kg Net weight 0.036 kg

.

23

i

afag.com Handling technology HT Components linear 159



Accessories PMP & PMP-c

Cover cap 40 x 40 40 x 40 Cover cap 40 x 80 40 x 80
Order number 11002454 Order number 11002455
Net weight 0.007 kg Net weight 0.006 kg

80 4

[=}
q‘li

Lubricator adapter PMP

Angle profile PMP

Order number 11001162 Order number 11016038
Net weight 0.646 kg Net weight 0.028 kg
Weight/100 mm stroke 6.5 kg

Max. profile length “6000 mm

Straightness and twisting <0.5/1000 mm * f
[ce]
© _1

= 30 32

Jel>

80
40

20

*When ordering, note the desired length after the order number. Example:
11001162/300 mm

160 Handling technology HT Components linear afag.com



Accessories PMP & PMP-c

Fence carriage PMP-c
Order number 11014642
Net weight 0.376 kg

SD M14x1-1

Inlcuded in the delivery Accessories
(Catalogue HT accessories) (Catalogue HT accessories)
= 2x Shock absorber SD M14x1 -1 = INI d6.5x44-5n1.5-PNP-NO-M8x1

= NI d6.5x35-Sn1.5-PNP-NO-M8x1

Intermediary stop PMP-c Fine adjustment PMP-c

Order number 11014641 Order number 11015746
Net weight 0.167 kg Net weight 0.237 kg
Magnetic proximity
A .
switch
H 10 mm
P M5
76

afag.com Handling technology HT Components linear 161



162

Accessories PMP & PMP-c

Safety brake PMP-c

Order number 11014638
Net weight 0.15kg
43 17
. [T W @ RN
6 © &

o @

OB © P -y

Order number 11014738

Net weight 0.8 kg

[}

}
qqk\

|
|

=

Note: Chain length = axis stroke: 2 + 210 mm

Cover cap 40 x 20 40x20 Cover cap 60 x 20 60x20

Order number 11014897 Order number 11014898

Net weight 0.002 kg Net weight 0.003kg

40 TJ 60 TJ
‘(.

Handling technology HT Components linear afag.com




Accessories PMP & PMP-c

Order number 11015615 Order number 11014639
Net weight 0.254 kg Net weight 0.082 kg
Weight/100 mm stroke 2.544 kg
Max. profile length “3000 mm <
Straightness and twisting < 0.5/17000 mm
= = ©
21 (
11,4 o
piaiie i > @ F
=
n/ é(\f
O )
N
- o i} | 43 1 1
© <

11
%
Q
3
-
|
21

*When ordering, note the desired length after the order number. Example: 11015615/300 mm

afag.com Handling technology HT Components linear 163



O afag

Electro slides ES
ES8 - ES40

164 Handling technology HT Components linear afag.com



Table of contents: ES

Electro slides ES Page

ES12
ES20 179
ES30 187

ES40 197
Accessories ES

afag.com Handling technology HT Components linear 165



166 Handling technology HT Components linear afag.com



O afag

Electro slides ES
ES8

m Smallest electrical slide
= Freely programmable
= Modular

afag.com Handling technology HT Components linear 167



Dimensions and dimension drawings ES8
90
10 20015 oyV
)
2 — u
© ® olcl =0\ NN
ES8-40 3 - e== P
= 9-0-© ﬁ;
R ‘ ]
=
= 15 120+0.015
©
65
1040015, ov
®‘b
2 =
© @—% Oﬁki
- = — o T B
ES8 15 § i ‘ iQ:
@,,
- ©0-©® QOQr
< L
= 40
T
g 15 {200,015 2040015
w©
© © _ == L| ™~ OC@ @O
M3
™
45_ 160015 24  16:0015 = D 5HTN.3
o
< S
=
ES8-15 2 - E
~ N
s 2
F 125 2x20:0015
IS
5 16+0.015 48 16 £0.015 ks
© T
< [{p}
s S
ES8-40 <« 7 - é
< 2
':l;: 15 3 x 2040015
.
$ Bores can be screwed through
168 Handling technology HT Components linear afag.com



Technical data ESS

Attachment grid 20x20 mm

Attachment thread M3

Attachment thread alternative M2.5

Operating temperature 10-40°C

Storage temperature 10-40°C

Humidity <90 %

Order number 50433800 50433801
Stroke H 15 mm 40 mm
Net weight 0.107 kg 0.118 kg
Moving weight 0.046 kg 0.067 kg
Nominal voltage <50VDC <50VDC
Drive Linear motor, electric
Protection type IP 30 IP 30

Peak force Fx 2.74N 2.74N
Force constant 1.94 N/A 1.94 N/A
Permanent force 1.03N 1.03N
Peak force 2.74N 2.74N
Repeat accuracy +/-0.02 mm +/-0.02 mm
Mounting position > >

Cleanroom class ISO 14644-1, class ISO 7

*Vlertical installation upon request

Inlcuded in the delivery Accessories Alternative accessories
(Catalogue HT accessories) (Catalogue HT accessories) (Catalogue HT accessories)
= 2x Centering bushing @5x2.5 = Adapter ES8/12 LinMot = Additional motor cables

= 4x Mounting screw M3x12 = Motor cable-M16 = Additional controllers

= Controller C1xxx-1S
= Plug kit for C1xxx-1S
= USB-RS232 Converter for controllers

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear

169



Preferred combinations ESS

1,3 <direct> 2 1,3 <direct > 2
1,3 VP 107 2 1,3 <direct> 2
1,2 VP 107 2 1,3 VP 152 2
1 w107 2 3 AN
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 ! 1
—1} 1= T HD 35 I——F HET
2 2 2 > 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
[ O Ton | [ EE [ 2[1 ]
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

170 Handling technology HT Components linear afag.com



Module stresses ESS

Type ES8-15 ES8-40
Max. static torque Mx 6 Nm 6 Nm
Max. static torque My 6 Nm 6 Nm
Max. static torque Mz 6 Nm 6 Nm
Max. dynamic torque Mx 0.25Nm 0.25Nm
Max. dynamic torque My 0.25Nm 0.25Nm
Max. dynamic torque Mz 0.25Nm 0.25Nm
Peak force Fx 2.74N 2.74N

Maximum payload/type ES8-15 ES8-40

Installation position (horizontal) for mounting side 1/3 0.1kg 0.1kg

Assembly sides module mounting horizontal: 3

—
Operation time diagrams

Time [ms]

0 10 20 30 40 50 60 70 8 90 100
Mass [g]

Stroke
40 mm
1%Bmm - — — =

afag.com Handling technology HT Components linear 171



172 Handling technology HT Components linear afag.com



O afag

Electro slides ES
ES12

® Compact electrical slide
= Freely programmable
= Modular

afag.com Handling technology HT Components linear 173



Dimensions and dimension drawings

A 100 mm 140 mm
B 3x30 mm 4x30 mm
|
®© 0o il@ o Qo ©
ES-12-100 T T  E—— —
©06 6 0c 0o o
© o0& 5O o °
ES-12-60 I
© 0@ © ©
@ 1 18 15 +0.015
© ® 0 © —
ES-12-20 T -__-%}f-
& 9 © =
= ||
6 D42
25 30 +0.015 60
3040015
A
. 2—:‘:_;1_&— & = 6@@T @O &
; 5 @ TH7I1.6 M4
T O® S —
o606 —© —
§ 3020015
ASS

$ Bores can be screwed through

174 Handling technology HT Components linear

ES12

180 mm
5%x30 mm

afag.com



Technical data ES12
Attachment grid 30x 30 mm

Attachment thread M4

Attachment thread alternative M3

Operating temperature 10-40°C

Storage temperature 10-40°C

Humidity <90 %

Order number 50433802 50433803 50433804
Stroke H 20 mm 60 mm 100 mm
Net weight 0.331kg 0.368 kg 0.403 kg
Moving weight 0.126 kg 0.163kg 0.199kg
Nominal voltage <75VDC <75VDC <75VDC
Drive Linear motor, electric
Protection type IP 30 IP 30 IP 30

Peak force Fx 10.7N 10.7N 10.7N
Force constant 6.43 N/A 6.43 N/A 6.43 N/A
Permanent force 36N 36N 3.6N

Peak force 10.7N 10.7N 10.7N
Repeat accuracy +/-0.02 mm +/-0.02 mm +/-0.02 mm
Mounting position > > >

Cleanroom class ISO 14644-1, class ISO 7

*Vlertical installation upon request

Inlcuded in the delivery Accessories Alternative accessories
(Catalogue HT accessories) (Catalogue HT accessories) (Catalogue HT accessories)
= 2x Centering bushing @7x3 = Adapter ES8/12 LinMot = Additional motor cables

= 4x Mounting screw M4x22 = Motor cable-M16 = Additional controllers

= Controller C1xxx-1S
= Plug kit for C1xxx-1S
= USB-RS232 Converter for controllers

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear

175



Preferred combinations

Mounting areas

1,3 <direct> 2
1,3 <direct> 2
1,2 <direct> 2
3 <direct> 2
3 direct 2
1 <direct> 2
3  <direct> 2
1,2,3 <direct> 2
1 <direct> 2
1 <direct> 2
CS, ES PS LM, LE
3 3 3
PMP, PMP-c PEZ, PDZ PEL, PDL
3 3 3
s[4 e o) | (=
2 2 2

HM
1
o[l
2
CR, RM 32, RE, SREH

‘|Bﬂ3
2

1.3 VP 107
1,3 <direct>
3 VP 147
1,3 VP 107
1,3 VP 107
1,3 <direct>

3 < direct >
1,3 <direct>
1,3 VP 111
1,3 VP 151
1,3 VP 109
SA

E%;ﬁz
RM, RE

1

b
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

176  Handling technology HT Components linear

- N =

ES12

UG, GM, SG, DG, PG, GE

2[4
3

afag.com



Module stresses ES12

Type ES12-20 ES12-60 ES12-100
Max. static torque Mx 10 Nm 10 Nm 10 Nm
Max. static torque My 10 Nm 10 Nm 10 Nm
Max. static torque Mz 10 Nm 10 Nm 10 Nm
Max. dynamic torque Mx 0.5Nm 0.5Nm 0.5Nm
Max. dynamic torque My 0.5Nm 0.5Nm 0.5Nm
Max. dynamic torque Mz 0.5Nm 0.5Nm 0.5Nm
Peak force Fx 10.7N 10.7N 10.7N

Fz

Maximum payload/type ES12-20 ES12-60 ES12-100

Installation position (horizontal) for mounting side 1/3 0.2 kg 0.2kg 0.2kg

Assembly sides module mounting  horizontal: 3

Operation time ES12
Time [ms]
240
220 —
200 —
(LU —
160 g ——
140 — =

0 20 40 60 80 100 120 140 160 180 200
Mass [g]

Stroke

100 mm

60mm — — — —

20mm @ —-—-—--

afag.com Handling technology HT Components linear 177



178 Handling technology HT Components linear afag.com



O afag

Electro slides ES
ES20

= Extremely light-weight linear motor axis
= Freely programmable
= High dynamics up to 120 m/s* acceleration

afag.com Handling technology HT Components linear 179



Dimensions and dimension drawings ES20

A 2 x30mm 4 x30mm 4 x30 mm 4 x30 mm
B 135 mm 185 mm 343 mm 443 mm
C 194 mm 287.5mm 367.5mm 497.5 mm
D 3x30mm 5x30mm 10x30mm 13x30mm
42.5 A
- = ae_e_e N | (@ -270° rotatable connector
= e]e=
[ T - —-—®-— G- —— - — 1 e
: o TE
—0 -0 0 ]
D41 O THTN.6
40
C 30 0,015
B 20 0015
Tateg | w &) } «
o S ‘
A S i | S
W e © & !
‘ kS L =
o
: A ¢ e
min.17.5 M4 M3
O THT.6 D5H5M.3
25 D
M3x7.5
D 7z &) &)
- oﬁ[ 3 A SV
=1 ,,6,7©,7,%,7,%, ————— E»
CC'% 8 I8 D\ 17 S L@‘
\ZJ N 5
@5H7/1.3 M4x7
3.5 O THIN.6

3 Bores can be screwed through

180 Handling technology HT Components linear afag.com



Technical data

ES20

Attachment grid 30x 30 mm
Attachment thread M4

Attachment thread alternative M3

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50425969 50425970 50425971 50425972
Stroke H 50 mm 100 mm 200 mm 300 mm
Net weight 1.1kg 1.5kg 2.1kg 2.5kg
Moving weight 0.5kg 0.7 kg 1.1kg 1.4kg
Nominal voltage 72 VDC 72 VDC 72 VDC 72 VDC
Drive Linear motor, electric

Protection type IP 30 IP 30 IP 30 IP 30
Max. speed v 6.8 m/s 4.8 m/s 4.8 m/s 4.8 m/s
Peak force Fx 67 N 137N 137N 137N
Constant force Fx 15N 31N 31N 31N
Force constant 9 N/A 12.5N/A 12.5N/A 12.5N/A

Repeat accuracy

- with external position measuring system

Mounting position

+/-0.05mm +/-0.05mm +/-0.05mm +/-0.05mm

L L)

- -

v v

+/-0.02mm +/-0.02mm +/-0.02mm +/-0.02 mm

L] L]

- -

v v

Note: Note: For vertical installation, a weight compensation via MagSpring or compensation spring (ES20-50-SL) is required. This compensates the load mass for vertically instal-
led axes. Furthermore, the peripherals and the workpiece are also prevented from falling when the electric slide is in a deenergised state.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 4x Mounting screw M4x14

Accessories

= MagSpring side/front[p. 192-196]

= Compensation spring ES20-50-SL[p. 203]

= External position measuring system ES20[p. 204]
(Catalogue HT accessories)

= Centering bushing @5x2.5

= Motor cable-M16

= Controller C1xxx-1S

= Plug kit for C1xxx-1S

= JSB-RS232 Converter for controllers

= Power supply SO1-72/500, 1-phase

= MTZ 25x2b Double centric mounting module

Alternative accessories
(Catalogue HT accessories)
= Additional motor cables

= Additional controllers

= Additional power supplies

= Additional mounting modules

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

181



Preferred combinations ES20

1 <direct> 2,3 1,3 <direct> 2
1 <direct> 2 1,3 <direct > 2
2 BalEn 1 VP139 3
1,2 <direct> 2 13 VP 147 1
1,2 <direct> 2
3 <directs 2 1,3  <direct> 1
3 <direct> 2 13 VP 117 1
3 <direct> 2
3 direct 2 ; <\7|Pir$8t7> 1
3 direct 2 1,3 VP 151 2
3 direct 2 1 VP 150 2
3 direct 2 1,3 VP 107 2
1 <direct> 2 1,3 <direct> 2
2,3  VP112 2 3 VP 117 ’
! Sl 1,3 <direct> 1
3 <direct> 2 1 VP 127 1
1 VP 115 1 3 VP117 1
1 VP 112 2 1,3 VP 127 1
1 VP 112 2 1,3 <direct> 1,2
1,2,3 <direct> 2 1,3 VP 150 1,2
1 < direct > 2 1,3 VP 139 1,2
1 VP 112 2 1,3 VP 107 1,2
1,3 VP 120 2 1,3 <direct> 1,2
1 <direct> 2 1 VP 110 1
1 VP 150 2
Mounting areas
CS, ES PS LM, LE H1M SA 0z
= | ww | | Gl | B | TR
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 35, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
4@1 11 1D—i|]1 1EH]3 1B}3 21§
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

182 Handling technology HT Components linear afag.com



Module stresses ES20

ES20-50-SL ES20-100-SL  ES20-200 ES20-300

Max. dynamic torque Mx 5Nm 5Nm 5Nm 5Nm
Max. dynamic torque My 25Nm 25Nm 50 Nm 50 Nm
Max. dynamic torque Mz 25Nm 25Nm 50 Nm 50 Nm
Peak force Fx 67N 137N 137N 137N

Mx

Maximum payload/type ES20-50-SL ES20-100-SL  ES20-200 ES20-300

Installation position (horizontal) for mounting side 1/3 4kg 4kg 3kg 2kg

Installation position (vertical) for mounting side 1/3 4kg 4kg 3kg 2kg
Assembly sides module mounting  horizontal: 3 vertical:

—l

1

Deflection ES20 Deflection ES20-SL
Deflection [mm] Deflection [mm]
1 0.8
0.7
08
0.6
04 0.4
—
e - 03 —
02 — = 02 -—
_///_-—-""-_- ’ —_—
0 wz==r—-—""" 0.1 —
—_—
0 10 20 30 40 50 0 L=—T
Hub Torque [Nm] 0 10 2 30 4 50
200 mm  —— Stroke Torque [Nm]
100mm ———— 100 mm
50mm —-—-— 50mm ——-—-
Operation time ES20
Time [ms]
500
450
400 _— Stroke
_— __— 300mm  ——
350
L— _— - 200mm  — — — —
300 _—— 100mMM @ —-—-—=--
250
— _ 50mm  —e-—a-—--
00 F s it
150 e e
100 =o e
50
0
0 0.5 1.0 15 20 25 30 Running times based on pause times of 200 ms
Mass [kg]

afag.com Handling technology HT Components linear 183



184

Ordering example ES20

m XXXXXXXX XXXXXXXX XXXXXXXX XXXXXXXX

X X
£ Electric slide Compensation MagSpring External position s IS g
5 spring measuring system 25 2%
Y= owv O &
e o O o
) © -
B = <
(e] T 2

= @©
S g

Coordinate system 0

The coordinate system allows you to defi ne the position of m P =left

the MagSpring as well as that of the external position = O=top

measuring system. = S =right

Ordering example 1 with compensation spring

BE sooss | soarse x

Ordering example 2 with MagSpring and external position measuring system

.m 50425970 X 50427554 50427547 o S

Ordering process

= Select the desired electric slide, compensation spring (only for ES20-50SL), external position measuring system and ex-
MagSpring from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the MagSpring and the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Compensation spring
= The compensation spring can only be used for the ES20-50-SL. It serves as an inexpensive alternative to the MagSpring.

MagSpring
= The MagSpring serves to balance the weight forces in a vertical installation position.

= The dimensioning of the MagSpring must match the moving weight in the vertical installation position.

External position measuring system
= The external position measuring system must be ordered in accordance with the module length.

Handling technology HT Components linear afag.com



Order key ES20

- _ XXXXXXXX XXXXXXXX XXXXXXXX XXXXXXXX | X | X
f 50425969 Compensation | MagSpring  MagSpring Exte_r.nal ey g
= 50425970 spring side (s) front (v) position S g
g 50425971 | 50427546 measuring | Q| &
= 50425972 system | & 2
g2 5 &
E,_ '§_ Compensation spring ES20-50-SL '§ g
§5 pw S 18
) =1 Without compensation spring X E=
> MagSpring ES20 s/v 11N 50427548 50427554 _8.
L MagSpring ES20 s/iv 17N 50427549 | 50427555 E
.g MagSpring ES20 s/v 22N 50427550 | 50427556 %
-.a MagSpring ES20 s/v 40N 50427551 | 50427557 é
‘E" MagSpring ES20 s/v 50N 50427552 | 50427558 'Dg_
MagSpring ES20 s/v 60N 50427553 | 50427559
> MagSpring ES20 s/iv 11N 50427561 | 50427567
L = MagSpring ES20 s/v 17N 50427562 50427568
g 8. MagSpring ES20 s/v 22N 50427563 | 50427569
§ § MagSpring ES20 s/v 40N 50427564 50427570
g MagSpring ES20 s/v 50N 50427565 | 50427571
MagSpring ES20 s/v 60N 50427566 @ 50427572
> MagSpring ES20 s/v 11N 50427574 50427580
L = MagSpring ES20 s/v 17N 50427575 | 50427581
.g 8, MagSpring ES20 s/v 22N 50427576 | 50427582
.a § MagSpring ES20 s/v 40N 50427577 | 50427583
g MagSpring ES20 s/v 50N 50427578 | 50427584
MagSpring ES20 s/v 60N 50427579 | 50427585
MagSpring ES20 s/iv 11N 50427587 | 50427593
5 MagSpring ES20 s/v 17N 50427588 50427594
..é § MagSpring ES20 s/v 22N 50427589 | 50427595
= 8‘ MagSpring ES20 s/v 40N 50427590 50427596
‘é} - MagSpring ES20 s/v 50N 50427591 50427597
2 MagSpring ES20 s/v 60N 50427592 50427598
Without MagSpring X
e 'E’ External position measuring system ES20 050mm 50427547
el § External position measuring system ES20 100mm 50427560
‘_g “1°7 External position measuring system ES20 200mm 50427573
g g External position measuring system ES20 300mm 50427586
== Without external position measuring system X
Position MagSpring
P
2 s
=
=
2
P
S

afag.com Handling technology HT Components linear 185



186 Handling technology HT Components linear afag.com



O afag

Electro slides ES
ES30

= Rigid linear motor axis
= Freely programmable
= Cantilever axis with large stroke

afag.com Handling technology HT Components linear 187



Dimensions and dimension drawings ES30

3x48 mm 3x48 mm 3x48 mm 3x48 mm 3x48mm  3x48mm  3x48mm 3 x48 mm

A
B 164 mm 214 mm 326 mm 314 mm 426 mm 526 mm 626 mm 726 mm
C 290.5 mm 330.5mm 330.5mm 430.5 mm 430.5mm 530.5mm 630.5mm 730.5mm
D 1x48 mm 2 x48 mm 4 x48 mm 4 x48 mm 6x48mm  8x48mm 10x48mm 12x48 mm
455 A
© —H ® o @ -270° rotatable connector
S 1| O '
{ 4}@ -—0 — -6 -—0—-—0-—— - 6— af———zl%
@ 1 o O ,
- o
@6.3 ®9H7/2.1 60
48 +0.015
C
30 £0.015
B
M3
© H 0
. j " 5
© D 3 g +
o] o 5 o
© =T ® o F /1 ¢ i =
. A8 < J o 2
— = = : | 6 -
15 |
o]
min. 20.5 M6 M4
®9H7/2.1 ®7H7/1.6
35 48 £0.015 D LK @58
O]
0
D= PR I R e |
o
[
 1OT
24 +0.015 M6
D 9H7/2.1

$ Bores can be screwed through

188 Handling technology HT Components linear afag.com



Technical data ES30

Attachment grid 48 x 48 mm
Attachment thread M6
Operating temperature 0-50°C
Storage temperature 0-50°C
Humidity <90 %

Order number 50425973 50425974 50425975 50425976 50425977 50425978 50425979 50425980

Stroke H 50 mm 100 mm 100 mm 200 mm 200 mm 300 mm 400 mm 500 mm
Net weight 3.1kg 3.5kg 4.1kg 4.3kg 4.9kg 5.7 kg 6.5kg 7.2 kg
Moving weight 1.3kg 1.6 kg 1.85 kg 2.2 kg 2.6kg 3.2kg 3.8kg 4.4 kg
Nominal voltage 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC
Drive Linear motor, electric

Protection type IP 30 IP 30 IP 30 IP 30 IP 30 IP 30 IP 30 IP 30
QfDZZ'd , 32m/s 32mis 32mis 32ms 32mis 32mis 32mis 3.2mis
Peak force Fx 255N 255N 255N 255N 255N 255N 255N 255N
Constant forceFx 51N 51N 51N 51N 51N 51N 51N 51N
Force constant 17 N/A 17 N/A 17 N/A 17 N/A 17 N/A 17 N/A 17 N/A 17 N/A
Repeat

accuracy +/-0.05 mm +/- 0.05 mm +/- 0.05 mm +/- 0.05 mm +/- 0.05 mm +/- 0.05 mm +/- 0.05 mm +/- 0.05 mm

- with external
position measu- +/-0.02 mm +/-0.02 mm +/- 0.02 mm +/- 0.02 mm +/- 0.02 mm +/- 0.02 mm +/- 0.02 mm +/- 0.02 mm
ring system

Moghtlng 4 XX XN o+ s < <+ 4
position

Note: For vertical installation, a weight compensation via MagSpring or pneumatic weight balancing is required. If the weight compensation is not carried out, the slide will fall
below when in a deenergised state. Furthermore, the operation time from the operation time diagram cannot be achieved.
Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery Accessories Alternative accessories
(Catalogue HT accessories) = MagSpring side/front [p. 198-202] (Catalogue HT accessories)
= 2x Centering bushing @9x4 = External position measuring system ES30 [p. 204] = Additional motor cables
= 4x Mounting screw M6x20 (Catalogue HT accessories) = Additional controllers

= Motor cable-M23 = Additional power supplies

= Controller CTxxx-1S = Additional mounting modules

= Plug kit for C1xxx-1S

= USB-RS232 Converter for controllers

= Power supply S01-72/1000, 3-phase

= MTZ 45x2b Double centric mounting module

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear

189



Preferred combinations ES30

3 <direct> 2 1 < direct > 2
1,3 <direct> 2 3 VP 112 2
1,3 <direct> 2 3 < direct > 2
1 <direct> 2 1 VP 146 3
1 <direct> 2 1,3 VP 147 1
3 <direct> 2 1,3 VP 148 1
. 1 < direct > 1
3 <dfrect> 2 3 VP 119 :
3 <direct> 2 : direct> :
3  <direct> 2 3 VP 112 1
3 < direct > 2 1 < direct > 1
3 <direct> 2 3 VP 112 1
. 1 VP 117 1
> EEE ° 3 < direct > 1
3  <direct> 2
1,2,3 <direct> 2 1,3 <direct> 1
1,2,3 <direct > 2 1 VP 150
1,2,3 <direct> 2 1 < direct > 2
3  <direct> 2 3 VP 112 2
1 < direct >
1 VP 118 2 2
2,3 <direct> 2 3 VP 112
1,2,3 <direct> 2 1,3 <direct> 2
1 <direct> 2 1 VP 146 2
1 <direct> 2 1 < direct > 2
1,3 <direct> 2 3 VP 112 2
1 <direct> 2 3 <direct> 2
: 1 < direct > 1
1 <direct> 2 3 e 1
1,3 <direct> 1
Mounting areas 1,3 <direct> 1
CS, ES PS LM, LE 1.3 VS 506 1
= : 3 13 VS507 1
2 2 1,3 VP 150 1,2
PMP, 3PMP—c PEZ, PDZ PEL, PDL ] <diects 12
3 3
a[ L] o 2 Toh | ! 3 VP 115 1
@ i D—%_—D 3 VP 112 2
1,3 <direct> 1
HM SA oz
1
1
3] E—o Lem=mik
2
IR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, Gt

-3 |
e 15 278
2 2 3

Note that there might be different mounting positions from one module to
another one. The required connection elements and the range of support co- Mounting areas
lumns are depicted in the catalogue HT accessories.

190 Handling technology HT Components linear afag.com



Module stresses ES30

ES30-100 ES30-200 ES30-300 ES30-400 ES30-500

Max. dynamic torque Mx 30 Nm 30 Nm 30 Nm 30 Nm 30 Nm 30 Nm 30 Nm 30 Nm
Max. dynamic torque My 40 Nm 40 Nm 80 Nm 40 Nm 80 Nm 80 Nm 80 Nm 80 Nm
Max. dynamic torque Mz 40 Nm 40 Nm 80 Nm 40 Nm 80 Nm 80 Nm 80 Nm 80 Nm
Peak force Fx 255N 255N 255N 255N 255N 255N 255N 255N

ES30- ES30-

Maximum payload/type 100-SL ES30-100 200-SL ES30-200 ES30-300 ES30-400 ES30-500

Installation position (horizontal)

for mounting side 1/3 10kg 10kg 10kg 8kg 8kg 6 kg 5kg 4kg
Installation position (vertical)

for mounting side 1/3 10kg 10kg 10kg 8kg 8kg 6 kg 5kg 4kg
Assembly sides module mounting  horizontal: 3 vertical:

—l

afag.com Handling technology HT Components linear 191



Module stresses

Deflection ES30

Deflection [mm]

14
Stroke
12 500 mm
’ 400mMm —— — —
300mm —-—-—
0.8 200 mm - -
100 mm _ ~
0.6 50 mm ~
/ —
= _—-"
—
04 ="
0.2
0
0 10 20 30 40 50 60 70 80
Torque [Nm]
Operation time ES30
Time [ms]
700
650
600
550
500 Stroke
450 500 mm
400 400 mm
350 300 mm
300 200 mm
250 100 mm
200 50 mm
150
100
50
0

Mass [kg]

Running times based on pause times of 200 ms

192 Handling technology HT Components linear

ES30

Deflection ES30-SL

Deflection [mm]

0.7
Stroke
0.6 —
200 mm
05 100 MM — — — —

0.4

0.3

0.2

0.1

0 5 10 15 20 25 30 35 40
Torque [Nm]

afag.com



afag.com Handling technology HT Components linear 193



Ordering example ES30

_ XXXXXXXX XXXXXXXX XXXXXXXX

X X
Electric slide MagSpring External position s © g
c measuring system = TG
= owv x
s oo T 5
e = 5 <
3 33
5 &g
c
i)
%
o
o
Coordinate system
The coordinate system allows you to define the position of = P=left 0]
the MagSpring as well as that of the external position = O=top
measuring system. = S =right

Ordering example 1 with MagSpring

B sooso | sonos x s x

Ordering example 2 with MagSpring and external position measuring system

._ 50425975 50429237 50429230 o S

Ordering process

= Select the desired electric slide, external position measuring system and MagSpring from the order key.
= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the MagSpring and the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

MagSpring

= The MagSpring serves to balance the weight forces in a vertical installation position.

= The dimensioning of the MagSpring must match the moving weight in the vertical installation position.
External position measuring system

= The external position measuring system must be ordered in accordance with the module length.

194 Handling technology HT Components linear afag.com



Order key ES30

_ XXXXXXXX XXXXXXXX XXXXXXXX

X X
50425973 MagSpring MagSpring External position e £
° 50425974 side (s) front (v) measuring system ;'f %
@ 50425975 8 | o
g 50425976 | 3
8 50425977 =
50425978 & =
50425979 2
50425980 a
" MagSpring ES30 s/v 11N 50429205 | 50429211 g
"3 MagSpring ES30 s/v 17N 50429206 | 50429212 %
£ MagSpring ES30 s/v 22N 50429207 | 50429213 S
1 1| MagSpring ES30 s/v 40N 50429208 | 50429214 z
§ MagSpring ES30 s/v 50N 50429209 | 50429215 &
MagSpring ES30 s/v 60N 50429210 50429216
> MagSpring ES30 s/v 11N 50429218 @ 50429224
“3, MagSpring ES30 s/v 17N 50429219 50429225
= MagSpring ES30 s/v 22N 50429220 | 50429226
& MagSpring ES30 s/v 40N 50429221 50429227
g MagSpring ES30 s/v 50N 50429222 | 50429228
MagSpring ES30 s/v 60N 50429223 @ 50429229
" MagSpring ES30 s/v 11N 50429231 50429237
i MagSpring ES30 s/v 17N 50429232 | 50429238
= MagSpring ES30 s/v 22N 50429233 | 50429239
o MagSpring ES30 s/v 40N 50429234 50429240
§ MagSpring ES30 s/v 50N 50429235 50429241
MagSpring ES30 s/v 60N 50429236 50429242
MagSpring ES30 s/v 11N 50429244 | 50429250
‘§ MagSpring ES30 s/v 17N 50429245 | 50429251
= § MagSpring ES30 s/v 22N 50429246 | 50429252
'§_ 8‘ MagSpring ES30 s/v 40N 50429247 | 50429253
> '+ MagSpring ES30 s/v 50N 50429248 @ 50429254
= MagSpring ES30 s/v 60N 50429249 | 50429255
Without MagSpring X
c £ External position measuring system ES30 050mm 50429204
.g g External position measuring system ES30 100mm 50429217
4 External position measuring system ES30 200mm 50429230
T:- g’ External position measuring system ES30 300mm 50429243
g § External position measuring system ES30 400mm 50429256
E g External position measuring system ES30 500mm 50429257
Without external position measuring system X

Position MagSpring

afag.com Handling technology HT Components linear 195



196 Handling technology HT Components linear afag.com



O afag

Electro slides ES40
ES40

= Powerful cantilever axis
= Freely programmable
= High dynamics

afag.com Handling technology HT Components linear 197



Dimensions and dimension drawings ES40

1x60 mm 2x60 mm 2x60 mm 2x60 mm 2x60 mm 3x60 mm

A
B 245 mm 445 mm 545 mm 645 mm 745 mm 904 mm
C 4445 mm 4515 mm 551.5 mm 651.5 mm 751.5 mm 910.5 mm
D 2x60 mm  6x60 mm 7x60 mm 9x60 mm 11x60 mm 13x60 mm
121.5 60 +0.015 o
Q @ - 270° rotatable connector
— I
(o] (o) : I/
e O
- 1] E
T
| (o) o I\
mn
A 1 S
o ke
N~ (@]
T e}
(V]
> 60 +0.015
C ‘ ‘ 48 +0.015
‘ 1N
B 30+0.015 o
~
:
o~
n —
S i St
o
+H % |
o U [T3)
: i 5
l 0
° — = i g—l_ = T
ol =L o T X o
S / ©
0
| < ]
— o == i
b >
20 F
Q M6
. R Y 7/
min. 41.5 @9H7/2.’|
@D 7H7/.6
72.4
44 60+0015 D 58
37
o o oo s0Pis09
o © G aod S| o0 ]l © © |
A | = S o SO ] ¢
Sl == & X ek
] OFe) s @ @
300.015 M8 26.5
35 48 +0.015 @ 12H7/2.5 48 +0.015 48.4
113

Q Bores can be screwed through

198 Handling technology HT components linear afag.com



Technical data

ES40

Attachment grid 60 x 60 mm

Attachment thread M8

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50465218 50465219 50465220 50465221 50465222 50465223
Stroke H 100 mm 100 mm 200 mm 300 mm 400 mm 500 mm
Net weight 8.23 kg 10.08 kg 11.65 kg 13.35kg 14.91 kg 17.11kg
Moving weight 3.84 kg 5.33 kg 6.48 kg 7.67 kg 8.91 kg 10.5 kg
Max. speed 2m/s 2m/s 2m/s 2m/s 2m/s 1.8m/s
Nominal voltage 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC
Drive Linear motor, electric

Protection type IP 30 IP 30 IP 30 IP 30 IP 30 IP 30

Peak force Fx 550 N 550 N 550N 550N 550N 550 N
Constant force Fx 145N 145N 145N 145N 145N 145N

Force constant 22 N/A 22 N/A 22 N/A 22 N/A 22 N/A 22 N/A
Repeat accuracy +/-0.05mm +/-0.05mm +/-0.05mm +/-0.05mm +/-0.05mm +/-0.05 mm
;i\;"g'tsy‘z:;fnmal position measu- ) .02 mm  +/-0.02mm  +/-0.02mm +-0.02mm +-0.02mm +/-0.02 mm
Mounting position - 4+ 4+ + - -

Note: For vertical installation, a weight compensation via MagSpring or pneumatic weight balancing is required. If the weight compensation is not carried out, the slide will fall
below when in a deenergised state. Furthermore, the operation time from the operation time diagram cannot be achieved.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @12x4.8
= 4x Mounting screw M8x25

Accessories

(Product-specific accessories)
= MagSpring side/front

= External position measuring system ES40

(Catalogue HT accessories)
= Motor cable-M17

= Controller C1xxx-1S
= Plug kit for CTxxx-1S
m USB-RS232 Converter for controllers
= Power supply SO1-72/1000, 3-phase
= Double module support centric MTZ 45x2c

Alternative accessories

(Catalogue HT accessories)
= Additional motor cables

= Additional controllers
= Additional power supplies

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT components linear

199



Preferred combinations ES40

1,3 <direct> 2 1,3 <direct >
3 VP 142 2 1 VP 119
3 VP 142 2 1 < direct > 1
3 VP 142 2 1,3 <direct> 1
3 <direct> 2
3 <direct> 2 1,3 <direct> 2
3 <directs 2 1,3 <direct > 2
1 VP 142 by 1,3 <direct> 2
2.3 <direct> 2 3 VP 142 2
1 <direct> 2 1,3 VP 146 1
1,3 VP 142 1
1,3 VP 146 1
1 VP 150 1,2
3 VP 150 1
1 <direct> 1,2
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 1 1
2 2 5
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
s B Ioh | T IR E [ 2[R
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one. The required connection ele-
ments and the range of support columns are depicted in the catalogue HT accessories.

200 Handling technology HT components linear afag.com



Module stresses

ES40-100-SL

ES40-100

ES40-200

ES40

ES40-300 ES40-400 ES40-500

Max. dynamic torque Mx 35Nm 45 Nm 45 Nm 45 Nm 45 Nm 45 Nm
Max. dynamic torque My 80 Nm 180 Nm 180 Nm 180 Nm 180 Nm 200 Nm
Max. dynamic torque Mz 80 Nm 180 Nm 180 Nm 180 Nm 180 Nm 200 Nm

ES40-100-SL

Maximum payload/type

Installation position (horizontal)

ES40-100

ES40-200

ES40-300 ES40-400 ES40-500

for mounting side 1/3 25kg 30kg 30kg 30kg 30kg 30kg
Installation position (vertical)

for mounting side 1/3 8kg 6kg kg 4kg
Assembly sides module mounting  horizontal: 3 vertical:

—l

Diagrams ES40

Operation time ES40
1400
1300
1200
1100
1000
900
o
£ 80
@
N 700
600 L —
500 L Hub
= 500 mm
400 400mm  —— ——
300 300mm — — —
200 mm
00— 100 mm
100 100 mm-SL
0 5 10 15 20 25 30
Masse [kg]

Die Fahrzeiten wurden unter den nachfolgenden Bedingungen gemessen:

- horizontal

- Umgebungstemperatur 20 °C
- Servoregler C1150-1S-PN

- Motorspannung 72 VDC

- Motorkabel-M17-8m-0-1-1

The times refer to break times of 200 ms.

afag.com

Deflection ES40

Durchbiegung [mm]

07

06

05

04

03

02

01

Hub
500 mm

400 mm
300 mm

d
_—

—

200 mm
100 mm
100mm-SL —— — —

N
|

150
Kraft [N]

200 250 300

Handling technology HT components linear

201



202

Ordering example

Electric slide MagSpring

Order form

Coordinate system

The coordinate system allows you to define the position of
the MagSpring as well as that of the external position
measuring system.

Ordering example 1 with MagSpring

XXXXXXXX

External position
measuring system

= P=left
= O=top
= S =right

X

Ordering example 2 with MagSpring and external position measuring system

Ordering process

= Select the desired electric slide, external position measuring system and MagSpring from the order key.
= Enter the corresponding red order numbers in the order form in the place of the cross.

50470245

X

Position
MagSpring

= Determine the desired position of the MagSpring and the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

MagSpring

= The MagSpring serves to balance the weight forces in a vertical installation position.
= The dimensioning of the MagSpring must match the moving weight in the vertical installation position.

External position measuring system

= The external position measuring system must be ordered in accordance with the module length.

Handling technology HT components linear

ES40

X

©
c
=
9]
L
3
9]
c
o
=
wv
o
o

IS
T
)
[
=
(%]
o
c
=
=
%)
©
v
IS
c
]
=
v
(@]
o

afag.com



Order key ES40

XXXXXXXX XXXXXXXX XXXXXXXX

ES40-100-SL 50465218 MagSpring MagSpring External position
side (s) front (v) measuring system

ES40-100 50465219

ES40-200 50465220

ES40-300 50465221

ES40-400 50465222

ES40-500 50465223

Electro slide
Position MagSpring | %

MagSpring ES40 s/v 40N 50470226 50470229
MagSpring ES40 s/v 50N 50470227 50470230
MagSpring ES40 s/v 60N 50470228 50470231

ES40-100

Position external position measuring system | x

MagSpring for

MagSpring ES40 s/v 40N 50470232 50470235
MagSpring ES40 s/v 50N 50470233 50470236
MagSpring ES40 s/v 60N 50470234 | 50470237

MagSpring for

MagSpring ES40 s/v 40N 50470238 50470241
MagSpring ES40 s/v 50N 50470239 50470242
MagSpring ES40 s/v 60N 50470240 50470243

o
S
iy
=3
<
an
L

P
(<]
Y=
()]
(=
=
Q.
(%]
()]
©
=

Without MagSpring X

External position measuring system ES40 100mm 50470244

External position measuring system ES40 200mm 50470245

External position measuring system ES40 300mm 50470246

External position measuring system ES40 400mm 50470247

External position
measuring system

External position measuring system ES40 500mm 50470248

Without external position measuring system X

Position MagSpring 0

Mounting

afag.com Handling technology HT components linear 203



204 Handling technology HT Components linear afag.com



O afag

Electro slides ES40-HP
ES40-HP

= The strongest gantry axis of its kind
= Freely programmable
= For press-in tasks up to 1000 N

afag.com Handling technology HT Components linear 205



206

Dimensions and dimension drawings

245 mm 445 mm 545 mm

O N @ >

121.5 60 +0.015 o
St

ES40-HP

1x60 mm 2x60 mm 2x60 mm 2x60 mm 2x60 mm 3x60 mm

645 mm 745 mm 1024 mm

534.5 mm 534.5 mm 654.5 mm 744.5 mm 8345 mm 1031.5 mm
2x60 mm 6x60 mm 7x60 mm  9x60 mm 11x60 mm 15x60 mm

@ - 270° rotatable connector

o0
00
L)y L

|| o o §
A 10 5
o ke
N~ o
T e}
o
S 60 +0.015
C ‘ 48 +0.015
‘ 1N
B 30+0.015 S
:
in x
3 f IS
(@)
A |
o U [T3)
. « o 13
De ] g | g '/ —I_ 0,2 ﬁ?l
g (@)
S / ©
0
|| < I
- - — —
o =
20 2
M6
. « M4
min. 41.5 O 9H7/2.1
@ 7H7/.6
72.4
44 6010015 D 58
37
. 0\
0 o oo 8§09 09
ol |e B o 0 T o o ‘
i | 3 | S 2 | O e
Sl == S X )
| 0@ "s08 1
30+0.015 M8 26.5
35 48+0.015 D 12H7/2.5 48 +0.015 48.4
113
Q Bores can be screwed through
afag.com

Handling technology HT components linear



Technical data

Attachment grid
Attachment thread
Operating temperature
Storage temperature
Humidity

Order number

50465225 50465226 50465227

ES40-HP

60 x 60 mm
M8
0-50°C
0-50°C
<90 %

50465228 50465229 50465230

Stroke H

Net weight
Moving weight
Max. speed
Nominal voltage
Drive

Protection type
Peak force Fx
Constant force Fx
Force constant
Repeat accuracy

- with external position measu-
ring system
Mounting position

100 mm 100 mm 200 mm 300 mm 400 mm 500 mm
10.08 kg 11.9kg 13.7 kg 15.21 kg 16.73 kg 18.91 kg
4.27 kg 5.75kg 7.04 kg 8.18 kg 9.34 kg 11.06 kg

2m/s 2m/s 1.8 m/s 1.8m/s 1.8 m/s 1.7 m/s
72 VDC 72 VDC 72 VDC 72 VDC 72 VDC 72 VDC

Linear motor, electric

IP 30 IP 30 IP 30 IP 30 IP 30 IP 30
1024 N 1024 N 1024 N 1024 N 1024 N 1024 N
203N 203N 203N 203N 203N 203N
32 N/A 32 N/A 32 N/A 32 N/A 32 N/A 32 N/A

+/-0.05mm +/-0.05mm +/-0.05mm +/-0.05mm +/-0.05mm +/-0.05mm

+/-0.02mm +/-0.02mm +/-0.02mm +/-0.02mm +/-0.02mm +/-0.02 mm

«:-» «:-» «:—»

4{-» «:—» «:-»

Note: For vertical installation, a weight compensation via MagSpring or pneumatic weight balancing is required. If the weight compensation is not carried out, the slide will fall
below when in a deenergised state. Furthermore, the operation time from the operation time diagram cannot be achieved.

Cleanroom class ISO 14644-1, class ISO 7

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @12x4.8
= 4x Mounting screw M8x25

Accessories

(Product-specific accessories)

= MagSpring side/front

= External position measuring system ES40
(Catalogue HT accessories)

= Motor cable-M17

= Controller C1xxx-1S

= Plug kit for CTxxx-1S

m USB-RS232 Converter for controllers

= Power supply SO1-72/1000, 3-phase

= Double module support centric MTZ 45x2c

Alternative accessories
(Catalogue HT accessories)
= Additional motor cables

= Additional controllers

= Additional power supplies

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT components linear

207



Preferred combinations

1,3 <direct >
VP 142
VP 142

< direct >

< direct >
VP 142
2,3 <direct>

- W w w w

1 < direct >

NN NN NN NNDN

2,3 <direct>

Mounting areas

CS, ES PS LM, LE
3

3 3
—1 i — I(H__HI
2 2 2

PMP, PMP-c PEZ, PDZ PEL, PDL

3 3 3
a[ L) 1O 2 [oh| [_—_1n
2 2 2

Note that there might be different mounting positions from one module to another one. The required connection

HM
1
gl
2
CR, RM 32, RE, SREH

1Bﬂ3
2

1,3
1,3
1,3

1,3

1,3
1,3

SA
1
=
3
RM, RE

1|
2

elements and the range of support columns are depicted in the catalogue HT accessories.

208 Handling technology HT components linear

< direct >
< direct >
< direct >

< direct >
< direct >

VP 146
VP 142

< direct >

ES40-HP

- N NN

1,2

=)

2

UG, GM, SG, DG, PG, GE

2[1H
3

afag.com



Module stresses

ES40-HP

ES40-100- ES40-100- ES40-200- ES40-300- ES40-400- ES40-500-
HP-SL HP HP HP HP HP
Max. dynamic torque Mx 40 Nm 45 Nm 45 Nm 45 Nm 45 Nm 45 Nm
Max. dynamic torque My 80 Nm 180 Nm 180 Nm 180 Nm 180 Nm 200 Nm
Max. dynamic torque Mz 80 Nm 180 Nm 180 Nm 180 Nm 180 Nm 200 Nm

ES40-100- ES40-100- ES40-200- ES40-300-
HP-SL HP HP HP

Maximum payload/type

Installation position (horizontal)

ES40-400-

HP

ES40-500-
HP

for mounting side 1/3 25kg 30kg 30kg 30 kg 30 kg 30 kg
Installation position (vertical)

for mounting side 1/3 7kg 6kg 4kg 3kg
Assembly sides module mounting  horizontal: 3 vertical:

—l

1
DiagramsES40-HP

Operation time ES40-HP Deflection ES40-HP
900 07
800 06
700
_ 05
600 £
5 — 2 04
£ 50 2 -
N — 5 03 ~
400 = g
e — Hub P
300 = | 500mm  —————— 02 > — =
= 400mm — — e _—
20 o 0mm — — — 01 =
200 mm L =
100 - 100 mm /4 =
100mm-SL 0 50 100 150 200 250
0 5 10 15 20 2% 30
Masse [kg] Kraft [N]

Die Fahrzeiten wurden unter den nachfolgenden Bedingungen gemessen:

- horizontal

- Umgebungstemperatur 20 °C

- Servoregler E1250-1S-PN (32A)
- Motorspannung 72 VDC

- Motorkabel-M17-8m-0-1-1

The times refer to break times of 200 ms.

300

Hub

500 mm

400mm — —
300 mm

200 mm

100 mm

100mm-SL —— — —

afag.com Handling technology HT components linear

209



210

Ordering example

Electric slide MagSpring

Order form

Coordinate system

The coordinate system allows you to define the position of
the MagSpring as well as that of the external position
measuring system.

Ordering example 1 with MagSpring

XXXXXXXX

External position
measuring system

= P=left
= O=top
= S =right

X

Ordering example 2 with MagSpring and external position measuring system

Ordering process

= Select the desired electric slide, external position measuring system and MagSpring from the order key.
= Enter the corresponding red order numbers in the order form in the place of the cross.

50470245

X

Position
MagSpring

= Determine the desired position of the MagSpring and the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

MagSpring

= The MagSpring serves to balance the weight forces in a vertical installation position.
= The dimensioning of the MagSpring must match the moving weight in the vertical installation position.

External position measuring system

= The external position measuring system must be ordered in accordance with the module length.

Handling technology HT components linear

ES40-HP

X

©
c
=
9]
L
3
9]
c
o
=
wv
o
o

IS
T
)
[
=
(%]
o
c
=
=
%)
©
v
IS
c
]
=
v
(@]
o

afag.com



Order key ES40-HP

XXXXXXXX XXXXXXXX XXXXXXXX

ES40-100-HP-SL 50465225 MagSpring MagSpring External position
side (s) front (v) measuring system

ES40-100-HP 50465226

ES40-200-HP 50465227

ES40-300-HP 50465228

ES40-400-HP 50465229

ES40-500-HP 50465230

Electro slide

Position external position measuring system | x

Position MagSpring | %

MagSpring ES40 s/v 40N 50470226 50470229
MagSpring ES40 s/v 50N 50470227 50470230
MagSpring ES40 s/v 60N 50470228 50470231

MagSpring for

MagSpring ES40 s/v 40N 50470232 50470235
MagSpring ES40 s/v 50N 50470233 50470236
MagSpring ES40 s/v 60N 50470234 | 50470237

MagSpring for

MagSpring ES40 s/v 40N 50470238 50470241
MagSpring ES40 s/v 50N 50470239 50470242
MagSpring ES40 s/v 60N 50470240 50470243

—
O Ao
oz
£8
A
oS
c
EI.IJ

Without MagSpring X

External position measuring system ES40 100mm 50470244

External position measuring system ES40 200mm 50470245

External position measuring system ES40 300mm 50470246

External position measuring system ES40 400mm 50470247

External position
measuring system

External position measuring system ES40 500mm 50470248

Without external position measuring system X

Position MagSpring 0

(=)
=
=}
=
>
<]
=
P
S

afag.com Handling technology HT components linear 211



212 Handling technology HT Components linear afag.com



Accessories ES

The MagSpring is a passive component which supplies a constant force via a specific stroke range based on permanent
magnets. This balances the load mass for vertically installed axes. Furthermore, the peripherals and the workpiece are also

Overview MagSpring ES20

prevented from falling when the electric slide is in a deenergised state.
The MagSpring and holder are provided in accordance with the ES electric slides ES20, ES30 and ES40. This can be

mounted on the left, right or front side of the axis.

Advantages:

= Constant force over the entire stroke range
= Qverstretching of the spring is impossible
= Energy-efficient weight compensation

MagSpring ES20-50-SL

MagSpring ES20 s 11N 050mm
MagSpring ES20 s 17N 050mm
MagSpring ES20 s 22N 050mm
MagSpring ES20 v 11N 050mm
MagSpring ES20 v 17N 050mm
MagSpring ES20 v 22N 050mm
MagSpring ES20 s 40N 050mm
MagSpring ES20 s 50N 050mm
MagSpring ES20 s 60N 050mm
MagSpring ES20 v 40N 050mm
MagSpring ES20 v 50N 050mm
MagSpring ES20 v 60N 050mm

MagSpring ES20-200

MagSpring ES20 s 11N 200mm
MagSpring ES20 s 17N 200mm
MagSpring ES20 s 22N 200mm
MagSpring ES20 v 11N 200mm
MagSpring ES20 v 17N 200mm
MagSpring ES20 v 22N 200mm
MagSpring ES20 s 40N 200mm
MagSpring ES20 s 50N 200mm
MagSpring ES20 s 60N 200mm
MagSpring ES20 v 40N 200mm
MagSpring ES20 v 50N 200mm
MagSpring ES20 v 60N 200mm

afag.com

Order number
50427548
50427549
50427550
50427554
50427555
50427556
50427551
50427552
50427553
50427557
50427558
50427559

Order number
50427574
50427575
50427576
50427580
50427581
50427582
50427577
50427578
50427579
50427583
50427584
50427585

MagSpring ES20-100-SL

MagSpring ES20s 11N 100mm
MagSpring ES20 s 17N 100mm
MagSpring ES20 s 22N 100mm
MagSpring ES20 v 11N 100mm
MagSpring ES20 v 17N 100mm
MagSpring ES20 v 22N 100mm
MagSpring ES20 s 40N 100mm
MagSpring ES20 s 50N 100mm
MagSpring ES20 s 60N 100mm
MagSpring ES20 v 40N 100mm
MagSpring ES20 v 50N 100mm
MagSpring ES20 v 60N 100mm

MagSpring ES20-300

MagSpring ES20 s 11N 300mm
MagSpring ES20 s 17N 300mm
MagSpring ES20 s 22N 300mm
MagSpring ES20 v 11N 300mm
MagSpring ES20 v 17N 300mm
MagSpring ES20 v 22N 300mm
MagSpring ES20 s 40N 300mm
MagSpring ES20 s 50N 300mm
MagSpring ES20 s 60N 300mm
MagSpring ES20 v 40N 300mm
MagSpring ES20 v 50N 300mm
MagSpring ES20 v 60N 300mm

Handling technology HT Components linear

Order number
50427561
50427562
50427563
50427567
50427568
50427569
50427564
50427565
50427566
50427570
50427571
50427572

Order number
50427587
50427588
50427589
50427593
50427594
50427595
50427590
50427591
50427592
50427596
50427597
50427598

213



214

MagSpring

165mm 245mm 325mm 405 mm
B 130mm  210mm 290 mm 370 mm
32
N
Yo
o & © _oo| @)
< ©© ©e @©T’(/,,J -
%QQ,J 5
12 i
72 _
©20
@12 |
B
K
is
|
© o
< |
<
o e}
o
‘
| T
o O ]

Handling technology HT Components linear

MagSpring ES20 11N-22N

165 mm
130 mm

245 mm
210 mm

325mm 405 mm
290 mm 370 mm

12

84.4
©
©

119.7

012

=R

PATAN S|

[0
[Hle]

208

afag.com



MagSpring MagSpring ES20 11N-22N

Order number 50427548 50427549 50427550 50427554 50427555 50427556

Stroke H 50 mm 50 mm 50 mm 50 mm 50 mm 50 mm

Net weight 0.235kg 0.235kg 0.235kg 0.265kg 0.265kg 0.265kg

Permanent force TN 17N 22N 11N 17N 22N m

Order number 50427561 50427562 50427563 50427567 50427568 50427569
Stroke H 100 mm 100 mm 100 mm 100 mm 100 mm 100 mm
Net weight 0.42 kg 0.42 kg 0.42 kg 0.45 kg 0.45 kg 0.45 kg
Permanent force 11N 17N 22N 11N 17N 22N

Order number 50427574 50427575 50427576 50427580 50427581 50427582
Stroke H 200 mm 200 mm 200 mm 200 mm 200 mm 200 mm
Net weight 0.59kg 0.59kg 0.59 kg 0.62 kg 0.62 kg 0.62 kg
Permanent force 11N 17N 22N 11N 17N 22N

Order number 50427587 50427588 50427589 50427593 50427594 50427595
Stroke H 290 mm 290 mm 290 mm 290 mm 290 mm 290 mm
Net weight 0.753kg 0.753kg 0.753 kg 0.783 kg 0.783kg 0.783kg
Permanent force 11N 17N 22N 11N 17N 22N

afag.com Handling technology HT Components linear 215



I\/IagSpring MagSpring ES20 40N-60N

165mm 245mm 325mm 405 mm 165mm 245mm 325mm 405 mm
B 150mm  210mm 300mm 375 mm 150mm  225mm  300mm 375 mm
51 ©
132)
<
™ A
o gE )
Yo}
@ ) 3 "o, @O
> N |
©0 0©
(5)0~|
e\ © |
B \ = )
12| 5CsC°c |
91
»37
oz
B 52
i@
0 o
o
N
<
[an]
fe)
ol
o —~h
B . @]
i jlﬁ S
o o -
<C
o

216 Handling technology HT Components linear afag.com



I\/IagSpring MagSpring ES20 40N-60N

Order number 50427551 50427552 50427553 50427557 50427558 50427559

Stroke H 50 mm 50 mm 50 mm 50 mm 50 mm 50 mm

Net weight 0.632 kg 0.632 kg 0.632 kg 0.662 kg 0.662 kg 0.662 kg

Permanent force 40N 50 N 60N 40N 50 N 60N m

Order number 50427564 50427565 50427566 50427570 50427571 50427572
Stroke H 100 mm 100 mm 100 mm 100 mm 100 mm 100 mm
Net weight 1.152 kg 1.152 kg 1.152 kg 1.182 kg 1.182 kg 1.182 kg
Permanent force 40N 50N 60N 40N 50N 60N

Order number 50427577 50427578 50427579 50427583 50427584 50427585
Stroke H 200 mm 200 mm 200 mm 200 mm 200 mm 200 mm
Net weight 1.657 kg 1.657 kg 1.657 kg 1.687 kg 1.687 kg 1.687 kg
Permanent force 40N 50N 60 N 40N 50N 60N

Order number 50427590 50427591 50427592 50427596 50427597 50427598
Stroke H 275 mm 275 mm 275 mm 275 mm 275 mm 275 mm
Net weight 2.197 kg 2.197 kg 2.197 kg 2.227 kg 2.227 kg 2.227kg
Permanent force 40N 50N 60N 40N 50N 60N

afag.com Handling technology HT Components linear 217



218 Handling technology HT Components linear afag.com



Accessories ES

The MagSpring is a passive component which supplies a constant force via a specific stroke range based on permanent
magnets. This balances the load mass for vertically installed axes. Furthermore, the peripherals and the workpiece are also

Overview MagSpring ES30

prevented from falling when the electric slide is in a deenergised state.
The MagSpring and holder are provided in accordance with the ES electric slides ES20, ES30 and ES40. This can be

mounted on the left, right or front side of the axis.

Advantages:

= Constant force over the entire stroke range
= Qverstretching of the spring is impossible
= Energy-efficient weight compensation»

MagSpring ES30-50/-SL

MagSpring ES30 s 11N 050mm
MagSpring ES30 s 17N 050mm
MagSpring ES30 s 22N 050mm
MagSpring ES30 v 11N 050mm
MagSpring ES30 v 17N 050mm
MagSpring ES30 v 22N 050mm
MagSpring ES30 s 40N 050mm
MagSpring ES30 s 50N 050mm
MagSpring ES30 s 60N 050mm
MagSpring ES30 v 40N 050mm
MagSpring ES30 v 50N 050mm
MagSpring ES30 v 60N 050mm

Order number
50429205
50429206
50429207
50429211
50429212
50429213
50429208
50429209
50429210
50429214
50429215
50429216

MagSpring ES30-200/-SL

MagSpring ES30 s 11N 200mm
MagSpring ES30 s 17N 200mm
MagSpring ES30 s 22N 200mm
MagSpring ES30 v 11N 200mm
MagSpring ES30 v 17N 200mm
MagSpring ES30 v 22N 200mm
MagSpring ES30 s 40N 200mm
MagSpring ES30 s 50N 200mm
MagSpring ES30 s 60N 200mm
MagSpring ES30 v 40N 200mm
MagSpring ES30 v 50N 200mm
MagSpring ES30 v 60N 200mm

afag.com

Order number
50429231
50429232
50429233
50429237
50429238
50429239
50429234
50429235
50429236
50429240
50429241
50429242

MagSpring ES30-100/-SL

MagSpring ES30s 11N 100mm
MagSpring ES30's 17N 100mm
MagSpring ES30 s 22N 100mm
MagSpring ES30 v 11N 100mm
MagSpring ES30 v 17N 100mm
MagSpring ES30 v 22N 100mm
MagSpring ES30 s 40N 100mm
MagSpring ES30 s 50N 100mm
MagSpring ES30 s 60N 100mm
MagSpring ES30 v 40N 100mm
MagSpring ES30 v 50N 100mm
MagSpring ES30 v 60N 100mm

MagSpring ES30-300

MagSpring ES30's 11N 300mm
MagSpring ES30 s 17N 300mm
MagSpring ES30 s 22N 300mm
MagSpring ES30 v 11N 300mm
MagSpring ES30 v 17N 300mm
MagSpring ES30 v 22N 300mm
MagSpring ES30 s 40N 300mm
MagSpring ES30 s 50N 300mm
MagSpring ES30 s 60N 300mm
MagSpring ES30 v 40N 300mm
MagSpring ES30 v 50N 300mm
MagSpring ES30 v 60N 300mm

Handling technology HT Components linear

Order number
50429218
50429219
50429220
50429224
50429225
50429226
50429221
50429222
50429223
50429227
50429228
50429229

Order number
50429244
50429245
50429246
50429250
50429251
50429252
50429247
50429248
50429249
50429253
50429254
50429255

219



MagSpring MagSpring ES30 11N-22N

165mm 245mm 325mm 405 mm 165mm 245mm 325mm 405 mm
B 130mm  210mm 290 mm 370 mm 130mm  210mm 290 mm 370 mm
32.25 18.25
A
©
S =
o T 1R
= -
AR Yo)
—
!
92
0 20
4 12
012 ’ @

[EN4
NG

1Al
L 197

288
[@fe]
S
HO)
T
Y
L 197

=— — 0 :
=0 ° O = N S e R
< I
@ Ny, O
m \Eé
g | =
e | B = ®© &= ©
H © © [ o ‘
! ‘g g‘
o)
| oot
!
_ 110

220 Handling technology HT Components linear afag.com



MagSpring MagSpring ES30 11N-22N

Order number 50429205 50429206 50429207 50429211 50429212 50429213

Stroke H 50 mm 50 mm 50 mm 50 mm 50 mm 50 mm

Net weight 0.243kg 0.243kg 0.243 kg 0.315kg 0.315kg 0.315kg

Permanent force TN 17N 22N 11N 17N 22N m

Order number 50429218 50429219 50429220 50429224 50429225 50429226
Stroke H 100 mm 100 mm 100 mm 100 mm 100 mm 100 mm
Net weight 0.428 kg 0.428 kg 0.428 kg 0.5kg 0.5kg 0.5kg
Permanent force 11N 17N 22N 11N 17N 22N

Order number 50429231 50429232 50429233 50429237 50429238 50429239
Stroke H 200 mm 200 mm 200 mm 200 mm 200 mm 200 mm
Net weight 0.598 kg 0.598 kg 0.598 kg 0.67 kg 0.67 kg 0.67 kg
Permanent force 11N 17N 22N 11N 17N 22N

Order number 50429244 50429245 50429246 50429250 50429251 50429252
Stroke H 290 mm 290 mm 290 mm 290 mm 290 mm 290 mm
Net weight 0.761kg 0.761 kg 0.761 kg 0.833kg 0.833kg 0.833kg
Permanent force 11N 17N 22N 11N 17N 22N

afag.com Handling technology HT Components linear 221



MagSpring

165mm 245
B 150 mm 225

51.25

mm  325mm 405 mm

mm 300mm 375 mm

70.5

119.5

111

@37

@12

10

L 107

288

; :
() D -
© |
N

< m ——— © %

r T —

222 Handling technology HT Components linear

MagSpring ES30 40N-60N

165mm 245mm 325mm 405 mm
150mm  225mm  300mm 375 mm

125

170.5

18.25

288

00O

A
B
)
1
©

® @
© ©

10!
)
A

afag.com



I\/IagSpring MagSpring ES30 40N-60N

Order number 50429208 50429209 50429210 50429214 50429215 50429216

Stroke H 50 mm 50 mm 50 mm 50 mm 50 mm 50 mm

Net weight 0.646 kg 0.646 kg 0.646 kg 0.718 kg 0.718 kg 0.718 kg

Permanent force 40N 50 N 60N 40N 50 N 60N m

Order number 50429221 50429222 50429223 50429227 50429228 50429229
Stroke H 100 mm 100 mm 100 mm 100 mm 100 mm 100 mm
Net weight 1.166 kg 1.166 kg 1.166 kg 1.238kg 1.238kg 1.238 kg
Permanent force 40N 50N 60N 40N 50N 60N

Order number 50429234 50429235 50429236 50429240 50429241 50429242
Stroke H 200 mm 200 mm 200 mm 200 mm 200 mm 200 mm
Net weight 1.671kg 1.671kg 1.671kg 1.743 kg 1.743 kg 1.743 kg
Permanent force 40N 50N 60 N 40N 50N 60 N

Order number 50429247 50429248 50429249 50429253 50429254 50429255
Stroke H 275 mm 275 mm 275 mm 275 mm 275 mm 275 mm
Net weight 2.211kg 2.211kg 2.211kg 2.283kg 2.283kg 2.283kg
Permanent force 40N 50N 60N 40N 50N 60N

afag.com Handling technology HT Components linear 223



224 Handling technology HT Components linear afag.com



Accessories ES

The MagSpring is a passive component which supplies a constant force via a specific stroke range based on permanent
magnets. This balances the load mass for vertically installed axes. Furthermore, the peripherals and the workpiece are also

Overview MagSpring ES40

prevented from falling when the electric slide is in a deenergised state.
The MagSpring and holder are provided in accordance with the ES electric slides ES20, ES30 and ES40. This can be

mounted on the left, right or front side of the axis.

Advantages:

= Constant force over the entire stroke range
= Qverstretching of the spring is impossible
= Energy-efficient weight compensation

MagSpring ES40-100/-HP/-SL

MagSpring ES40 s 40N 100mm
MagSpring ES40 s 50N 100mm
MagSpring ES40 s 60N 100mm
MagSpring ES40 v 40N 100mm
MagSpring ES40 v 50N 100mm
MagSpring ES40 v 60N 100mm

Order number
50470226
50470227
50470228
50470229
50470230
50470231

MagSpring ES40-300/-HP

MagSpring ES40 s 40N 300mm
MagSpring ES40 s 50N 300mm
MagSpring ES40 s 60N 300mm
MagSpring ES40 v 40N 300mm
MagSpring ES40 v 50N 300mm
MagSpring ES40 v 60N 300mm

afag.com

Order number
50470238
50470239
50470240
50470241
50470242
50470243

MagSpring E40-200/-HP

MagSpring ES40 s 40N 200mm
MagSpring ES40 s 50N 200mm
MagSpring ES40 s 60N 200mm
MagSpring ES40 v 40N 200mm
MagSpring ES40 v 50N 200mm
MagSpring ES40 v 60N 200mm

Handling technology HT Components linear

Order number
50470232
50470233
50470234
50470235
50470236
50470237

225



Accessories ES Magspring ES40 40N-60N

A 2455 mm 325.5mm 405.5 mm A 2455 mm 325.5mm 405.5 mm
B 238 mm 300.5 mm 363 mm B 238 mm 300.5 mm 363 mm
515 14.5
I
~ &)
< N~
N~ w0
M~ 0 -—
<
N
131.5
l -
‘Ha
|
|
|
|
@31 ¢
D12 l
|
|
—r®1
P
i
| @H-E
I
<| m .
| @% <
| % i
|
b 9 &
ooioo ETﬁ o[®
‘ i 1T

226 Handling technology HT Components linear afag.com



Accessories ES Magspring ES40 40N-60N

Order number 50470226 50470227 50470228 50470229 50470230 50470231

Stroke H 100 mm 100 mm 100 mm 100 mm 100 mm 100 mm

Net weight 1.205kg 1.205kg 1.205kg 1.295kg 1.295kg 1.295kg

Permanent force 40N 50 N 60 N 40N 50N 60N m

Order number 50470232 50470233 50470234 50470235 50470236 50470237
Stroke H 200 mm 200 mm 200 mm 200 mm 200 mm 200 mm
Net weight 1.842 kg 1.842 kg 1.842 kg 2.02 kg 2.02 kg 2.02 kg
Permanent force 40N 50N 60N 40N 50N 60N

Order number 50470238 50470239 50470240 50470241 50470242 50470243
Stroke H 275 mm 275 mm 275 mm 275 mm 275 mm 275 mm
Net weight 2.382kg 2.382kg 2.382kg 2.56 kg 2.56 kg 2.56 kg
Permanent force 40N 50N 60 N 40N 50N 60N

afag.com Handling technology HT Components linear 227



228 Handling technology HT Components linear afag.com



Accessories ES

External position measuring system for ES20, ES30 and ES40

External position measuring system ES

The contact-free, absolute, magnetic-based position measuring system with integrated analysis electronics is used where-
ver the axes cannot be securely referenced. In addition, a high positional accuracy and smooth movements are also achie-
ved. The system consists of a sensor and a strip on which magnetic information is stored. Both components are fixed to the

module.

The motor’s internal position sensor achieves a repeat accuracy of £ 0.05 mm and an absolute accuracy deviation of
between 0.1% and 0.4% (depending on the drive unit). If this does not suffice, we recommend an external position

measuring system.

Advantages:

= Referencing not necessary

= High absolute accuracy

= Smooth movements

= Minimization of control noises

Order numbers for ES20:

External position measuring system ES20 050mm
External position measuring system ES20 100mm
External position measuring system ES20 200mm
External position measuring system ES20 300mm

Order numbers for ES30:

External position measuring system ES30 050mm
External position measuring system ES30 100mm
External position measuring system ES30 200mm
External position measuring system ES30 300mm
External position measuring system ES30 400mm
External position measuring system ES30 500mm

Order numbers for ES40:

External position measuring system ES40 100mm
External position measuring system ES40 200mm
External position measuring system ES40 300mm
External position measuring system ES40 400mm
External position measuring system ES40 500mm

afag.com

50427547
50427560
50427573
50427586

50429204
50429217
50429230
50429243
50429256
50429257

50470244
50470245
50470246
50470247
50470248

Handling technology HT Components linear

229



Accessories ES

Order number 50427547 50427560 50427573 50427586
Net weight 0.143 kg 0.149kg 0.158 kg 0.17 kg
Repeat accuracy +/-0.02mm +/-0.02mm +/-0.02 mm +/-0.02 mm
A 136 mm 186 mm 286 mm 386 mm
31
A 4
9.9 | | 82.6 3.25
( © ©
[e] NI [¢] o L0 | O
~ <t i
— ~ Lo
(e}
K
- @ 2% M3x16 2x M3x16 |:|:
@ — I
w0
St g 22.3
75
20
Attachment only for:
. ol __ - £S20-50-5L
B _ - ES20-100-SL
~
K —

M12x1

230 Handling technology HT Components linear afag.com



Accessories ES

Order number 50429204 50429217 50429230 50429243 50429256 50429257
Net weight 0.144 kg 0.15kg 0.163 kg 0.175kg 0.188kg 0.2 kg
Repeat accuracy +/-0.02 mm +/-0.02 mm +/-0.02mm +/-0.02mm +/-0.02 mm +/-0.02 mm
A 136 mm 186 mm 286 mm 386 mm 486 mm 586 mm
3 A N 356
82.6 .| 5.057
’ I
© (. T
S | = ° ©
~ |
|
| 2xM3x16 =
Lo
co
N & ™
o — —
\ C
®) — \
I
6 |
_ |2 18.4
43 = -

M12x1

21.1

afag.com Handling technology HT Components linear 231



Accessories ES

Order number

External position measuring system ES

50470244 50470245 50470246 50470247 50470248
Net weight 0.172 kg 0.185kg 0.197 kg 0.21 kg 0.222 kg
Repeat accuracy +/-0.02mm +/-0.02mm +/-0.02mm +/-0.02mm +/-0.02 mm
A 186 mm 286 mm 386 mm 486 mm 586 mm
A
82.6 5 315
5 =C ©)
~ (@)
o
=
U Lr).
N~
11.6 17.5
- 30
>
N
= =,
. m©eo S

232 Handling technology HT Components linear

afag.com



afag.com Handling technology HT Components linear 233



O afag

Telescope spindle axis SA
SA-1 - SA-6

234 Handling technology HT Components linear

afag.co



Table of contents: SA

SA-1 237
SA-6 257

Accessories SA

afag.com Handling technology HT Components linear 235



236 Handling technology HT Components linear afag.com



O afag

Telescope spindle axis SA
SA-1 & SA-1-FL

m Extremely compact and higher power density for -FL variety
= Flexible motor mounting
® Precise spindle drive

afag.com Handling technology HT Components linear 237



Dimensions and dimension drawings SA-1/ SA-1-FL

213.5mm 263.5mm 313.5mm

B 74 mm 124 mm 174 mm
c 793 mm 71293 mm T7179.3 mm
7109.3mm TT159.3 mm 77"209.3 mm
D 306 mm 356 mm 410 mm
336 mm 386 mm 440 mm
E 4 X 6 X 7 X
H 50 mm 100 mm 150 mm
20 +0.015 JD]
20 £0.015

12 - - w

N

‘ _ g T

ol s % © 7{) < F I ) ) ) L )
s—= e | [ il
M3
@5H7/1.3
@5H7/1.3
M3 |, B 28 %0
ki © 20 £0.015 20 x0.01§ 20 +0.014 ©
L@ 8, 00 % T8 W (=
< | < g _ = ) ) O _ _ _ 8 =] {} |
\ | & 2 r

6 ] =

@BH7M.3
88.5

H C
A
D
5 \f Ex30+0.015 ‘
g %@@@@@ v @ © Qe
s e_° ot

QTH7/1.6

238 Handling technology HT Components linear afag.com



Technical data

SA-1

Spindle @ 8 mm 8 mm
Spindle pitch (mm/1 turn) 12 mm 4 mm
Drive shaft @ 5mm 5mm
Operating temperature 10-40°C 10-40°C
Storage temperature 0-50°C 0-50°C
Humidity <90 % <90 %
Order number 50249011 50471882 50249013 50471883 50249014 50471884
Stroke H 50 mm 50 mm 100 mm 100 mm 150 mm 150 mm
Net weight 0.8kg 0.8kg 1.0kg 1.0kg 1.2 kg 1.2kg
Moving weight "0.45 kg "0.45 kg "0.55 kg "0.55 kg "0.65 kg "0.65 kg
Weight, gear "0.15 kg "0.15 kg "0.15 kg "0.15 kg "0.15 kg "0.15 kg
Weight, motor "0.45 kg "0.45 kg "0.45 kg "0.45 kg "0.45 kg "0.45 kg
Noise level 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A)
Max. drive torque 0.07 Nm 0.07 Nm 0.07 Nm 0.07 Nm 0.07 Nm 0.07 Nm
Inertia, spindle 3.08gcm?  3.08gcm?  4.65gcm?  4.65gcm?  6.22gcm?  6.22 gcm?
Drive AC Servo AC Servo AC Servo AC Servo AC Servo AC Servo
Protection type IP 30 IP 30 IP 30 IP 30 IP 30 IP 30
Max. speed v “1.2m/s “0.3m/s "1.2m/s ‘0.3 m/s “1.2m/s "0.3m/s
Max. acceleration a *25 m/s? *25 m/s? *25 m/s? *25 m/s? *25 m/s? *25 m/s?
Peak force Fx 50N 150N 50N 150N 50N 150N
Measuring system Resolver Resolver Resolver Resolver Resolver Resolver
Repeat accuracy +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01 mm +/-0.01 mm
Mounting position 4 4 R 4 4 4

The technical data pertains to Afag standard test conditions.
Note: The inductive reference sensor is integrated within the SA axis.
Cleanroom class ISO 14644-1, class ISO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

**Total weight = gross weight + slide + gear + motor
***\ithout brakes
****\\ith brakes

Accessories
= Toothed belt drive SA-1
= Coupling flange SA-1

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @5x2.5
= 2x Centering bushing @7x3

= Coupling flange SA-1 without motor

= Grease press attachment SA

(Catalogue HT accessori

es)

= Servo motor-11-72VDC-060W
= Servo controller-11-320VDC-060W
= Servo controller CTxxx-1S

= Servo controller E12xx
= Servo controller SE-Power

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

239



Preferred combinations SA-1/ SA-1-FL

1 VP 139 3 1,2 VP 107 2
3 VP 137 3 1,2 <direct> 1
1 VP 119 3 1,2 VP 101 2
3 VP 146 3 1,2 VP 150 2
3 VP 146 3 1,2 <direct > 2
1 < direct > 3 1% <chr$8t0> g

2,3 VP 113 3 d
1 < direct > 3 ! Wiz 2

2,3 VP 113 3 1 VP 112 1
2 VW 316 3 1,2 VP 149 1,2
2 VW 308 3 1,2 VP 153 1
3 VP 137 3 1,2 VP 152
s wus : I
1 VP 105 3 2 VP 100 2
1 VP 105 3 1,2 <direct> 2
1 VP 117 3 1,2 VP 102 2
1 VP 117 3
1 VP 137 3
3 VP 105 3
3 VP 105 3
1 VP 113 3

Mounting areas
CS, ES PS LM, LE H1M SA 0z
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 3;, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
4@1 11 1D—i|]1 1EH]3 1B}3 21§
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

240 Handling technology HT Components linear afag.com



Slide loads SA-1

SA-1-050 SA-1-050-FL SA-1-100 SA-1-100-FL SA-1-150 SA-1-150-FL

Max. torque Mx 6 Nm 6 Nm 6 Nm 6 Nm 6 Nm 6 Nm
Max. torque My 15 Nm 15 Nm 15 Nm 15 Nm 15 Nm 15 Nm
Max. torque Mz 15 Nm 15 Nm 15 Nm 15 Nm 15 Nm 15 Nm
Effective distance Wx 41 mm 41 mm 41 mm 41 mm 41 mm 41 mm
Effective distance Wy 0mm 0mm 0mm 0mm 0mm 0mm
Effective distance Wz 32 mm 32 mm 32 mm 32 mm 32 mm 32 mm
Peak force Fx 50N 150N 50N 150N 50N 150N

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Maximum payload/type SA-1-050 SA-1-050-FL SA-1-100 SA-1-100-FL SA-1-150 SA-1-150-FL
ormountnasdenz T 4kg akg 4kg akg akg dkg
Assembly sides module horizontal: 1 2 vertical’

mounting 1 L

afag.com Handling technology HT Components linear 241



Slide loads SA-1/ SA-1-FL

Deflection in Y direction Deflection in Z direction
0.20 : 020 :
0.18 +— —— SA-fretracted 0.18 - —— SA-retracted
0.16 - ~=== SA1-50 _— 046 L ——=- SA-1-50
€ g4 — SAT-00 T o4 | —— SA1-100
=i SA-1-150 £ ' SA-1-150
~ 012 < 0.12
S 010 S 0.10
G o008 == G o008
@ 0.06 =" o 0.06 —=
a e a e
0.04 I E— R
0.02 ===" 0.02 ~ ="
0 — 0 -= I—
0 50 100 150 0 50 100 150
Force in N Force in N
Operation time SA-1 Operation time SA-1-FL
500 ‘ ‘ 500 :
L 450 05k
_ w0 05kg — 10 kg
T 400 1.0 kg g 4004 1.5 kg =
E ol — 2o - o 9501 =="588 —
) T ——— 3.0kg - 5kg -
£ 30 —— 35k el 34 £ 300] gg kg — 4
5 20 g 20 T e =
© 200 oo © 200 === ‘
S 150 _ S 150 """ |
> e} 7/ i I
° oo ,// 100 | /”\
50 147 50 | 7‘
0 0 ‘
0 25 50 75 100 125 150 0 25 50 75 100 125 150
Hub in mm
Stroke [mm] ot

242 Handling technology HT Components linear afag.com



afag.com Handling technology HT Components linear 243



Ordering example SA-1/ SA-1-FL

SA-1/ -FL XXXXXXXX XXXXXXXX XXXXXXXX X X
Stroke Gear Motor 5 S
o =
£ 2 c
L :% 2
o o £
(a1
3 5
o =
w
o
[a W
Coordinate system
The coordinate system allows you to define the position = A =before
of the gear as well as that of the motor plug. ® B =base
= O=top
= P =left
= S =right

= U = downside
Ordering example 1

B szes0s | soaasons soassers | s

Ordering example 2

. _ 50249013 50249016 50485876 B

Ordering process

= Select the desired stroke length, gear and motor from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the gear and the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f motors from other suppliers are to be attached to Afag modules, an adapter plate will be required. This adapter plate
can be provided by Afag, if desired.

External controller
= Mechanical limiting values of the module must be observed (v max., a max.,...).

= The controller parametrisation is carried out by the customer.

244 Handling technology HT Components linear afag.com



Order key SA-1/SE-Power/C1xxx/E12xx

x

_ XXXXXXXX XXXXXXXX | XXXXXXXX

Stroke Gear Motor

7SN 50249011

SA-1-050-FL 50471882

B TN 50249013

SA-1-100-FL 50471883

B EE N 50249014
50471884

Position gear
Position motor plug | x

42
X
©

Q2

]

£
o
w
()
Q.
(o]
(v}
w

2

o}

50249016 -,
- :F O afag
50249015 . BG1
50261931 -
Without motor M0 X
ko
g Servomotor-11-72VDC-060W-60-B-I-x-x B 50485433 ' g 2
c I — —
% . Servomotor-11-72VDC-060W-60-x-I-x-x 50495876 k: i
8 BG1 Servomotor-11-320VDC-060W-60-B-R-x-x B 50495879 g
[} e o<
= Servomotor-11-320VDC-060W-60-x-R-x-x 50495878 - E 2
wv) —
Position gear 0 B
]
B
P
S

Position motor plug

Assembly

cCw wvo

The plug can be turned 180°.
You can find further information
in the operating manual.

B: Motor with brakes
BG: Motor size

afag.com Handling technology HT Components linear 245



246 Handling technology HT Components linear afag.com



O afag

Telescope spindle axis SA
SA-3 & SA-3-FL

m Extremely compact and higher power density for -FL variety
= Flexible motor mounting
® Precise spindle drive

afag.com Handling technology HT Components linear 247



Dimensions and dimension drawings SA-3 / SA-3-FL

246 mm 296 mm 346 mm
B 50 mm 100 mm 150 mm
794 mm 144 mm 154 mm

¢ 124 mm Y74 mm 184 mm
D 365 mm 415 mm 465 mm
395 mm 445 mm 7495 mm
E 6 x both sides 6 x both sides 6 x both sides
2 3 5
H 50 mm 100 mm 150 mm
15 30 £0015 “
| - . g -
3 < %J In E=
St H Cl
| I — T T
M4
Q@THTI1T
PTHT 17
E M4
B
40
o 9 300,015 300015 (30001 300015 28 300015 -
5 %5 <9, 5 P

61
55.5
43
®
1T Tl
LT
38
30 £0.015

=

©)

131

94.5

QTHT /1.7

95 n x 30 £0.015 M4

10

30 +0.01
(? b
o| €=
NEY,
O

5 _| [30=0015) ‘ D:l

248 Handling technology HT Components linear afag.com



Technical data

SA-3

Spindle @ 10 mm 10 mm
Spindle pitch (mm/1 turn) 10 mm 5mm
Drive shaft @ 6 mm 6 mm
Operating temperature 10-40°C 10-40°C
Storage temperature 0-50°C 0-50°C
Humidity <90 % <90 %
Order number 50113773 50471885 50113781 50471886 50251726 50471887
Stroke H 50 mm 50 mm 100 mm 100 mm 150 mm 150 mm
Net weight 1.35kg 1.35kg 1.65kg 1.65 kg 1.95kg 1.95kg
Moving weight 0.6 kg 0.6 kg "0.75 kg "0.75 kg “0.9kg 0.9 kg
Weight, gear "0.25 kg "0.25 kg "0.25 kg "0.25 kg "0.25 kg "0.25 kg
Weight, motor 0.6 kg 0.6 kg 0.6 kg 0.6 kg 0.6 kg 0.6 kg
Noise level 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A)
Max. drive torque 0.17 Nm 0.17 Nm 0.17 Nm 0.17 Nm 0.17 Nm 0.17 Nm
Inertia, spindle 9.58gcm?  9.58gcm? 13.41gcm? 13.41gcm? 17.24gcm?  17.24 gcm?
Drive AC Servo AC Servo AC Servo AC Servo AC Servo AC Servo
Protection type IP 30 IP 30 IP 30 IP 30 IP 30 IP 30
Max. speed v 1.0 m/s “0.5m/s “1.0m/s "0.5m/s 1.0 m/s “0.5m/s
Max. acceleration a "25 m/s? 25 m/s? "25 m/s? "25 m/s? 25 m/s? "25 m/s?
Peak force Fx 100 N 300N 100 N 300N 100 N 300N
Measuring system Resolver Resolver Resolver Resolver Resolver Resolver
Repeat accuracy +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01 mm +/-0.01 mm
Mounting position - 4+ 4 - 4 -

The technical data pertains to Afag standard test conditions.
Note: The inductive reference sensor is integrated within the SA axis.

Cleanroom class ISO 14644-1, class ISO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

**Total weight = gross weight + slide + gear + motor

***\ithout brakes
****\\ith brakes

Inlcuded in the delivery
(Catalogue HT accessories)
= 4x Centering bushing @7x3

Accessories

= Coupling flange SA-3

= Toothed belt drive SA-3

= Coupling flange SA-3 without motor]
= Grease press attachment SA
(Catalogue HT accessories)

= Servomotor-11-72VDC-120W

= Servo motor- 11-320VDC-120W
= Servo controller CTxxx -1S

= Servo controller E12xx

= Servo controller SE-Power

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

249



Preferred combinations SA-3 / SA-3-FL
> B
VP146 3 12 <direct> 2 | i
VP19 3 12 <direct> 2 | il
VW308 3 2 ww3le 3 |
<direct> 3 12 w147 1 |
VW 306 3 1,2  <direct> 1 m
S 12 VP10 2 | e
B S 12 we107 2 | el
VP 146 3 1,2 <direct> 2 -
R ° 12 wp10s 2 | L0
L 12 W17 1
1 <direct> 2
VP146 3 2 Vw300 2
VP105 3 12 W12 1
1 W27 2
R ° VP17 2
VP117 3
L 12 WP150 12 |
1 W1 1.2
. S 2 W11
VP113 3 2 WPIsT 2
VP 117 3 1 <direct> 1,2
2 w137 1
. 2 W11 2
MTZ 45x2 VP 117 3 12 VP 107 12 m
+ 1,2 <direct> 1,2 m
12 WP109 1 | el
12 w110 1 | al
12 wWn7 1 |l
Mounting areas
CS, ES PS LM, LE SA oz
3 3 3 1
2 2 2
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
o[ O Ton | I R |- 28
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

250 Handling technology HT Components linear

afag.com



Slide loads SA-3

SA-3-050 SA-3-050-FL SA-3-100 SA-3-100-FL SA-3-150 SA-3-150-FL

Max. torque Mx 10 Nm 10 Nm 10 Nm 10 Nm 10 Nm 10 Nm
Max. torque My 25Nm 25Nm 25Nm 25Nm 25Nm 25Nm
Max. torque Mz 25Nm 25Nm 25Nm 25Nm 25Nm 25Nm
Effective distance Wx 50 mm 50 mm 50 mm 50 mm 50 mm 50 mm
Effective distance Wy 0mm 0mm 0mm 0mm 0 mm 0mm
Effective distance Wz 417 mm 41 mm 41 mm 41 mm 417 mm 417 mm
Peak force Fx 100N 300N 100N 300N 100N 300N

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Maximum payload/type SA-3-050 SA-3-050-FL SA-3-100 SA-3-100-FL SA-3-150 SA-3-150-FL

Installation position (horizontal)

for mounting side 1/2 8kg 8kg 8kg 8kg 8kg 8kg
Installation position (vertical)

for mounting side 1/2 8kg 8kg 8kg 8kg 8kg 8kg
Assembly sides module horizontal: 2 vertical’

mounting 1 L

afag.com Handling technology HT Components linear 251



Slide loads SA-3 / SA-3-FL

Deflection in Y direction Deflection in Y direction
0.2 ‘ ‘ 0.2 ‘
——— SA-3retracted ——— SA-3retracted
— SA-3-50 — SA-3-50
015 4 SA-3-100 ] 045 SA-3-100
S S
S S
£ £
Z 04 =04
C je
o o
9] 9]
2 0.05 2 0.05
() [
e —— | e ;—/
0 0
0 50 100 150 0 50 100 150
Force in N Forcein N
Operation t|me SA-3 Operation tlme SA-3-FL
400 : 400 .
350 |- 2kg 350 3 'ﬁg L
4 kg ’’’’ 4 kg / -
300 — ——— 6kg / _____ 3007___5kg — ==
FREC R E—— ) - e e 4%’:: =
= L = kg 1= ‘
v 200 g o 200 1 — =
1= B - £ =
g 150 7 % 150 G
£ 10 % 100,
(] ()
] 50
g 7/ &
0¥ 0
0 25 50 75 100 125 150 0 25 50 75 100 125 150
Stroke [mm] Hub in mm

252 Handling technology HT Components linear afag.com



afag.com Handling technology HT Components linear 253



Ordering example SA-3 / SA-3-FL

SA-3/-FL XXXXXXXX XXXXXXXX XXXXXXXX X X
Stroke Gear Motor S o
o =
£ c =
8 2 5
o ) IS
o
® 5
o =
%]}
o)
(Y8
Coordinate system
The coordinate system allows you to define the position = A =before
of the gear as well as that of the motor plug. = B =base
= O=top
= P=left
= S =right

= U =downside
Ordering example 1

. _ 50113773 50113764 50495881 s

Ordering example 2

._ 50113773 50113754 50495877 B

Ordering process

= Select the desired stroke length, gear and motor from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the gear and the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f motors from other suppliers are to be attached to Afag modules, an adapter plate will be required. This adapter plate
can be provided by Afag, if desired.

External controller
= Mechanical limiting values of the module must be observed (v max., a max.,...).

= The controller parametrisation is carried out by the customer.

254 Handling technology HT Components linear afag.com



Order key SA-3/SE-Power/C1xxx/E12xx

_ XXXXXXXX XXXXXXXX | XXXXXXXX

“ X X
s Stroke Gear Motor 5 o
9 9] =
T[sa3050  ENRREME = .
S | sA-3-050-FL 50471885 S 2
A SRR 50113781 8 s
$ | sA-3-100-FL 50471886 =
ol R ENN 50251726 S
- | = = o

50471887

50113754 -,
- :F O afag
% 50113764 . BG1
/ 50164698
Without motor M@ X-ooof-moBomocto - X
ko
g Servomotor-11-72VDC-120W-60-B-I-x-x B 50485434 g 2
c N — —
% . Servomotor-11-72VDC-120W-60-x-I-x-x 50495877 k: i
8 BG1 Servomotor-11-320VDC-120W-60-B-R-x-x B 50495881 g
[°] el o<
= Servomotor-11-320VDC-120W-60-x-R-x-x 50495880 | E 2
wv) —
Position gear 0 B
]
P
S

>
)
£
@
a
<

cCw wvo

The plug can be turned 180°.
You can find further information
in the operating manual.

B: Motor with brakes
BG: Motor size

afag.com Handling technology HT Components linear 255



256 Handling technology HT Components linear afag.com



O afag

Telescope spindle axis SA
SA-6 & SA-6-FL

= Extremely compact and higher power density for -FL variety
= Flexible motor mounting
= Precise spindle drive

afag.com Handling technology HT Components linear 257



Dimensions and dimension drawings SA-6 / SA-6-FL

352 mm 452 mm 552 mm
B 152 mm 252 mm 352 mm
139 mm 7239 mm 339 mm

¢ 174 mm o 7274 mm 374 mm
D 532 mm 632 mm 732 mm
567 mm 667 mm 767 mm
E 6 x both sides 6 x both sides 6 x both sides
4 6 8
H 100 mm 200 mm 300 mm
20 0 +0.01. .30 +0.015 1 ‘ :m
P [ — e
N it S
22 ;r — \]
ol o 8 & )
211 | |
L/ )
M4 GTHT 1.7
M5
D8HT /1.8
GIHTI1.T
E M4
B
O 48

30 30 30_, .30 32

2 © v—{——} == 0 20,015

M4 (4%)

75
69
545
o)
°
°
a ©)
[c
| 1© -]
I
48
0 £0.01
45

o>
DTHII1.7 (4x)
138.5
183.5

BIH7 /2.1

47 Fx48 xomT M6

6

0 0,01

48 +0.015

LL;E,;U
T L
|
|

n x 90 +0015

PTHT /1.6

258 Handling technology HT Components linear afag.com



Technical data SA-6

Spindle @ 12.7 mm 12 mm
Spindle pitch (mm/1 turn 25.4 mm 10 mm
Drive shaft @ 8 mm 8 mm
Operating temperature 10-40°C 10-40°C
Storage temperature 0-50°C 0-50°C
Humidity <90 % <90 %
Order number 50113798 50471888 50113800 50471889 50113804 50471890
Stroke H 100 mm 100 mm 200 mm 200 mm 300 mm 300 mm
Net weight 2.80 kg 2.80kg 3.65kg 3.65kg 4.50 kg 4.50 kg
Moving weight "1.32 kg "1.32 kg "1.32 kg "1.32 kg "1.32 kg "1.32 kg
Weight, gear "0.44 kg "0.44 kg "0.44 kg "0.44 kg "0.44 kg "'0.44 kg
Weight, motor "1.57 kg ""1.57 kg "1.57 kg "1.57 kg "1.57 kg "1.57 kg
Noise level 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A) 65 dB (A)
Max. drive torque 0.85Nm 0.85Nm 0.85Nm 0.85Nm 0.85Nm 0.85Nm
Inertia, spindle 33.5gcm?  33.5gcm? 52.19gcm? 52.19gcm?  70.89gcm?  70.89 gcm?
Drive AC Servo AC Servo AC Servo AC Servo AC Servo AC Servo
Protection type IP 30 IP 30 IP 30 IP 30 IP 30 IP 30
Max. speed v “1.5m/s "0.6 m/s “1.5m/s ‘0.6 m/s "1 m/s ‘0.6 m/s
Max. acceleration a "25 m/s? 25 m/s? 25 m/s? 25 m/s? 25 m/s? 25 m/s?
Peak force Fx 200N 600N 200N 600 N 200N 600N
Measuring system Resolver Resolver Resolver Resolver Resolver Resolver
Repeat accuracy +/-0.01 mm +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01mm +/-0.01 mm
Mounting position 4 4> - - 4> -

The technical data pertains to Afag standard test conditions.
Note: The inductive reference sensor is integrated within the SA axis.
Cleanroom class ISO 14644-1, class ISO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.
**Total weight = gross weight + slide + gear + motor + controller SE-48 (0.9 kg)

***Without brakes

****\\ith brakes

Inlcuded in the delivery Accessories

(Catalogue HT accessories) = Toothed belt drive SA-6

= 2x Centering bushing @7x3 = Coupling flange SA-6

= 2x Centering bushing @9x4 = Coupling flange SA-6 without motor

= Grease press attachment SA
(Catalogue HT accessories)

= Servo motor-21-72VDC-400W
= Servo motor 21-320VDC-400W
= Servo controller SE-Power

= Servo controller C1xxx -1S

= Servo controller E12-xx

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 259



Preferred combinations SA-6 / SA-6-FL
>
A 1 vw3oe 3 12 <direct> 2 | 0
LAl 1 vwso7r 3 2 vw3es 3 |
3 WP119 3 12 w147 1 |
BPEZE100 TR VR T SR 12 <direct> 1 |Gl
3 WP1s4 3 12 WPI150 2 | el
3 w118 3 12 VP107 2
3 WPI126 3 12 <direct> 2
3 WP146 3 12 <direct> 2
3 VP146 3 2 BN 23
123 VP146 3 1.2 BNRIGSS 2
1 < direct > 3 1.2 I 2
LE-70 2 WP146 3 12 W12 2
3 VP42 3 1 <direct> 2,3 m
RE-75 3 WP146 3 2 WP137 2.3
ﬂ 13 W19 3 12 <direct> 1,2
2 <direct> 3 12 VP112 1
e 1 we14e 3 1 <direct> 2
13 we119 3 12 VP12 1.2
DLUEEE 1 <diect> 3 12 W127 12 |
1 <direct> 3 12 wP127 12 |
1 <direct> 3 12 w112 12 | e
1 <direct> 3 12 WP150 12 | el
N N 1 <direct> 1,2 m
2 w137 1
2 WPIS1 2
12 w107 12 | el
12 <direct> 12 | e
(PRI I G 20
12 w112 1 | al
N o~
Mounting areas
CS, ES PS LM, LE H1M SA 0oz
= | | e | N | B e
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 3;, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
[ Jica e w21 B 1l - 20 J
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

260 Handling technology HT Components linear

afag.com



Slide loads SA-6

SA-6-100 SA-6-100-FL SA-6-200 SA-6-200-FL SA-6-300 SA-6-300-FL

Max. torque Mx 25Nm 25Nm 25Nm 25Nm 25Nm 25Nm
Max. torque My 70 Nm 70 Nm 70 Nm 70 Nm 70 Nm 70 Nm
Max. torque Mz 70 Nm 70 Nm 70 Nm 70 Nm 70 Nm 70 Nm
Effective distance Wx 75 mm 75 mm 75 mm 75 mm 75 mm 75 mm
Effective distance Wy 0mm 0mm 0mm 0mm 0 mm 0mm
Effective distance Wz 52 mm 52 mm 52 mm 52 mm 52 mm 52 mm
Peak force Fx 200N 600 N 200N 600 N 200N 600 N

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Maximum payload/type SA-6-100 SA-6-100-FL SA-6-200 SA-6-200-FL SA-6-300 SA-6-300-FL
Installation position (horizontal)

for mounting side 1/2 16kg 16kg 16kg 16kg 16 kg 16 kg
Installation position (vertical)

for mounting side 1/2 16kg 16kg 16kg 16kg 16 kg 16 kg
Assembly sides module horizontal: 2 vertical’

mounting 1 L

afag.com Handling technology HT Components linear 261



Slide loads SA-6 / SA-6-FL

Deflection in Y direction Deflection in Z direction
045 T T 045 | |
040 }— ——— sA-gretracted 040+——— ——— spagretracted @——F———<
035 L === SA-6-100 0351 —=—= SA-6-100
—— SA-6-200 ' —— SA-6-200
_ 0304 SA-6-300 N — SA-6-300
g 02 S
£ 0.25 £ 025
= 0.20 N 0.20
c c
S 015 2 015
|9} |9
2 010 ——== 2 910 ——
o el | T T e o T
S 005 e L I SR —
0 0 ik
0 50 100 150 200 0 50 100 150 200
Force in N Force in N
Operation time SA-6 Operation time SA-6-FL
700 ‘ 700 ‘
4 kg
600 |- gtg 600 | g kg f
— 500 L == 12k 4—"” 500 1 ___1()%9 /;;ﬁ
£ — 16kg et —] 7 —12kg =1
@ G £ i .
- () — "
E 200 | k- / g 200 ‘ ‘/A& } 1 |
) c == }
B 200 ,"'/ 2 200 2.
] / ©
8 100 / g 100
/ (@) 1
0] 0 ‘
0 50 100 150 200 250 300 0 25 50 75 100 125 150 175 200 225 250 275 300
Stroke [mm] Hub in mm

262 Handling technology HT Components linear afag.com



afag.com Handling technology HT Components linear 263



264

Ordering example SA-6 / SA-6-FL

SA-6 /-FL XXXXXXXX XXXXXXXX XXXXXXXX X X X
Stroke Gear Motor 5 o =)
= S £ =
P c —
2 = < g
@ 2 2 £
° o @ c
(o] o S
i
o
[a 1
Coordinate system
The coordinate system allows you to define the position = A =before
of the gear, control as well as that of the motor plug. = B =hase
= O=top
= P=left
= S =right

= U =downside
Ordering example 1

BT sosrss | sviessas soassses| s

Ordering example 2

. _ 50113798 50164846 50495883 B

Ordering process

= Select the desired stroke length, gear and motor from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the gear and the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f motors from other suppliers are to be attached to Afag modules, an adapter plate will be required. This adapter plate
can be provided by Afag, if desired.

External controller
= Mechanical limiting values of the module must be observed (v max., a max.,...).

= The controller parametrisation is carried out by the customer.

Handling technology HT Components linear afag.com



Order key SA-6/SE-Power/C1xxx/E12xx

_ XXXXXXXX XXXXXXXX | XXXXXXXX

" X X
s Stroke Gear Motor 5 o
o g 3
T | sA-6-100 50113798 = =
2| sA-6-100-FL 50471888 S 2
2 | sa-6-200 50113800 4 £
e | = ey o c
g | sA-6-200-FL 50471889 2
ﬁ SA-6-300 50113804 S

SA-6-300-FL 50471890 |

50164846 -,
- :F O afag
50113795 . BG2
50164873 -
Without motor M0 X
ko
g Servomotor-21-72VDC-400W-45-B-I-x-x B 50485435 g 2
c N — —
% . Servomotor-21-72VDC-400W-45-x-I-x-x 50495882 k: i
8 BG2 Servomotor-21-320VDC-400W-45-B-R-x-x B 50495884 g
[°] el o<
= Servomotor-21-320VDC-400W-45-x-R-x-x 50495883 - E 2
wv) —
Position gear 0 B
]
P
S

>
)
£
@
a
<

cCw wvo

The plug can be turned 180°.
You can find further information
in the operating manual.

B: Motor with brakes
BG: Motor size

afag.com Handling technology HT Components linear 265



Accessories SA

Toothed belt drive SA-1 Coupling flange SA-1

Order number 50249015 Order number 50249016
Net weight 0.185kg Net weight 0.127 kg
Coupling flange SA-1 without motor

Order number 50261931

Net weight 0.091 kg

Toothed belt drive SA-3 Coupling flange SA-3

Order number 50113764 Order number 50113754
Net weight 0.236 kg Net weight 0.236 kg
Coupling flange SA-3 without motor

Order number 50164698

Net weight 0.178 kg

Toothed belt drive SA-6 Coupling flange SA-6

Order number 50113795 Order number 50164846

Net weight 0.397 kg Net weight 0.448 kg

Coupling flange SA-6 without motor

Order number 50164873
Net weight 0.299kg

Grease press attachment SA

Order number 11012190

Net weight 0.01 kg

26

D14
G1/8'

D1

266 Handling technology HT Components linear afag.com



afag.com Handhabungstechnik HT Komponenten linear 267



O afag

Omega-cantilever axes OZ
0Z-50 & 0Z-60

268 Handling technology HT Components linear afag.com



Table of contents: OZ

Omega-cantilever axis OZ Page

0z-60 279

afag.com Handling technology HT Components linear 269



270 Handling technology HT Components linear afag.com



O afag

Omega-cantilever axes OZ
0Z-50

= Highly dynamic cantilever axis
= Simple, short cable guide
= Horizontal and vertical installation

afag.com Handling technology HT Components linear 271



272

Dimensions and dimension drawings 0Z-50
A H+482 mm
C (H+458)/2 - 95 mm
H 100 - 820 mm
30 +0.015 C 3x30 +0.015 C 30 +0.015 8
& 4 4
u I &@ E“m e) [°) [N [ H @H@E’@ g %
! bt ° o
o [ TE@ "o © o © © H = 6 =
e ¢ H 5
20 H 17|
87
129.5 160
66 4x M5x12 A
9 I
N \ © S8 [32)
o S ©
g - © 5) o) - ; =
T [ [
= — . = o g Tals deps
=’ o0 oo < -~ S i r o+
3 f@@_érﬁi@% - = o6 = g . . g
L H 1 N
L 290 12 30 0015
A 48 10015
113 2x48 +0.015 PE—A %
S Sy 21
© H j = = 0 @Li
g % 3 ° Z . . Y 7§77 ’%O @7 i
T8  |lee ool I g
~ [ © o P=1 =] ~ M~
o p= ] T
17 56 48 +0015 ¥ 12 12 =
33 224 33
@%\i - SR ee T
= - i%‘:7
© © -
4x M8x1/12 (fj\ <
S
4x M5x12 T -V
66
Handling technology HT Components linear afag.com



Technical data

0Z-50

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50404375
Max. stroke 820 mm

Stroke increment

Net weight

Moving weight at 100 mm stroke
Moving weight/40 mm stroke
Noise level

Torque

Protection type

Feed constant

Max. speed v

Max. acceleration a

Peak force Fx

Repeat accuracy

Mounting position

The technical data pertains to Afag standard test conditions.
Note: Total weight = gross weight + motor + mounting set + gear

The mounting sets, gears, motors, controllers and cables can be found in the corresponding chapters.

Cleanroom class ISO 14644-1, class I1SO 7

40 from 100 mm
10.7 kg (at 100 mm stroke)
5.6 kg

0.2 kg

78 dB (A)

14.3 Nm

IP 20

180 mm/U
“5m/s

50 m/s?

500N

+/-0.05 mm
)

-

¥

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

**|f Fx is exceeded, the toothed belt may jump.

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @9x4
= 4x Mounting screw M6x25

Accessories

(Catalogue HT accessories)
= NI d8x36-Sn2.0-PNP-NC-M8x1
= Mounting set 060

= Mounting set 070

= Planetary gearbox PEO70

= Planetary gearbox AFO60

= Angular gearbox PER0O70

= Angular gearbox AFRO60

= Servomotor-31-320VDC-950W
= Servomotor-31-560VDC-950W
= Servo controller SE-Power

= Servo controller E14xx

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

273



274

Preferred combinations

< direct > 2
VP 144 2
VP 144 2

N N RN N U N RS UGN N N N R N SN N ey

Mounting areas

CS, ES PS LM, LE HM SA

PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE

3 3
a[)s O Toh| I 143 [
2 2 2 2 2

Note that there might be different mounting positions from one module to another one.

< direct >

< direct >
VW 306

VW 306
VW 306
VP 148
< direct >
VP 150

< direct >
VP 137

< direct >
VP 119

VW 306
VW 306
VW 137
< direct >
< direct >
VP 146
< direct >
VW 306
VW 306

< direct >

3 3 1 1
2 2

0Z-50
O
2
3
3
3
2,3
1
1
2
2
3
2
3
2
2
2
2
2
3
1
1,2
1.2
1.2
0z
En=sl

UG, GM, SG, DG, PG, GE

2[7]

3

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

Handling technology HT Components linear

afag.com



Module stresses 0Z-50

Type 0Z-50-XXX

Max. torque Mx 40 Nm
Max. torque My 170 Nm
Max. torque Mz 170 Nm
Effective distance Wx 262 mm
Effective distance Wy 0mm
Effective distance Wz 30 mm

Peak force Fx 500N m

Mx My Mz

+ + <1
Mxmax Mymax Mz max
Fx Mx My Fy
Maximum payload/type 0Z-50-XXX
Installation position (horizontal) for mounting side 1 40 kg
Installation position (vertical) for mounting side 1 40 kg

Assembly sides module horizontal ; ical: !
i 4 vertical:
mounting D:[

Deviation diagrams

0Z-50: Deviation Y-direction via force Fy 0Z-50: Deviation Z-direction via force Fz
1.0 1.0

— F=100N / 4 /‘ e F=100N / / /
0 |+—F200N /] 08 |- F=200N

—- ﬁgg N / / // — F=300N / / Z

—— = =
0 ] og |~ Fe00N A A

A
: A : %
S 04 /’/ ~ o4 ////
00 1 ’/4/ 00 4 ’/«/‘
100 200 300 400 500 600 100 200 300 400 500 600
Stroke in mm Stroke in mm

afag.com Handling technology HT Components linear 275



276

Ordering example 0Z-50

m 50404375 XXXXXXXX | XXXXXXXX | XXXXXXXX | XXXXXXXX

X X X
Axis Nominal ' Mounting Gear Motor :rg 535 o

S Q9 =

E stroke set o % 2
(<) S < o =
w o © o o]
- B c B
[7) @ S g
c

& S

=

B

o

o

Coordinate system

The coordinate system allows you to define = A = before
the Position von gear as well as that of the motor plug. = B =Dhase
= O =top
= P=left
= S =right |
= U =downside u

Ordering example 1 without motor

. m 50404375 220 X X X X X X

Ordering example 2 with motor

.m 50404375 220 50255204 50467058 | 50495887 S X U

Ordering process

= Select the desired stroke length, gear and motor from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the gear and the motor plug.Enter the corresponding letters from the coordinate sys-
tem in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). Jg] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

Handling technology HT Components linear afag.com



Order key 0Z-50 /SE-Power/E14xx

m 50404375 X X X X X X X g 3
= c AN
3 53 £8 22
o T o <8 3 c
@ D5 o c = O
&3 IN =z E §¢ &%
3 Ko/ ks >2 E=R) oA
= @ 9 25 R
Z 50255203 50255204 50255203 50255204 2 gg ap s
H > ar S =
g 50477900 50467058 50477912 50467070 J_é <5 ..g
i 50477901 50467059 50477913 50467071 ;91 =
=y 50477902 50467060 50477914 50467072 BG3
E= .
§ Third-party motor KG ] AA X
2 G N x
Without gear X X X X
Without motor Mo X X
. s
= g
% Servomotor-31-320VDC-950W-45-B-R-x-x B 50503160 t'-;'J3 >
S Servomotor-31-320VDC-950W-45-x-R-x-x 50503156 :
§ BG3  Servomotor-31-560VDC-950W-45-B-R-x-x B 50495887 S <>1:
Eo Servomotor-31-560VDC-950W-45-x-R-x-x 50495886 L'-;'J, -
Servomotor-31-560VDC-950W-45-B-I-x-x B 50485436 o]
3
Servomotor-31-560VDC-950W-45-x-I-x-x 50495885 Y
Assembly side
of the gear
Assembly direction
of the angular gear
>
]
£
()]
a
<
Position of the A
motor connector B
(0]
P
The plug can be turned 180°. S
You can find further information
in the operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash
B: Motor with brakes KG: Coupling housing PER: Angular gearbox AFR: Angular gearbox, low-backlash

afag.com Handling technology HT Components linear 277



278 Handling technology HT Components linear afag.com



O afag

Omega-cantilever axes OZ
0Z-60

= Highly dynamic cantilever axis
= Simple, short cable guide
= Horizontal and vertical installation

afag.com Handling technology HT Components linear 279



Dimensions and dimension drawings

0Z-60

A H+590 mm
C (H+560)/2 - 130 mm
H 120-1320 mm
48 +0.015 C 3x 48 +0.015 C 48 +0.015 15
N~
5. 6 | o T
& HE | >
H 1 Bk ) Q) ) S 0o ] H - og@ﬁ? & = S
8 3 - = EIm —g
H //ﬁ\ToJ ) o o 5. © = H fo So% e
e o o H
10 H 21 |
160 200
82 4x M6x15 1
/*,\
of B o IE
3 . o B
L - Q
S _
8 = <} (<] = =&
N i \ 2 1
— ® & ? w|
o . ° © 7 7 o o =S —al u‘_) o
. == “ % 2
|| || N
96.5 360 15
A
N~
337 2x 60 +0.015 o o 25 & )4
. IR B S B
w o : o = | ? L M~
ol S 7%“:@” ”ﬂmf t@ % @g’ A o &
|‘: +H i == — — = - ;7 — = ot
B [le ogedem | L e =T @@'@?’ 9
20 76 48 +0.015 15 || 15
41 278 41 B
:: ] _ _ o o i 5 o %
= i \jﬂ
4x M8x1/15 ° -
S
4x M6x15
]
afag.com

280 Handling technology HT Components linear



Technical data 0Z-60

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50404376
Max. stroke 1320 mm
Stroke increment 60 from 120 mm
Net weight 20.3 kg (at 120 mm stroke)
Moving weight at 120 mm stroke 10.7 kg
Moving weight/60 mm stroke 0.5 kg
Noise level 78 dB (A)
Torque 28 Nm
Protection type IP 20
Feed constant 220 mm/U
Max. speed v 5 m/s
Max. acceleration a 50 m/s?
Peak force Fx "800 N
Repeat accuracy +/- 0.05 mm
Mounting position -

The technical data pertains to Afag standard test conditions.

Note: Total weight = gross weight + motor + mounting set + gear

The mounting sets, gears, motors, controllers and cables can be found in the corresponding chapters.
Cleanroom class ISO 14644-1, class ISO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.
**|f Fx is exceeded, the toothed belt may jump.

Inlcuded in the delivery Accessories

(Catalogue HT accessories) (Catalogue HT accessories)
= 2x Centering bushing @12x4.8 = |NI d8x36-5n2.0-PNP-NC-M8x1
= 4x Mounting screw M8x30 = Mounting set 075

= Mounting set 090

= Planetary gearbox PE075

= Planetary gearbox AF090

= Angular gearbox PERO75

= Angular gearbox AFR090

= Servomotor-41-560VDC-2.8kW
= Servo controller SE-Power

= Servo controller E14xx

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear

281



Preferred combinations 0Z-60

< direct > 2 1 < direct > 2
< direct > 2 1 VP 140 3
< direct > 2 1 VW 307 3
1 VP 148 1
1 VP 119 2
VW 307 2
1 VP 140 2
1 < direct > 2
1 < direct > 2
1 VP 146 3
1 VS 507 1
1 VW 307 2
1 VW 307 1,2
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 1 1
%1 1 H:1 1 D:i:l:ﬂ 1 3 @ [% 2 1 EQED !
2 2 2 7 3
PMP. PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
s e o) | [T 1 [ b 2 [T
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

282 Handling technology HT Components linear afag.com



Module stresses 0Z-60

Type 0Z-60-XXX

Max. torque Mx 80 Nm
Max. torque My 400 Nm
Max. torque Mz 400 Nm
Effective distance Wx 315 mm
Effective distance Wy 0mm
Effective distance Wz 37 mm
Peak force Fx "800 N

Mx My Mz

+ + <1
Mxmax Mymax Mz max
Fx Mx My Fy
Maximum payload/type 0Z-60-XXX
Installation position (horizontal) for mounting side 1 60 kg
Installation position (vertical) for mounting side 1 60 kg

Assembly sides module horizontal: ; ical: !
D 4 vertical:
mounting D:[

1
Deviation diagrams

0Z-60: Deviation Y-direction via force Fy 0Z-60: Deviation Z-direction via force Fz
1.0 7 N 1.0
I T T -
/ Zo F=100N —— F=100N / / /
08 /) / /-F=200N 0g | FZ200N //; /
: / / £ —— F=300 N i b Ff300 N / /
X/ =~ F=400 N —= F=400N /
E 0.6 /7 / 4 —— F:5%> E 0.6 {——F=500 N/ 7 /
£ 04 7 // - S 04 // (/ // |
02 / s _/»'// 0.2 /////"/ i
00 ‘4£// 00 =T
100 200 300 400 500 600 700 800 900 1000 100 200 300 400 500 600 700 800 900 1000
Stroke in mm Stroke in mm

afag.com Handling technology HT Components linear 283



Ordering example 0Z-60

m 50404376 XXXXXXXX | XXXXXXXX | XXXXXXXX | XXXXXXXX

X X X

Axis Nominal ' Mounting — Gear Motor § 5 S

€ stroke set S) S =

) c = .

w R © QS

5 3 53 g
wv

° o o8 IS

= o = e c

o 89 S

a o =

wv

o

[a

Coordinate system

The coordinate system allows you to define = A =before
the position of the gear as well as that of the motor plug. = B =base
= O=top
= P=left
= S =right |
= U = downside u

Ordering example 1 without motor

. m 50404376 300 X X X X X X

Ordering example 2 with motor

.m 50404376 300 50255205 50477903 50495890 S X U

Ordering process

= Select the desired stroke length, gear and motor from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Determine the desired position of the gear and the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.
Legend order key
External controller {68} Planetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). Jg] Angular gearbox
= The controller parametrisation is carried out by the customer. Coupling housing

284 Handling technology HT Components linear afag.com



Order key 0Z-60 /SE-Power/E14xx

£ <
5 S £8 83z
] oo = @ Q
()] D = O & w C
3 2 53 5§ &2
X Y g >z > = 9 81 8
o 5 = 2
c 50255205 50255206 50255205 50255206 g Eo 2 2
© 7 Qs 1S ©
2 50477903 50467061 50477915 50467073 K = <5 )
S 50477904 50467062 50477916 50467074 || o =
g 50477905 50467063 50477917 50467075  °O% <
=]
§ Third-party motor KG ] AA X X
s SN AA - X X
Without gear X S X
Without motor Mo ) X
- <
2 5L
5 P
E Servomotor-41-560VDC-2.8kW-45-B-R-x-x B 50495890 mo ] & <>E
S Servomotor-41-560VDC-2.8kW-45-x-R-x-x 50495889 - G ™
§ BG4  Servomotor-41-560VDC-2.8kW-45-B-l-x-x B 50485437 » 3
Eo Servomotor-41-560VDC-2.8kW-45-x-I-x-x 50495888 L
Assembly side
of the gear
Assembly direction
of the angular gear
>
]
£
]
a
<
Position of the A
motor connector B
(0]
P
The plug can be turned 180°. S
You can find further information
in the operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash
B: Motor with brakes KG: Coupling housing PER: Angular gearbox AFR: Angular gearbox, low-backlash

afag.com Handling technology HT Components linear 285



O afag

Portal axes PEZ & PDZ

PEZ-52 - PEZ-100 &
PDZ-128 - PDZ-200

286 Handling technology HT Components linear . afag.com



Table of contents: PEZ & PDZ

PEZ-52 ﬂ
PEZ-65
PEZ-80 | 305
PEZ-100 m
PDZ-128 | 321
PDZ-160 | 329
PDZ-200
Accessories PEZ & PDZ m

afag.com Handling technology HT Components linear 287



Overview portal axis PEZ & PDZ

PEZ Portal axis Single guide  Belt drive A B,C,D 2 pieces
PDZ Portal axis Double guide Belt drive A B,C,D 4 pieces

Definition of stroke on PEZ & PDZ

With the information of nominal stroke, you determine the maximum field of action.
We recommend to add some extra stroke depending on the application.

Nominal stroke = maximum stroke

Nominal stroke = maximum stroke

[

o

1€

o
o

o
o,

Definition of the suitable drive for PEZ & PDZ

Our technicians are gladly ready to help you in the case of the determination of the suitable drive. Please send us the
information of the table below for your application. With that information we will find the correct drive for you.

PEZ XXXX MM xx kg xx seconds

PDZ XXXX M xx kg xx seconds

288 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PEZ-52

= The most rigid portal axes
= Single or double guide
= Fully symmetrical

afag.com Handling technology HT Components linear 289



Dimensions and dimension drawings PEZ-52

Module length (stroke + 296) mm
Lubricator nipple
8x both sides M4

Module stroke xxxx mm

T N @ >

A
66 17 130 H 17
63 B
B 46
|
+ =
~ [} 0| - 0 ) =
RN o ——————| o E
= <A I\~
]
< 33 $22 1005
c
B
27 2x38 +0.015 @8H7/1.8-M5
s} =}
oete : = : == — |
0 o o o Heseeo b | — 7 |
- ﬁﬁl_\ég p oS o s @ % 5 &
1 5 \ 20 3x30 20015 @O5HT/1.3-M3
36 15 5x20 £0.015 QTHT 1.6 -M4
52

52 +04

290 Handling technology HT Components linear afag.com



Technical data

PEZ-52

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50394895
Max. stroke 1800 mm
Net weight 2.5 kg (at 0 mm stroke)
Moving weight 0.8 kg
Weight/100 mm stroke 0.34 kg
Cross-section profile W x H 52 x 56 mm
Module length H+ 296 mm
Toothed belt width 25 mm
Groove size (below/side) 5/5 mm
Groove distance (below) 36 mm
Hollow shaft & 22 mm
Number of linear guides 1 pcs
Torque 5Nm
Protection type IP 30
Feed constant 126 mm/U
Max. speed v “3m/s
Max. acceleration a 30 m/s?
Max. circumferential force 250N
Repeat accuracy +/-0.05 mm
Mounting position *}»

The technical data pertains to Afag standard test conditions.
Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.
Cleanroom class ISO 14644-1, class ISO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Accessories

= | oad transmission unit PEZ-52 [p. 318]
= Stroke limitation PEZ-52 [p. 320]
(Catalogue HT accessories)

= NI 8x4.7x16-Sn2.0-PNP-NC-M8x1
= T-nut M5

= Connecting set VS 513

= Mounting set 042

= Planetary gearbox PEO50

= Servomotor-2-48VDC-400W

= Servomotor-21-320VDC-400W

= Servo controller SE-Power

Inlcuded in the delivery
= 1x Sensor set portal axes [p. 321]

= Servo controller C1xxx-1S
= Servo controller E12xx
Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear

291



Preferred combinations PEZ-52

3* VS 513 2 3 < direct > 2
* *
3 Uiy 21 4 3 <direct > 2
3 VP 137 3
3* VS 513 2
3** VW 319 4
3** VW 320 4
VP 117 2
< direct > 2
< direct > 2
3 < direct > 2
3 < direct > 2
3 VP 146 3
3 <direct > 2
3 VP 146 3
3 <direct > 1
3 VP 146 1
3 <direct> 1,2
*  Area gantry version
** Area gantry, y-axis rotated
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 ! 1
2 2 2 > 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
a1 B Joh | =) aRE [ 2[R
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

292 Handling technology HT Components linear afag.com



Slide loads PEZ-52

Type PEZ-52

Max. torque Mx 15Nm
Max. torque My 130 Nm
Max. torque Mz 130 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Mx

X
Maximum payload/type PEZ-52
Installation position (horizontal) for mounting side 3 20 kg
Installation position (vertical) for mounting side 3 20 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 293



294

Ordering example PEZ-52

m XXXXXXXX XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX

X X X

Axis Nominal  Mounting  Gear Motor & 5 o

- stroke set & 3 2

o —

S S S S

@ o 25 S
o h

z -

(@] a o =

w

o

o

Coordinate system

The coordinate system allows you to define the position = A = before
of the gear as well as that of the motor plug. = B =hase
= O=top
= P=left
= S =right l
= U =downside U

Ordering example 1 without motor

. m 50394895 800 X X X X X X

Ordering example 2 with motor

.m 50394895 600 50396325 50477898 | 50495884 P X o

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

Handling technology HT Components linear afag.com



Order key

Mounting kit/gear (1 : x)

S
i
)

S
=]

f=

o

v
=~

S

o
-

o
=

Assembly

PEZ-52 /SE-Power/C1xxx/E12xx

m 50394895 XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX X X X g
Axis  Nominal stroke Mounting kit~ Gear Motor o 5 5 i
g c g s o
(@)} o (@)} 1]
Gy— = f=
° T o s
@ N 5 3 9 %
50396325 50467366 50396325 50467366 g %g % 2
(a8 <
50477897 50467055 50477909 50467067 - é = g '%
50477898 50467056 50477910 50467068 [ @atag| 2 = 2
1 o (7]
50477899 50467057 50477911 50467069 ~ BG2 s =
E= e
g 2
©
S
+—
o
=
Third-party motor KG =] X X X
N O
Without gear X Xomoooe X
Without motor M@ X Koo Xoooe X
Servomotor-21-72VDC-400W-45-B-I-x-x B 50485435 + g X
Servomotor-21-72VDC-400W-45-x-I-x- 50495882 - O
BG2 Servomotor-21-320VDC-400W-45-B-R-x-x B 50495884 '~ | | g)
Servomotor-21-320VDC-400W-45-x-R-x-x 50495883 - & <>(
ok
Position of gear
P
S
A
B
(0]
U
Position of the motor A
connector B
(0]
P
The plug can be turned 180°. S
You can find further information in the
operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash

B: Motor with brakes

afag.com

KG: Coupling housing

PER: Angular gearbox AFR: Angular gearbox, low-backlash

Handling technology HT Components linear

295



296 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PEZ-65

= The most rigid portal axes
= Single or double guide
= Fully symmetrical

afag.com Handling technology HT Components linear 297



Dimensions and dimension drawings

PEZ-65

Module length (stroke + 413) mm

A
B Lubricator nipple
C 8x both sides M5
H Module stroke xxxx mm
\ +
{
)
¢
A
925 2 180 H % 56
X 38
8 @ $ | =
gx 44 X @32 1005
e
34810015 POHT/2.1-MB
P 8HT/ 18- M5
4x 30 20015 / GTHT /1.7 - M4
‘ &
EE = @@@f; £® d ]
i O 9 | A b
© 5 28 1o 9 %900 ¢ )
D (e = ‘e {
Detal X D j E 18 2x 38 10015
6 30
43
52
65
e
18
6.35
43
65 +03
298 Handling technology HT Components linear afag.com



Technical data

PEZ-65

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50245031
Max. stroke 3760 mm
Net weight 5.2 kg (at 0 mm stroke)
Moving weight 1.7 kg
Weight/100 mm stroke 0.5kg
Cross-section profile W x H 65 x 70 mm
Module length H+413mm
Toothed belt width 30 mm
Groove size (below/side) 6/5 mm
Groove distance (below) 43 mm
Hollow shaft & 32 mm
Number of linear guides 1 pcs
Torque 14.2 Nm
Protection type IP 30
Feed constant 165 mm/U
Max. speed v ‘5m/s
Max. acceleration a 50 m/s?
Max. circumferential force 540N
Repeat accuracy +/-0.05 mm
Mounting position 4

The technical data pertains to Afag standard test conditions.

Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.

Cleanroom class ISO 14644-1, class ISO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Inlcuded in the delivery
= 1x Sensor set portal axes [p. 321]

Accessories

= |oad transmission unit PEZ-65/PDZ-128 [p. 317]

= Stroke limitation PEZ-65 [p. 319]
(Catalogue HT accessories)

= NI 8x4.7x16-Sn2.0-PNP-NC-M8x1
= T-nut M5

Connecting set VS 508

Mounting set 050

Mounting set 060

Mounting set 070

Planetary gearbox PE050

Planetary gearbox PEO70
Planetary gearbox AFO60

= Angular gearbox PERO70

= Angular gearbox AFRO60

= Servomotor-21-72VDC-400W
= Servomotor-31-320VDC-950W
= Servomotor-31-560VDC-950W
= Servo controller SE-Power

= Servo controller C1xxx-1S

= Servo controller E12xx

= Servo controller E14xx

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

299



Preferred combinations PEZ-65

3** VW 320 4 3 < direct > 2
3* VS 508 2 3 <direct > 2
37 RpIoE 4 3 VP119 3
3 VP 119 3
3* VS 508 2
3** VW 310 4
3* VS 509 2
3** VW 311 4
3* VS 513 2
3** VW 321 4
3 VP 147 1
3 VP 148 1
3 < direct > 1
3 VP 150 2
3 < direct >
3 < direct >
3 VP 118 2
3 < direct > 2
3 VP 119 3
3 <direct > 2
3 VP 119 3
3 VP 119 2,3
* Area gantry version
** Area gantry, y-axis rotated
Mounting areas
CS, ES PS LM, LE H1M SA oz
= | o | e | R | B | TR
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 3;, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
a[L) ey et O s [ 2[7H
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

300 Handling technology HT Components linear afag.com



Slide loads PEZ-65

Type PEZ-65

Max. torque Mx 26 Nm
Max. torque My 260 Nm
Max. torque Mz 260 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Mx

X
Maximum payload/type PEZ-65
Installation position (horizontal) for mounting side 3 40 kg
Installation position (vertical) for mounting side 3 40 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 301



Ordering example PEZ-65

m XXXXXXXX XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX

X X X

Axis Nominal ' Mounting Gear Motor 5 5 =)

stroke set S = =

£ c =) .

= o © i

o = °
$ g £ 3

5 o) 2 €

(a8 g c

° 2 © o)

= o w =1

(o] o o G

o

[a 1

Coordinate system

The coordinate system allows you to define the position = A = before
of the gear as well as that of the motor plug. = B =base
= O=top —
= P=left
= S =right L
= U = downside U

Ordering example 1 without motor

. m 50245031 800 X X X X X X

Ordering example 2 with motor

.M 50245031 600 50253994 50477899 50485435 P X (o)

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

302 Handling technology HT Components linear afag.com



Order key PEZ-65 /SE-Power/C1xxx/E1xxx

m 50245031 XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX X X X ‘g
Axis  Nominal stroke = Mounting kit Gear Motor 5 55 5 ‘;

N c g S 2

Y o Z v f=

o SR S

& 2. § Sz ¢ 3

50253994 3 Zzg £ g

- o = = o
X 50477897 H- ] ° s
c 50477898 2 = 2
t s | o) w
3 50477899 - BG2 c =
& s 3
£ 50253995 50253996 50253995 50253996 'z .g’
= 50477900 50467058 50477912 50467070 - * &
€ 50477901 50467059 50477913 50467071 )
S 9]
§° =

50477902 50467060 50477914 50467072 -~ BG3

Third-party motor KG E]} AA - X X X
HIN AA - . X X X
Without gear X - L Koo X X
Without motor M@ X-ope Koo X X
Servomotor-21-72VDC-400W-45-B-l-x-x B 50485435 . g X
Servomotor-21-72VDC-400W-45-x-1-x-x 50495882 U
3 BG2 Servomotor-21-320VDC-400W-45-B-R-x-x B 50495884 5
§ Servomotor-21-320VDC-400W-45-x-R-x-x 50495883 1: § <>(
< itk Mttt ittt | |
§ Servomotor-31-320VDC-950W-45-B-R-x-x B 50503160 /| B
,g Servomotor-31-320VDC-950W-45-x-R-x-x 50503156 g
= Servomotor-31-560VDC-950W-45-B-R-x-x B 50495887 © | S
BG3 Servomotor-31-560VDC-950W-45-x-R-x-x 50495886 | 4 m
Servomotor-31-560VDC-950W-45-B-I-x-x B 50485436 ! o]
et e ettt &
Servomotor-31-560VDC-950W-45-x-I-x-x 50495885 ' o
Position of gear
P
S
A
> B
]
€ (0]
2 U
<
Position of the motor A
connector B
(0]
P
The plug can be turned 180°. S
You can find further information in the
operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash
B: Motor with brakes KG: Coupling housing PER: Angular gearbox AFR: Angular gearbox, low-backlash

afag.com Handling technology HT Components linear 303



304 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PEZ-80

= The most rigid portal axes
= Single or double guide
= Fully symmetrical

afag.com Handling technology HT Components linear 305



306

Dimensions and dimension drawings

T N @ >

Detail X

90

20
12.25

Handling technology HT Components linear

PEZ-80

Module length (stroke + 511) mm
Lubricator nipple
4x both sides M6

Module stroke xxxx mm

995

C ) )
19
A\
i)
C ¢
2
A
115.5 30 220 H 30 76
4 T
a ( Ol =
- N ‘ N
‘ g - € o N
g X
58 @40 005
c w0
4 x 48 +0.015 ]
ki
14 2
o~
— ® © ® ® 1@
5 == @ © g @(@ )‘)
K ® © © © @ @ ) 2
@ (— @ ® © ©® © ) )
2 g ° e e (¢
@ ® & @ A
15 \Q8H7/1.8-M5 @ 9H7 /2.1 - M6
5 x 38 +0.015
afag.com



Technical data

PEZ-80

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50245032
Max. stroke 5330 mm
Net weight 10.1 kg (at 0 mm stroke)
Moving weight 3kg
Weight/100 mm stroke 0.83kg
Cross-section profile W x H 80 x 80 mm
Module length H+511mm
Toothed belt width 38 mm
Groove size (below/side) 8/6 mm
Groove distance (below) 52 mm
Hollow shaft & 40 mm
Number of linear guides 1 pcs
Torque 23.4Nm
Protection type IP 30
Feed constant 215 mm/U
Max. speed v ‘5m/s
Max. acceleration a 50 m/s?
Max. circumferential force 684 N
Repeat accuracy +/-0.05 mm
Mounting position 4

The technical data pertains to Afag standard test conditions.

Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.

Cleanroom class ISO 14644-1, class I1SO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Inlcuded in the delivery
= 1x Sensor set portal axes [p. 321]

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Accessories
= Stroke limitation PEZ-80 [p. 320]

= Load transmission unit PEZ-80/PDZ-160 [p. 318]

(Catalogue HT accessories)

= T-nut M6

= NI 8x4.7x16-Sn2.0-PNP-NC-M8x1
= Connecting set VS 509

= Mounting set 060

= Mounting set 070

Mounting set 075

Mounting set 090

Planetary gearbox PEO70
Planetary gearbox PE090

Planetary gearbox AFO60

= Planetary gearbox AF075

= Angular gearbox PERO70

= Angular gearbox PER090

= Angular gearbox AFR060

= Angular gearbox AFR075

= Servomotor-31-320VDC-950W
= Servomotor-31-560VDC-950W
= Servomotor-41-560VDC-2.8kW
= Servo controller SE-Power

= Servo controller E14xx

Handling technology HT Components linear

307



Preferred combinations PEZ-80

3** VW 311 4 3 < direct > 2
3* VS 509 2 3 VP 117 3
37 mplle 4 3 V119 3
3 VP 119 3
3* VS 509 2
3** VW 311 4
3** VW 313 4
3* VS 509 2
3** VW 314 4
3* VS 516 2
3 VP 127 1
3 VP 148 1
3 VP 112 1
3 VP 112 2
3 < direct > 2
3 VP 145 2
3 VP 118 2
3 VP 118 2
3 < direct > 2
*  Area gantry version 3 WP UTe 3
** Area gantry, y-axis rotated 3 VP 119 2,3
Mounting areas
CS, ES PS LM, LE H]M SA oz
el = I I A - T =
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 3;, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
Bl e e | e | e e
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

308 Handling technology HT Components linear afag.com



Slide loads PEZ-80

Type PEZ-80

Max. torque Mx 56 Nm
Max. torque My 630 Nm
Max. torque Mz 630 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Mx

X
Maximum payload/type [ 4 1]
Installation position (horizontal) for mounting side 3 60 kg
Installation position (vertical) for mounting side 3 60 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 309



Ordering example PEZ-80

PEZ-80 XXXXXXXX XXXX XOXXXXXXX | XXXXXXXX | XXXXXXXX X X X

Axis Nominal  Mounting ~ Gear Motor 5 5 2

stroke set o _% -

£ 5 = S

o — © @]
Y= v c X

— o o _8 &

(] a == c

'E «n © @)

o o QL =1

o O A

o

[a 1N

Coordinate system

The coordinate system allows you to define the position = A = before
of the gear as well as that of the motor plug. = B =base
= O=top
= P=left
= S =right
= U =downside

Ordering example 1 without motor

. PEZ-80 50245032 1000 X X X X X X

Ordering example 2 with motor

. JF2 B 50245032 1000 50253997 50477900 50495886 P X o

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

310 Handling technology HT Components linear afag.com



Order key

E PEZ-80

Mounting kit/gear (1 : x)

Without gear
Without motor

=

BG3

S
i
©

S
=]

[=

o

v
=~

S

o
-

o
=

=

BG4

Assembly

Position of the
connector

AA: Upon request
B: Motor with brake

afag.com

50245032
AXis

50253997
50477900
50477901

50477902

50253998
50477903
50477904
50477905

Third-party motor

M0

XXXX

Nominal stroke  Mounting kit Gear

A

=
50253999
50467058
50467059

50467060

50254000
50467061
50467062
50467063

50253997
50477912
50477913

50477914

50253998
50477915
50477916
50477917

AXXXXXXX KOUOUXXXXX | XXXXXXXX X X X g
Motor ] ol ) i
@ c ¥ © )

(@)} o (@)} D
G— . c
) s c
. g £ %o
50253999 'z =0 g -
£ o2 o g
50467070 | £+ GEJ =
| A 1 9]
50467071 | .. 2 = L
50467072 |~ BG3 2 2
o o
50254000 G o
OCE ©
50467073 | &
50467074 g

50467075 BG4

Servomotor-31-320VDC-950W-45-B-R-x-x
Servomotor-31-320VDC-950W-45-x-R-x-x
Servomotor-31-560VDC-950W-45-B-R-x-x
Servomotor-31-560VDC-950W-45-x-R-x-x
Servomotor-31-560VDC-950W-45-B-|-x-x
Servomotor-31-560VDC-950W-45-x-1-x-x

Servomotor-41-560VDC-2.8kW-45-B-R-x-x
Servomotor-41-560VDC-2.8kW-45-x-R-x-x
Servomotor-41-560VDC-2.8kW-45-B-I-x-x
Servomotor-41-560VDC-2.8kW-45-x-I-x-x

Position of gear

motor

BG: Motor size
s KG: Coupling housing

The plug can be turned 180°.
You can find further information in the
operating manual.

PEZ-80 /SE-Power/E14xx

KG [i] AA
@ A
X oo
g
B 50503160~ 3<
50503156 ' W
B 50495887 ' .
e ittt ittty LS
50495886 o
vy M
B 50485436 .
e B e R | &
50495885 b
. <
B 50495890 g =
e D s | ™M
50495889 2 g
TS
wv vz
B 50485437 ©
50495888 %
o
P
S
A
B
o
u
A
B
o
P
S
u
PE: Planetary gearbox AF: Planetary gearbox, low-backlash

PER: Angular gearbox AFR: Angular gearbox, low-backlash

Handling technology HT Components linear

311



312 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PEZ-100

® The most rigid portal axes
® Single or double guide
® Fully symmetrical

afag.com Handling technology HT Components linear 313



Dimensions and dimension drawings PEZ-100

Module length (stroke + 638) mm
Lubricator nipple
8x both sides M8

Module stroke xxxx mm

T N @ >

( )
((
A\
)
U « J
21
A
B
144 35 280 H 35 98
118 62
X
[[@ @J Mo $ b= A
o] Ire) (( ,Cb, ol 8
* N I T ol 2
2\ ) =
o === ¢ © ; *s % & & 4 B
W X
- 69 @55 2005
C
9 x 24 20015 2
32 j
<
>
N
P i T 0 0666 0 )
© 2 ¢ P8 o% ¢ ¢ J
] i & & ® ® ® (R S
o
© L %° & ® & ? )()
~ 1 e e ® & e o6 e el

b @
Detail X 31:@,253 ;
8 H 20 \@12H7 /2.5 - M8
@9HT /2.1 - M6

60 +0.015

114

20
12.25

68

100 +0.4

314 Handling technology HT Components linear afag.com



Technical data

PEZ-100

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50231524
Max. stroke 5260 mm
Net weight 18.3 kg (at 0 mm stroke)
Moving weight 5kg
Weight/100 mm stroke 1.4 kg
Cross-section profile W x H 100 x 114 mm
Module length H+ 638 mm
Toothed belt width 50 mm
Groove size (below/side) 8/6 mm
Groove distance (below) 68 mm
Hollow shaft & 55 mm
Number of linear guides 1 pcs
Torque 89.1 Nm
Protection type IP 30
Feed constant 280 mm/U
Max. speed v ‘5m/s
Max. acceleration a 50 m/s?
Max. circumferential force 2000 N
Repeat accuracy +/-0.05 mm
Mounting position 4

The technical data pertains to Afag standard test conditions.

Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.

Cleanroom class ISO 14644-1, class I1SO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Inlcuded in the delivery
= 1x Sensor set portal axes [p. 321]

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Accessories
= Stroke limitation PEZ-100 [p. 320]

= Load transmission unit PEZ-100/PDZ-200 [p. 318]

(Catalogue HT accessories)
= NI 8x4.7x16-Sn2.0-PNP-NC-M8x1
= T-nut M10

= Connecting set VS 509

= Mounting set 075

= Mounting set 090

= Mounting set 100

= Mounting set 120

= Planetary gearbox PE090

= Planetary gearbox PE120

= Planetary gearbox AFO75

= Planetary gearbox AF100

= Angular gearbox PERO90

= Angular gearbox PER120

= Angular gearbox AFR075

= Angular gearbox AFR100

= Servomotor-41-560VDC-2.8kW
= Servomotor-51-560VDC-5.0kW
= Servo controller SE-Power

= Servo controller C1xxx-1S

= Servo controller E12xx

= Servo controller E14xx

Handling technology HT Components linear

315



Preferred combinations PEZ-100

3* VS 509 2 3 VP 119 3
* *
3 VW 312 4 3 VP 119 3
3* VS 509 2
3** VW 312 4
3* VS516 2
3* VS516 2
3* VS 516 2
3 VP 148 1
3 < direct > 2
3 < direct > 2
3 VP 118 2
3 VP 118 2
£ A : 3 <direct> 2
rea gantry version
** Area gantry, y-axis rotated 3 VP 119 2,3
Mounting areas
CS, ES PS LM, LE HM SA oz
3 3 3 1 1
2 2 )
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
(O e s [ ps 2]
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

316 Handling technology HT Components linear afag.com



Slide loads PEZ-100

Type PEZ-100

Max. torque Mx 94 Nm
Max. torque My 1100 Nm
Max. torque Mz 1100 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

Mx

X
Maximum payload/type PEZ-100
Installation position (horizontal) for mounting side 3 100 kg
Installation position (vertical) for mounting side 3 100 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 317



318

Ordering example PEZ-100

x
x
x

m XXXXXXXX XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX

Axis Nominal | Mounting Gear Motor
stroke set

Order form
Position gear
Position angular

gearbox
Position motor plug.

Coordinate system

The coordinate system allows you to define the position = A = before

of the gear as well as that of the motor plug. = B =hase
= O=top EF
" P =left
= S =right L
U

= U =downside
Ordering example 1 without motor

.m 50231524 1200 X X X X X X

Ordering example 2 with motor

.m 50231524 1200 50254002 50477906 50495889 P X (0]

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

Handling technology HT Components linear afag.com



Order key

PEZ-100 /SE-Power/E14xx

m 50231524 XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX X X X E
Axis  Nominal stroke Mounting kit~ Gear Motor o ol 5 i
5N c g o 2
) T E Do
3 N 5 f£3 8 %
50254001 50254003 50254001 50254003 2 %2 % =
< 50477903 50467061 50477915 50467073 || - GEJ*_S GE) -g
. } %) v
c 50477904 50467062 50477916 50467074 2 g §
& 50477905 50467063 50477917 50467075 - BG4 S 5
o 2 @
E 50254002 50254004 50254002 50254004 '§ _g’
> 50477906 50467064 50477918 50467076 | & 5
'g 50477907 50467065 50477919 50467077 2
E0 50477908 50467066 50477920 50467078 - BG5S =
Third-party motor KG E]} AA - ER
@ m
Without gear X b Koo X =z
Without motor M@ g
)
Servomotor-41-560VDC-2.8kW-45-B-R-X-X B 50495890 2 <>E
. [ B FE e (2
ks Servomotor-41-560VDC-2.8kW-45-X-R-X-X 50495889 | s
2 BG4 Servomotor-41-560VDC-2.8kW-45-B-I-X-X B 50485437 | g
c R e e
S Servomotor-41-560VDC-2.8kW-45-X-I-X-X 50495888 ! T
S~ —
,g Servomotor-51-560VDC-5.0kW-45-B-R-X-X B 50495893 | g <
R | | | o
s Servomotor-51-560VDC-5.0kW-45-X-R-X-X 50495892 || T
BG5 Servomotor-51-560VDC-5.0kW-45-B-|-X-X B 50485438 | 2
Servomotor-51-560VDC-5.0kW-45-X-I-X-X 50495891 . E:
Position of gear -
P
S
A
> B
]
€ (0]
3 u
<
Position of the motor connector A
B
(o)
P
The plug can be turned 180°. s
You can find further information in the
operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash
B: Motor with brakes KG: Coupling housing PER: Angular gearbox AFR: Angular gearbox, low-backlash

afag.com

Handling technology HT Components linear

319



320 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PDZ-128

® The most rigid portal axes
® Single or double guide
® Fully symmetrical

afag.com Handling technology HT Components linear 321



Dimensions and dimension drawings PDZ-128

Module length (stroke + 433) mm

A
B Lubricator nipple
C 8x both sides M5
H Module stroke xxxx mm
I N\ o
)
A
141 B
— 905 31 190 H ‘31 38
) ] =
> ‘ 8 - A { b
o ==, gl | o, ee=———=————F=—o &
- 48 32 5005
C 56
20 5x30 +0.015
38 3x38 £0.015 @ THT.6 - M4
BRIAAER [
G| f—- e- R { 1
g g = IRF TN )
— N 2 %
@ IHT2.1 - M6 23 3x48 +0.015 @ 8H7/1.8 - M5
2

13

9.75

6.35

128

322 Handling technology HT Components linear afag.com



Technical data

PDZ-128

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50394896
Max. stroke 1700 mm
Net weight 10.7 kg (at 0 mm stroke)
Moving weight 3.4 kg
Weight/100 mm stroke 0.95kg
Cross-section profile W x H 128 x 75 mm
Module length H+ 433 mm
Toothed belt width 65 mm
Groove size (below/side) 6/5 mm
Groove distance (below) 96 mm
Hollow shaft & 32 mm
Number of linear guides 2 pcs
Torque 65.5Nm
Protection type IP 30
Feed constant 175 mm/U
Max. speed v 3m/s
Max. acceleration a "30 m/s?
Max. circumferential force 2340N
Repeat accuracy +/-0.05 mm
Mounting position 4

The technical data pertains to Afag standard test conditions.

Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.

Cleanroom class ISO 14644-1, class I1SO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Inlcuded in the delivery
= 1x Sensor set portal axes [p. 321]

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Accessories

= Stroke limitation PDZ-128 [p. 317]
= Load transmission unit PEZ-65/PDZ-128 [p. 320]
(Catalogue HT accessories)

= T-nut M5

= Connecting set VS 513

= Mounting set 060

= Mounting set 070

= Planetary gearbox PEO50
= Planetary gearbox PE070
= Planetary gearbox AFO60

= Angular gearbox AFR060

= Servomotor-21-72VDC-400W
= Servomotor-31-320VDC-950W
= Servomotor-31-560VDC-950W
= Servo controller SE-Power

= Servo controller E14xx

Handling technology HT Components linear

323



Preferred combinations PDZ-128

3* VS 513 2
3*¥* VW 321 4

< direct > 2
< direct > 2
VP 142 2
VP 154 3
VP 154 3
VS 516 2
VS 516 2
VP 147 1
< direct > 2
VP 119 2,3

VP 119
VP 146

2

3

VP 119 2
< direct > 2
2

3

*  Area gantry version
** Area gantry, y-axis rotated

< direct >
VP 119

Ww w w ww w w w w w w w w w w

Mounting areas

CS, ES PS LM, LE HM SA oz
3 3 1 1
2 2 2 )
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE

3
3 3
ek B Tol | =T BE [ 2
2 2 2 2 3

2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

324 Handling technology HT Components linear afag.com



Slide loads PDZ-128

Type PDZ-128

Max. torque Mx 110 Nm
Max. torque My 230 Nm
Max. torque Mz 230 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

MyY

Mx

X
Maximum payload/type PDZ-128
Installation position (horizontal) for mounting side 3 100 kg
Installation position (vertical) for mounting side 3 100 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 325



326

Ordering example PDZ-128

DVANPER XXXXXXXX XXXX XOXXXXXXX | XXXXXXXX | XXXXXXXX X X X
Axis Nominal  Mounting ~ Gear Motor 5 5 o

stroke set = =

£ = = S
o kel 5 O
g g 28 E
z -
o a o =
%]

o

(a8

Coordinate system

The coordinate system allows you to define the position = A = before

of the gear as well as that of the motor plug. = B =base
= O=top
= P=left
= S =right

= U =downside

Ordering example 1 without motor

. Sy PR 50394896 1000 X X X X X X

Ordering example 2 with motor

. o rayPi 50394896 1000 50253994 50477897 | 50495884 P X (0]

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
= including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

Handling technology HT Components linear afag.com



Order key PDZ-128 /SE-Power/C1xxx/E14xx

PDZ-128 50394896 XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX X X X g
Axis  Nominal stroke Mounting kit~ gear Motor o 5 5 i
v c g o o
el s> L c
kS bl E o
€ D s £3 S 3
= °5 5 a
50253994 8 %E b= g
R 50477897 5= L
< 50477898 - watag 2 = 2
t ) | (@] w
‘.;s, 50477899 - BG2 sk
= @
E 50253995 50253996 50253995 50253996 g .g‘
= 50477900 50467058 50477912 50467070 -, * ]
g 50477901 50467059 50477913 50467071 g
§ 50477902 50467060 50477914 50467072 @ BG3 =
Third-party motor KG =] i
Without gear
Without Motor M@
Servomotor-21-72VDC-400W-45-B-I-x-x B 50485435 &+ g X
Servomotor-21-72VDC-400W-45-x-I-x-x 50495882 oo
ol BG2 Servomotor-21-320VDC-400W-45-B-R-x-x B 50495884 5
§ Servomotor-21-320VDC-400W-45-x-R-x-x 50495883 "i Dc;z %
< [ttt Ittt et T
§ Servomotor-31-320VDC-950W-45-B-R-x-x B 50503160 A
,g Servomotor-31-320VDC-950W-45-x-R-x-x 50503156 |- 5
s Servomotor-31-560VDC-950W-45-B-R-x-x B 50495887+ | | 83
BG3 Servomotor-31-560VDC-950W-45-x-R-x-x 50495886 w ™
Servomotor-31-560VDC-950W-45-B-I-x-x B 50485436 & %
Servomotor-31-560VDC-950W-45-x-I-x-x 50495885 W
Position of gear
P
S
A
> B
o)
€ (0]
3 U
<
Position of the motor connector A
B
(0]
P
The plug can be turned 180°. S
You can find further information in the
operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash
B: Motor with brakes KG: Coupling housing PER: Angular gearbox AFR: Angular gearbox, low-backlash

afag.com Handling technology HT Components linear 327



328 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PDZ-160

® The most rigid portal axes
® Single or double guide
® Fully symmetrical

afag.com Handling technology HT Components linear 329



Dimensions and dimension drawings PDZ-160
Type PDZ-160
A Module length (stroke + 574) mm
B Lubricator nipple
C 4x both sides M6
H Module stroke xxxx mm

3x 48 10015

Detail X

90

12.25

45
I
[

»

9.75

120
160

330 Handling technology HT Components linear

9x 24 +0015

afag.com



Technical data

PDZ-160

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50245033
Max. stroke 3650 mm
Net weight 20.8 kg (at 0 mm stroke)
Moving weight 6.8 kg
Weight/100 mm stroke 1.62 kg
Cross-section profile W x H 160 x 90 mm
Module length H+ 574 mm
Toothed belt width 80 mm
Groove size (below/side) 8/6 mm
Groove distance (below) 120 mm
Hollow shaft & 40 mm
Number of linear guides 2 pcs
Torque 114.1 Nm
Protection type IP 30
Feed constant 224 mm/U
Max. speed v ‘5m/s
Max. acceleration a 50 m/s?
Max. circumferential force 3200 N
Repeat accuracy +/-0.05 mm
Mounting position 4

The technical data pertains to Afag standard test conditions.

Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.

Cleanroom class ISO 14644-1, class I1SO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Inlcuded in the delivery
= |x Sensor set portal axes [p. 321]

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Accessories
= Stroke limitation PDZ-160 [p. 321]

= | oad transmission unit PEZ-80/PDZ-160 [p. 318]

(Catalogue HT accessories)

= T-nut M6

= |NI 8x4.7x16-Sn2.0-PNP-NC-M8x1
= Connecting set VS 509

= Mounting set 060

Mounting set 070

Mounting set 075

Mounting set 090

Planetary gearbox PE070

Planetary gearbox PE090
Planetary gearbox AFO60

= Planetary gearbox AF075

= Angular gearbox PERO70

= Angular gearbox PER090

= Angular gearbox AFR060

= Angular gearbox AFR075

= Servomotor-31-320VDC-950W
= Servomotor-31-560VDC-950W
= Servomotor-41-560VDC-2.8kW
= Servo controller SE-Power

= Servo controller E14xx

Handling technology HT Components linear

331



Preferred combinations PDZ-160
. .
3% VS 509 2 3 < direct > 2
3x* VW 314 4 3 VP 142 2
3 VP 142 2
3 VP 118 3
3 < direct > 2
3* CS516 2
3* CS516 2
3 VP 119 2,3
3 VP 146 2,3
. 3 VP 144 2,3
* Area gantry version
** Area gantry, y-axis rotated 3 VP 148 1
3 VP 145 2
3 VP 118 2
3 < direct > 2
3 VP 119 2,3
Mounting areas
Cs, ES PS LM, LE HM SA 0z
3 3 3 1
2 2 2 > 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
a[) Br=To)  I———Tr R [ p 2§
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

332 Handling technology HT Components linear

afag.com



Slide loads PDZ-160

Type PDZ-160

Max. torque Mx 260 Nm
Max. torque My 550 Nm
Max. torque Mz 550 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

MyY

Mx

X
Maximum payload/type PDZ-160
Installation position (horizontal) for mounting side 3 200 kg
Installation position (vertical) for mounting side 3 200 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 333



Ordering example PDZ-160

VAN XXXXXXXX — XXXX XXOOXXXXX | XXXXXXXX | XXXXXXXX X X X
Axis Nominal  Mounting — Gear Motor & 5 o

stroke set N S =

= c = >
S kel 5 o
g 8 28 £
z B s
(@] a o =
(%)

o

[aY8

Coordinate system

The coordinate system allows you to define the position = A = before

of the gear as well as that of the motor plug. = B =hase
= O=top
= P=left
= S =right

= U =downside
Ordering example 1 without motor

. Dy [N 50245033 1500 X X X X X X

Ordering example 2 with motor

. a8 50245033 1500 50253999 50477900 50142524 P X o

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

334 Handling technology HT Components linear afag.com



Order key

E PDZ-160 50245033

-
3
-
N
S
©
9]
o
~
=
=
o
c
B
c
S
]
=

=

BG3

Motor/controller

=

BG4

Third-party motor

Without gear
Without Motor M@

XXXX XXXXXXXX | XXXXXXXX XXXXXXXX X X X E
AXxis Nominal stroke  Mounting kit gear Motor 5 55 5 i
g c g © o
(@] o (@] 7] c
: S | gs E B
50253997 50253999 50253997 50253999 'z =3 gz
50477900 50467058 50477912 50467070 = ES E 2
| A 9]
50477901 50467059 50477913 50467071 £ % §
50477902 50467060 50477914 50467072 | BG3 c %
= ]
50253998 50254000 50253998 50254000 Z °
50477903 50467061 50477915 50467073 | =
50477904 50467062 50477916 50467074 ,g
50477905 50467063 50477917 50467075 - BG4 =

G [ .

B

Servomotor-31-320VDC-950W-45-B-R-x-x
Servomotor-31-320VDC-950W-45-x-R-x-x
Servomotor-31-560VDC-950W-45-B-R-x-x
Servomotor-31-560VDC-950W-45-x-R-x-x
Servomotor-31-560VDC-950W-45-B-|-x-x
Servomotor-31-560VDC-950W-45-x-1-x-x

Servomotor-41-560VDC-2.8kW-45-B-R-x-x
Servomotor-41-560VDC-2.8kW-45-x-R-x-x
Servomotor-41-560VDC-2.8kW-45-B-|-x-x
Servomotor-41-560VDC-2.8kW-45-x-I-x-x

Position of gear

Assembly

Position of the motor

connector

The plug can be turned 180°.
You can find further information in the

PDZ-160 /SE-Power/E14xx

1 kVA

50503156
50495887 '
50495886 '
50485436
50495885 '

SE-Power SE-Power

3 kVA

E14xx

50495890 '
50495889 '
50485437
50495888 '

SE-Power
6 kVA (3 kVA)

E14xx

A

B

o

U
A
B
0]
P
S
u

operating manual.

AA: Upon request
B: Motor with brakes

afag.com

BG: Motor size
KG: Coupling housing

PE: Planetary gearbox
PER: Angular gearbox

AF: Planetary gearbox, low-backlash
AFR: Angular gearbox, low-backlash

Handling technology HT Components linear

335



336 Handling technology HT Components linear afag.com



O afag

Portal axes PEZ & PDZ
PDZ-200

® The most rigid portal axes
® Single or double guide
® Fully symmetrical

afag.com Handling technology HT Components linear 337



Dimensions and dimension drawings

PDZ-200

Type PDZ-200
A Module length (stroke + 662) mm
B Lubricator nipple
C 8x both sides M8
H Module stroke xxxx mm
375
@55 005
Detail X
9x 30 £0.015
| 200
g e s

150

1225

200

338 Handling technology HT Components linear

afag.com



Technical data

PDZ-200

Operating temperature 10-40°C
Storage temperature 0-50°C
Humidity <90 %
Order number 50228209
Max. stroke 5260 mm
Net weight 35.6 kg (at 0 mm stroke)
Moving weight 11.8kg
Weight/100 mm stroke 2.5kg
Cross-section profile W x H 200x 114 mm
Module length H+ 662 mm
Toothed belt width 100 mm
Groove size (below/side) 12/8 mm
Groove distance (below) 150 mm
Hollow shaft & 55 mm
Number of linear guides 2 pcs
Torque 178.3 Nm
Protection type IP 30
Feed constant 280 mm/U
Max. speed v ‘5m/s
Max. acceleration a 50 m/s?
Max. circumferential force 4000 N
Repeat accuracy +/-0.05 mm
Mounting position 4

The technical data pertains to Afag standard test conditions.

Note: The mounting sets, gears, motors, controllers and cables can be foand in the corresponding chapters.

Cleanroom class ISO 14644-1, class I1SO 7

*The maximum values listed above depend on the application and must not be combined. In case of doubt, please contact your Afag partner.

Inlcuded in the delivery
(Catalogue HT accessories)
= |x Sensor set portal axes [p. 321]

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Accessories
= Stroke limitation PDZ-200 [p. 321]

= | oad transmission unit PEZ-100/PDZ-200 [p. 318]

(Catalogue HT accessories)
= NI 8x4.7x16-Sn2.0-PNP-NC-M8x1
= T-nutM10

= Connecting set VS 510

= Mounting set 075

= Mounting set 090

= Mounting set 100

= Mounting set 120

= Planetary gearbox PE090

= Planetary gearbox PE120

= Planetary gearbox AF075

= Planetary gearbox AF100

= Angular gearbox PER090

= Angular gearbox PER120

= Angular gearbox AFR075

= Angular gearbox AFR100

= Servomotor-41-560VDC-2.8kW
= Servomotor-51-560VDC-5.0kW
= Servo controller SE-Power

= Servo controller E14xx

Handling technology HT Components linear

339



Preferred combinations PDZ-200

3* VS 510 2 3 VP 142 2
3** VW 315 4 3 VP 142 2
3 VP 126 3
3 VP 144 2
3 < direct > 2
3* VS 516 2
3* VS 516 2
. 3 VP 143 2,3
*  Area gantry version
** Area gantry, y-axis rotated 3 VP 143 2,3
3 VP 144 2,3
3 < direct > 2
Mounting areas
CS, ES PS LM, LE HM SA 0z
3 3 3 1 1
2 2 2 > 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
=l B Toh | =) RE [ p 2[R
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

340 Handling technology HT Components linear afag.com



Slide loads PDZ-200

Type PDZ-200

Max. torque Mx 500 Nm
Max. torque My 930 Nm
Max. torque Mz 930 Nm

Mx My Mz
+ + <1

Mxmax Mymax Mz max

MyY

Mx

X
Maximum payload/type PDZ-200
Installation position (horizontal) for mounting side 3 300 kg
Installation position (vertical) for mounting side 3 300 kg

Assembly sides module mounting  horizontal: 3 vertical: E
I
o ™/ 10]

:
g

Calculation of position versus time
The travel times of electrically driven gantry axis are dependent on the useful load, stroke + drive.

Our technicians will be pleased to make an optimum position/time calculation for you based on the gantry axis chosen.
For being able to advise you correctly, we need the following data from you.

Maximum planned stroke length

Maximum moving mass
= Operation time desired

afag.com Handling technology HT Components linear 341



Ordering example PDZ-200

D VAPLIIE XXXXXXXX — XXXX XOOXXXXX | XXXXXXXX | XXXXXXXX X X X
Axis Nominal  Mounting — Gear Motor 5 5 o

stroke set =] =)

£ = =) S
S kel 5 o
L= = 3 S
g g 28 E
z -
(@] a o =
(%]

o

(a1

Coordinate system

The coordinate system allows you to define the position = A = before

of the gear as well as that of the motor plug. = B =hase
= O=top
= P=left
= S =right

= U =downside
Ordering example 1 without motor

. o yayLE 50228209 2000 X X X X X X

Ordering example 2 with motor

. oAyl 50228209 2000 50254004 50467064 | 50245911 P X o

Ordering process

= Select the desired portal axis, the gear and the motor.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= Enter the desired lenght (mm) in the field nominal stroke.

= Select the desired position of the gears as well as the position of the motor plug.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

Third-party motors
= |f the mounting of a third-party motor is desired the Afag axis can be provided with a gear,
including a motor adapter plate for the third-party motor.

Legend order key
External controller @ P|anetary gearbox
= Mechanical limiting values of the module must be observed (v max., a max.,...). JL—;] Angular gearbox

= The controller parametrisation is carried out by the customer. @ Coupling housing

342 Handling technology HT Components linear afag.com



Order key

Mounting kit/gear (1 : x)

Motor/controller

>
e}
£
@
a
<

PDZ-200 /SE-Power/E14xx

E 50228209 XXXX XXXXXXXX | XXXXXXXX | XXXXXXXX X X X g
Axis Nominal stroke  Mounting kit gear Motor = 55 5 i
5 55 § 2
o oo c o
50254001 50254003 50254001 50254003 2 = o g E
50477903 50467061 50477915 50467073 | = g - g -%
50477904 50467062 50477916 50467074 i < f %
50477905 50467063 50477917 50467075 -~ BG4 g §
50254002 50254004 50254002 50254004 '§ .qg)’
50477906 50467064 50477918 50467076 |- “ &
50477907 50467065 50477919 50467077 ——i— "E
50477908 50467066 50477920 50467078 ° BG5S =
Third-party motor KG =] i
SN
Without gear <
Without Motor M@ 5 E
Servomotor-41-560VDC-2.8kW-45-B-R-X-X B 504958%0 « | | 5 ?;Z/
Servomotor-41-560VDC-2.8KW-45-X-R-X-X 50495889 S
BG4 Servomotor-41-560VDC-2.8kW-45-B-I-X-X B 50485437 % | | %
Servomotor-41-560VDC-2.8kW-45-X-I-X-X 50495888 W
Servomotor-51-560VDC-5.0kW-45-B-R-X-X B 50495893 '« | | g <
Servomotor-51-560VDC-5.0kW-45-X-R-X-X 50495892 ' f <
BG5 Servomotor-51-560VDC-5.0kW-45-B--X-X B 50485438 &~ <
Servomotor-51-560VDC-5.0kW-45-X-I-X-X 50495891 3
Position of gear L
P
S
A
B
(o]
U
Position of the motor connector A
B
(0]
P
The plug can be turned 180°.
You can find further information in the 5
operating manual. U
AA: Upon request BG: Motor size PE: Planetary gearbox AF: Planetary gearbox, low-backlash

B: Motor with brakes

afag.com

KG: Coupling housing

PER: Angular gearbox AFR: Angular gearbox, low-backlash

Handling technology HT Components linear

343



Accessories PEZ & PDZ

Order number 50396400
Net weight 1.579kg
Suitable for PEZ-52

A Required

length in mm

|
28_|11

EsSa——————= -
] s
S fe
2 A= XA-4
XA
Order number 50267101
Net weight 3.276 kg
. PEZ-65
Suitable for PD7-128
Required

A

length in mm

344 Handling technology HT Components linear afag.com



Accessories PEZ & PDZ

Order number 50267102
Net weight 4.948 kg
. PEZ-80
Suitable for PDZ-160
Required
A .
length in mm

T
Eﬁ%ﬁ Hig

oo
oo&c"’
)

3
Order number 50267103
Net weight 4.85 kg
. PEZ-100
Suitable for PDZ-200
Required
A )
length in mm

U

8

?80

afag.com Handling technology HT Components linear 345



Accessories PEZ & PDZ

Sensor slot cover PEZ/PDZ PEZ/PDZ
Order number 50247660
Net weight 0.011kg
Suitable for all PEZ and PDZ
A Required length
inmm
A 3.9

D@D@
|

Stroke limitation PEZ-52 PEZ-52
Order number 50403195
Net weight 0.195kg
Suitable for PEZ-52
67 ,
\ 64 . 12
"Q ———
~

| S
[¥7)
& ol
% - il
[%7)
&
R 6x M5x12
52 ‘ 67
Stroke limitation PEZ-65 PEZ-65
Order number 50281376
Net weight 0.275kg
Suitable for PEZ-65

77

]

,

346 Handling technology HT Components linear afag.com




Accessories PEZ & PDZ

Stroke limitation PEZ-80 PEZ-80
Order number 50281045
Net weight 0.542 kg
Suitable for PEZ-80

Stroke limitation PEZ-100 PEZ-100

Order number 50281046
Net weight 0.646 kg
Suitable for PEZ-100

116

Stroke limitation PDZ-128 PDZ-128
Order number 50403196
Net weight 0.358 kg
Suitable for PDZ-128

6x M5x12

afag.com Handling technology HT Components linear 347



Accessories PEZ & PDZ

Stroke limitation PDZ-160 PDZ-160
Order number 50281047
Net weight 0.675kg
Suitable for PDZ-160

Stroke limitation PDZ-200 PDZ-200
Order number 50281048
Net weight 0.908 kg
Suitable for PDZ-200

216

Sensor set portal axes [p. 321] Sensor-Set
Order number 50318206

Net weight 0.006 kg
Suitable for all PEZ and PDZ

348 Handling technology HT Components linear

afag.com



afag.com Handling technology HT Components linear 349



O afag

Portal axes PEL & PDL

PEL20-SL - PEL20 &
PDL30 - PDL40-HP

e

a
e

350 Handling technology HT Components linear

aaaaaaaa



Table of contents: PEL & PDL

PEL20-SL | 353
PEL20 | 361
PDL30 | 369
PDL40 377

PDL40-HP | 385
Accessories PEL & PDL m

afag.com Handling technology HT Components linear 351



352 Handling technology HT Components linear afag.com



O afag

Portal axes PEL & PDL
PEL20-SL

= Compact, simple portal axis
= Maximum stroke at minimum installation space
= Cost-efficient entry into linear motor technology

afag.com Handling technology HT Components linear 353



354

Dimensions and dimension drawings

@ - 270° rotatable connector
@) - External position measuring system
®) - Groove for sliding block size 5

PEL20-SL

417 mm
H+ 234 mm

38

20 | 20

4x@ 8 H7/1.8-M5

W@@ eH

4x M5

4x P 9H7/2.1-M6

6x P 7H7/1.6-M4

6x ¥ 5H7/1.3-M3

89
20
30

80
104
121

11, 20
30
48

H

Handling technology HT Components linear

afag.com



Technical data

Operating temperature
Storage temperature
Humidity

Order number

PEL20-SL

0-50°C
0-50°C
<90 %

50444484 50444485 50444486 50444487 50444488 50444489 50444490

Stroke H

Net weight

Max. speed
Moving weight
Drive

Permanent force
Peak force
Repeat accuracy”

- with external position
measuring system

Mounting position

80 mm 140 mm 210 mm 270 mm 370 mm 550 mm 640 mm
3.2 kg 3.5kg 3.85kg 4.15 kg 4.65 kg 5.55kg 6 kg

The technical data pertains to Afag standard test conditions.
Note: For vertical installation, a weight compensation is required.

Cleanroom class ISO 14644-1, class I1SO 7

*The installation of the portal axis, via attachment blocks, guarantees improved rigidity and accuracy.

Inlcuded in the delivery
(Catalogue HT accessories)
= 4x Centering bushing @8x3.5

= Funnel-type lubrication nipple 90° M6

6.8 m/s
0.8 kg
Linear motor, electric
15N
67N
+/- 0.05 mm
+/-0.02 mm
.:..
Accessories Alternative Accessories
= External position measuring system PEL20 [p. 365] (Catalogue HT accessories)
= Connecting set VS 516 [p. 366] = Additional motor cables
(Catalogue HT accessories) = Additional controllers
= T-nut M5 = Additional power supplies
= Motor cable-M16 = Console in program for supports/columns
= Controller C11xx-1S = Drag-chain on request

= Plug kit for C1xxx-1S
USB-RS232 Converter for controllers
= Power supply SO1-72/500, 1-phase

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

355



Preferred combinations

PEL20-SL

—_ = NN NN, W W NN

UG, GM, SG, DG, PG, GE

VS 516 2 3 < direct >
VS 516 2 3 < direct >
2 < direct > 2 3 vEes
3 VP 146
3 VP 147
3 VP 107
3 < direct >
3 < direct >
3 VP 137
3 < direct >
3 < direct >
Mounting areas
CS, ES PS LM, LE HM SA
3 3 3 1 1
—T1 1 1@% 3@ [%z
2 2 2
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE
3 3 3
a[ ) O Ton | I R [P
2 2 2 2 2

Note that there might be different mounting positions from one module to another one.

2[4
3

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

356 Handling technology HT Components linear

afag.com



Slide loads PEL20-SL

Type PEL20-SL

Force Fy 1500 N
Force Fz 1500 N
Max. dynamic torque Mx 50 Nm
Max. dynamic torque My 40 Nm
Max. dynamic torque Mz 40 Nm

Fz M
Mz
My

Fy
Maximum payload/type PEL20-SL

Installation position (horizontal) for mounting side 3 5kg
Installation position (vertical) for mounting side 3 5kg
Assembly sides module horizontal: 3 vertical

mounting I ——

Operation time diagram

Time [ms]
1400
1200

T __—"-—
800 — | B —

600 F--" B
L—] P e
400 // __-—“__ . . .-

200 g ——

0 05 1 15 2 25 3 35 4 45 5
Mass [kg]

Running times based on pause times of 300 ms

afag.com Handling technology HT Components linear 357



358

Ordering example PEL20-SL

PEL20-SL XXXXXXXX X X X

Portal axis External position Additional slides Additional slides
measuring system short (SL) long

Order form

Coordinate system
The coordinate system allows you to define the position of = VL = front left
the external position measuring system. = HL = back left

HL

Ordering example 1 without external position measuring system and without additional slide

. PEL20-SL 50444488 X 0 0

Ordering example 2 with external position measuring system and with additional slide long

. PEL20-SL 50444490 R 0 1

Ordering process

= Select the desired portal axis from the order key.
= Enter the corresponding red order numbers in the order form in the place of the cross.

= |f you want an external position measuring system, select the position of the external position measuring system.
= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

= |f you need an additional slide, select the number of the corresponding additional slides.

= Enter the corresponding number of additional slides in the order form in the place of the cross.

Additional slides
= The additional slide is always positioned to right of the current slide of the portal axis.

Handling technology HT Components linear afag.com



Order key PEL20-SL

x
X

PEL20-SL XXXXXXXX X

PEL20-80-SL 50444484 External position
PEL20-140-SL 50444485 measuring system

50444486
50444487
50444488
50444489
50444490

Portal axis

Quantity additional slide (SL)
Quantity additional slide long

Without X
Front Left VL
Back Left HL

External position measuring system

Quantity short (SL) 0,1,2,3,..

@
S
w
©
c
.2
=
o
°
<

Quantity long 0,1,2,3,..

The entire stroke of the portal axis is reduced by 155 mm for a short additional slide (SL), and by 235 mm for a long one.

afag.com Handling technology HT Components linear 359



360 Handling technology HT Components linear afag.com



O afag

Portal axes PEL & PDL
PEL20

= Compact axis for higher masses
= High flexibility from comprehensive drilling pattern
= Long service life from direct drive

afag.com Handling technology HT Components linear 361



362

Dimensions and dimension drawings

@ - 270° rotatable connector
@) - External position measuring system
® - Groove for sliding block size 5

79,6 22

PEL20

417 mm
H+ 314 mm

86

38

5
51,5

(]

15

4x® 8 H7/1.8-M5

15

25

4x PIH7/2.1-M6
12x@ 7TH7/1.6-M4

12x® 5H7/1.3-M3

30

@15
®9

—
OF

\

s
\

89

20
30

30
48

80
104
121

11,20

232

Handling technology HT Components linear

afag.com



Technical data

PEL20

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50444491 50444492 50444493 50444494 50444495 50444496
Stroke H 60 mm 130 mm 190 mm 290 mm 470 mm 560 mm
Net weight 3.3kg 3.65kg 3.95kg 4.45 kg 5.35kg 5.8kg
Max. speed 4.8 m/s

Moving weight 1.2 kg

Drive Linear motor, electric

Permanent force 31N

Peak force 137N

Repeat accuracy” +/-0.05 mm

e o w002

Mounting position -

The technical data pertains to Afag standard test conditions.
Note: For vertical installation, a weight compensation is required.

Cleanroom class ISO 14644-1, class I1SO 7

*The installation of the portal axis, via attachment blocks, guarantees improved rigidity and accuracy.

Inlcuded in the delivery
(Catalogue HT accessories)
= 4x Centering bushing @8x3.5
= Funnel-type lubrication nipple 90° M6

Accessories

= External position measuring system PEL20 [p. 365]
= Connecting set VS 516 [p. 366]

(Catalogue HT accessories)

= T-nut M5

= Motor cable-M16

= Controller C11xx-1S

= Plug kit for C1xxx-1S

= USB-RS232 Converter for controllers

= Power supply S01-72/500, 1-phase

Alternative Accessories
(Catalogue HT accessories)
= Additional motor cables

= Additional controllers

= Additional power supplies

= Console in program for supports/columns
= Drag-chain on request

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

363



Preferred combinations

3 VS 516 2
3 VS 516 2

2 < direct > 2

Mounting areas

CS, ES PS LM, LE HM SA
3

PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE

3 3 3
a1 eI Toh | =T [ s [
2 2 2 2

2

Note that there might be different mounting positions from one module to another one.

< direct >
< direct >
VP 146
VP 146
VS 516
VS 516
VP 147
VP 148
<direct >
VP 107
< direct >
<direct >
< direct >
VP 137
< direct >
< direct >
< direct >
< direct >
< direct >
VP 146
VS 507
VS 507
< direct >
VP 150

3 3 1 1
2 2

PEL20
1
2
2
3
3
2
2
1
1
3
2
2
2
2
2
2
2
2
1
1
1
1
1
1
1
oz
=)

UG, GM, SG, DG, PG, GE

2[7]

3

The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

364 Handling technology HT Components linear

afag.com



Slide loads PEL20

Type PEL20

Force Fy 3000 N
Force Fz 3000 N
Max. dynamic torque Mx 80 Nm
Max. dynamic torque My 300 Nm
Max. dynamic torque Mz 300 Nm

Fz Mx
Mz
My
Fy

Maximum payload/type PEL20

Installation position (horizontal) for mounting side 3 10kg
Installation position (vertical) for mounting side 3 10kg
Assembly sides module horizontal: 3 vertical:

mounting Diﬂ

Operation time diagram

Time [ms]
1000
900 -
800 e
700
600 — =" e
/—"— _— ---1"
500 - 1== .
400 P et L
e L SN
200 [C--- =T
100 =
0
0 1 2 3 4 5 6 7 8 9 10
Mass [kg]
Stroke
500
400 --------
300
200 --------
100 @ — —mem--

Running times based on pause times of 300 ms

afag.com Handling technology HT Components linear 365



Ordering example PEL20

PEL20 XXXXXXXX X X X

Portal axis External position Additional slides Additional slides
measuring system short (SL) long

Order form

Coordinate system

The coordinate system allows you to define the position of ~ ® HL = back left

the external position measuring system. = ML = middle left
= VL = front left

Ordering example 1 with external position measuring system and without additional slide

. PEL20 50444494 M 0 0

Ordering example 2 without external position measuring system and with additional slide (long)

- PEL20 50444496 X 0 1

Ordering process

= Select the desired portal axis from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= |f you want an external position measuring system, select the position of the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

= |f you need an additional slide, select the number of the corresponding additional slides. Enter the corresponding
number of additional slides in the order form in the place of the cross.

Additional slides
= The additional slide is always positioned to right of the current slide of the portal axis.

366 Handling technology HT Components linear afag.com



Order key PEL20

x
x

PEL20 XXXXXXXX X

50444491 External position
50444492 measuring system
50444493
50444494
50444495
50444496

e
X
()

©

-
=
o

o

Quantity additional slide (SL)
Quantity additional slide long

Without X
Front Left VL
Middle Left ML
Back Left HL

External position measuring system

Quantity short (SL) 0,1,23,..

[
2
w
©
c
.2
=
=)
°
<

Quantity long 0,1,2,3,..

The entire stroke of the portal axis is reduced by 155 mm for a short additional slide (SL), and by 235 mm for a long one.

afag.com Handling technology HT Components linear 367



368 Handling technology HT Components linear afag.com



O afag

Portal axes PEL & PDL
PDL30

= High torsion stiffness from double quide
= |deal for area booms
= Robust design for long service life

afag.com Handling technology HT Components linear 369



Dimensions and dimension drawings

@ - 180° rotatable connector

@) - External position measuring system
®) - Groove for sliding block size 8

@ - Groove for sliding block size 5

40 mm

PDL30

50 mm

H+270 mm H+ 290 mm

95.8 22
& © -]
< wn -
& 8lS
o 1 -
- N
t=f al b |
10
/24 48 \4x¢9H7/2.1—M6
L
0.1
\
 —
=
o
190
120
104
30 60
48
215 8x M8
1 1loo — réoj
I | D
=
T
R # saf@ EEIS
P |
=0

L]
B

4x @9 H7/2.1-M6

8x @12 H7/2.5-M8

370 Handling technology HT Components linear

afag.com



Technical data PDL30

PDL30

Operating temperature 0-50°C
Storage temperature 0-50°C
Humidity <90 %

PDL30- PDL30- PDL30- PDL30- PDL30- PDL30- PDL30-

0090-D19 0150-D19 0250-D19 0350-D19 0450-D19 0550-D19 0650-D19

Order number 50444497 50444498 50444499 50444500 50444501 50444502 50444503
Stroke H 90 mm 150 mm 250 mm 350 mm 450 mm 550 mm 650 mm
Net weight 7.2 kg 7.8 kg 8.8kg 9.8kg 10.8 kg 11.8kg 12.8 kg
Max. speed 3.2m/s

Moving weight 3.11kg

Drive Linear motor, electric

Permanent force 51N

Peak force 255N

Repeat accuracy +/- 0.05 mm

- with external position measuring system +/- 0.05 mm

PDL30- PDL30- PDL30- PDL30- PDL30- PDL30- PDL30-

0130-D20 0230-D20 0330-D20 0430-D20 0530-D20 0630-D20 0730-D20

Order number 50444504 50444505 50444506 50444507 50444508 50444509 50444510
Stroke H 130 mm 230 mm 330 mm 430 mm 530 mm 630 mm 730 mm
Net weight 7.6 kg 8.6 kg 9.6 kg 10.6 kg 11.6 kg 12.6 kg 13.6 kg
Max. speed 3.2m/s

Moving weight 3.11kg

Drive Linear motor, electric

Permanent force 51N

Peak force 255N

Repeat accuracy +/-0.05mm

- with external position measuring system +/-0.02 mm

The technical data pertains to Afag standard test conditions.

PDL30- PDL30- PDL30-

Type Note: For vertical installation, a weight compensation is required.
0930-D20 1130-D20 1330-D20 Cleanroom class ISO 14644-1, class ISO 7

Order number 50444511 50444512 50444513

Stroke H 930mm 1130 mm 1330 mm

Net weight 15.6 kg 17.6 kg 19.6 kg

Max. speed 3.2m/s

Moving weight 3.11kg

Drive Linear motor, electric

Permanent force 51N

Peak force 255N

Repeat accuracy +/-0.05mm

- with external position measuring system  +/- 0.02 mm

Mounting position is the same for all PDL30 ";t’

Inlcuded in the delivery Accessories Alternative Accessories
(Catalogue HT accessories) = External position measuring system PDL30/40 [p. 365]  (Catalogue HT accessories)
= 4x Centering bushing @9x4 = Connecting set VS 516 [p. 366] = Additional motor cables
(Catalogue HT accessories) = Additional controllers
= T-nut M8 = Additional power supplies
= Motor cable-M17 = Console in program for supports/columns
= Controller C11xx-1S = Drag-chain on request

= Plug kit for CTxxx-1S
= USB-RS232 Converter for controllers
= Power supply SO01-72/1000, 3-phase

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear

371



Preferred combinations PDL30

3* VS 516 2 3 < direct > 2
3* VS 516 2 3 < direct > 2
3* VS 516 2 3 < direct > 2
3 VS 516 2 3 VP 146 3
VS 516 2 3 VP 146 3
< direct > 2 3 VS 516 2
3 VS 516 2
3 VS 516 2
3 VP 147 1
3 VP 148 1
3 < direct > 1
3 < direct > 2
3 < direct > 2
3 < direct > 2
3 <direct > 2
3 < direct > 2
3 <direct > 2
3 VP 146 2
3 VP 146 1
* Area gantry version 3 VP 146 1
3 VP 150 1
Mounting areas
CS, ES PS LM, LE H1M SA 0z
— | | o | A | B | TR
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 3; RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3
4@1 11 1D—i|]1 1EH]3 1B}3 21§
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

372 Handling technology HT Components linear afag.com



Slide loads PDL30

Force Fy 4500 N
Force Fz 4500 N
Max. dynamic torque Mx 850 Nm
Max. dynamic torque My 1400 Nm
Max. dynamic torque Mz 1400 Nm

Maximum payload/type PDL30
Installation position (horizontal) for mounting side 3 20 kg
Installation position (vertical) for mounting side 3 20 kg
Assembly sides module mounting  horizontal: 3 vertical:

I——10

3
Diagram PDL30

Force range D19 Operation time diagram
Force [N] Time [ms]
275 1600
250
o T
200 — "
i 1000 [___oemmmmm T
150 oo [ e
125 — —
— [,
100 600 fe=—"" — — . —
75 | — [ --
400 ==
R T e I - [
25 200 [ .. —
0 —— , - 0
0 position Middle stroke range Max. position 0 25 5 75 10 125 15 175 20
. Mass [kg]
Middle stroke range Controller HC (15 A) Strok
PDL30-90-D19 20mm Controller Std (8 A) ——— troke
PDL30-150-D19 80 mm 1300
PDL30-250-D19 180 mm 1100 ---
PDL30-350-D19 280 mm 700 — c-
PDL30-450-D19 380 mm 500
PDL30-550-D19 480 mm 300 --------
PDL30-650-D19 580 mm 100 ——— -

Running times based on pause times of 200 ms

afag.com Handling technology HT Components linear 373



Ordering example PDL30

PDL30 XXXXXXXX XX X

Portal axis External position Additional slides
measuring system

Order form

Coordinate system

The coordinate system allows you to define = VVR= front right

the position of the external position measuring system. = HR= back right
= VL= front left
= HL= back left

HL

Ordering example 1 with external position measuring system and without additional slide

. PDL30 50444499 VR 50472113 X

Ordering example 2 with external position measuring system and with additional slide

. PDL30 50444512 HL 16630159

Ordering process

= Select the desired portal axis from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= |f you want an external position measuring system, select the position of the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

= [f you need an additional slide, select the number of the corresponding additional slides. Enter the corresponding
number of additional slides in the order form in the place of the cross.

Additional slides
= The additional slide is always positioned to right of the current slide of the portal axis.

374 Handling technology HT Components linear afag.com



Order key PDL30

PDL30 XXXXXXXX 50472113

PDL30-90-D19 50444497 External position measuring

PDL30-150-D19 50444498 system
PDL30-250-D19 50444499
PDL30-350-D19 50444500
PDL30-450-D19 50444501
PDL30-550-D19 50444502
PDL30-650-D19 50444503
50444504

50444505 10
50444506
50444507
50444508
50444509
50444510
50444511
50444512
50444513

Quantity additional slide

Portal axis

External position measuring system

Without X

Front right VR
Back right HR
Front left VL
Back left HL

16630159 ADD. SLIDE
PDL30 FIT. W. STRIPPER
N7 16630160 ADD. SLIDE
Additional slide PDL30 FIT. WO. STRIPPER

)
i)
w
©
c
.2
=
o
°
<

The entire stroke of the portal axis is reduced by 228 mm for an additional slide with a D19 portal axis and by 247 mm
with a D20 portal axis.

afag.com Handling technology HT Components linear 375



376 Handling technology HT Components linear afag.com



O afag

Portal axes PEL & PDL
PDL40

= Force package with high dynamics
= For the faster applications
= High performance from compact build

afag.com Handling technology HT Components linear 377



378

Dimensions and dimension drawings PDL40

A 49 mm 64 mm
L H+ 340 mm H+ 370 mm

@ - 270° rotatable connector

@) - External position measuring system
® - Groove for sliding block size 8

@ - Groove for sliding block size 5

95,8 22

48
1]
© o
@ o
29
0 L
©
@ [e]
T
=
96,5
102,1
137

1020 20

30,2

~4© > O

\“j 24| 48 4X@9 H7/2.1-M6

0.4

30 50

X5 gy Mg 48

‘ 29 RN 30
sl

©
©
1

| e8%e-cte
I
30
48
80
90
120

Q|| @
-

4x@ 9 H7/2.1-M6

8x® 12 H7/2.5-M8

24xP7 H7/1.6-M4,

Handling technology HT Components linear afag.com



Technical data PDL40
PDL40
Operating temperature 0-50°C
Storage temperature 0-50°C
Humidity <90 %
Tvoe PDL40- PDLA40- PDLA40- PDLA40- PDLA40-
yp 0170-D27 0230-D27 0320-D27 0440-D27 0530-D27
Order number 50444514 50444515 50444516 50444517 50444518
Stroke H 170 mm 230 mm 320 mm 440 mm 530 mm
Net weight 10.2 kg 10.8 kg 11.7 kg 12.9kg 13.8kg
Max. speed 3m/s m
Moving weight 4.64 kg
Drive Linear motor, electric
Permanent force 145N
Peak force 550N
Repeat accuracy +/- 0.05 mm
- with external position measuring system +/-0.02 mm

PDL40- PDLA40- PDL40- PDLA40- PDL40- PDLA40- PDL40-

0070-D28 0160-D28 0280-D28 0370-D28 0460-D28 0580-D28 0670-D28

Order number 50444519 50444520 50444521 50444522 50444523 50444524 50444525
Stroke H 70 mm 160 mm 280 mm 370 mm 460 mm 580 mm 670 mm
Net weight 9.2kg 10.1 kg 11.3kg 12.2 kg 13.1kg 14.3 kg 15.2 kg
Max. speed 3m/s

Moving weight 4.64 kg

Drive Linear motor, electric

Permanent force 145N

Peak force 550N

Repeat accuracy +/- 0.05 mm

- with external position measuring system +/-0.02 mm

PDL40-  PDL40-  PDL40-  PDL40-  PDL40- [SNoniibuhutduiie

Afag standard test conditions.

0880-D28" 1060-D28 1270-D28 " 1480-D28" 1660-D28 W LSRN IIRCIENCA

weight compensation is required.

Order number 50444526 50444527 50444528 50444529 50444530 32:2?; class ISO 14644-1,
Stroke H 880mm  1060mm 1270 mm 1480 mm 1660 mm
Net weight 17.3 kg 19.1 kg 21.2 kg 23.3kg 25.1kg
Max. speed 3m/s
Moving weight 4.64 kg
Drive Linear motor, electric
Permanent force 145N
Peak force 550N
Repeat accuracy +/- 0.05 mm
- with external position measuring system +/- 0.02 mm
Mounting position is the same for all PDL40 ":"
Inlcuded in the delivery Accessories Alternative accessories
(Catalogue HT accessories) = External position measuring system PDL30/40 [p. 365]  (Catalogue HT accessories)
= 4x Centering bushing @9x4 = Connecting set VS 516 [p. 366] = Additional motor cables
(Catalogue HT accessories) = Additional controllers
= T-nut M8 = Additional power supplies
= Motor cable-M17 = Console in program for supports/columns
= Controller C11xx-1S = Drag-chain on request

= Plug kit for CTxxx-1S
= USB-RS232 Converter for controllers
= Power supply SO1-72/1000, 3-phase

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 379



Preferred combinations PDL40

3* VS 516 2 3 < direct > 2
3 VS 516 2 3 < direct > 2
3 VS 516 2 3 < direct > 2
3 VS 516 2 3 < direct > 2
3 VS 516 2 3 VP 146 3
3 VS 516 2 3 VP 144 2
2 < direct > 2 3 < direct > 2
3 VS 516 2
3 VS 516 2
3 < direct > 2
3 < direct > 2
* Area gantry version 3 < direct > 2
3 VP 146 2
3 VP 150 1
Mounting areas
CS, ES PS LM, LE HM SA 0z
3 3 3 1 1
2 2 5
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
s = Toh | T ——Tn RE i[- b 2[1F
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

380 Handling technology HT Components linear afag.com



Slide loads

PDL40

Force Fy 4500 N
Force Fz 4500 N
Max. dynamic torque Mx 850 Nm
Max. dynamic torque My 1900 Nm
Max. dynamic torque Mz 1900 Nm

Maximum payload/type

PDL40

Installation position (horizontal) for mounting side 3

45kg

Installation position (vertical) for mounting side 3

45kg

Assembly sides module mounting

PDL40 diagrams

Force range D27

horizontal.

3

vertical:

1

Ope'™me (Ml me diagram

Force [N] Zeit [ms]
600 1600 T
550 1400 — ]
5 ~ ~ 1200 — S — S
w0 | N 1000 777 _
S g e e R 800 — N —— -
300 | __--=-- 77 TT sec IO RS e - .
250 600 T T T T
200 400 T =
L e U S e
100 200 T e

50 0 Mass [kg]
[ — : — Rioke™ 10 15 v <o 30 35 40 45
0 position Middle stroke range jMax. position Masse [kg]
Hub
Middle stroke range Controller XC(25A) _______ 1600
Controller HC (15 A) e e aaa 1200 ==-======

PDL40-170-D27 30 mm

PDL40-230-D27 9omm Controller Std (8 A) o

PDL40-320-D27 180 mm 500 @ —.—.—..

PDL40-440-D27 300 mm 300 ecoemmoemmen

PDL40-530-D27 390 mm 100 —.o—-. -

Running times based on pause times of 200 ms

afag.com Handling technology HT Components linear




Ordering example PDL40

PDL40 XXXXXXXX XX X X

Portal axis External position Clamping element Additional slides
measuring system

Order form

Coordinate system

The coordinate system allows you to define = VVR= front right

the position of the external position measuring system. ® HR= back right
= VL= front left
= Hl= back left

Ordering example 1 with external position measuring system, clamping element and without additional slide

. PDL40 50444518 VR 1 0

Ordering example 2 with external position measuring system and einem dditional slide

- PDL40 50444527 HR X 1

Ordering process

= Select the desired portal axis from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= |f you want an external position measuring system, select the position of the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

= When selecting a clamping element, write X if they are not required and write 1 if they are required.

= |f you need an additional slide, select the number of the corresponding additional slides. Enter the corresponding
number of additional slides in the order form in the place of the cross.

Additional slides
= The additional slide is always positioned to right of the current slide of the portal axis.

382 Handling technology HT Components linear afag.com



Order key PDL40
PDL40 XXXXXXXX XX X
PDL40 170-D27 50444514 External position = 3
PDL40-230 D27 50444515 measuring system £ 2
PDL40-320 D27 50444516 o 5
PDL40 440-D27 50444517 S 3
PDL40 530-D27 50444518 5 >

o E=]
PDL40 70-D28 50444519 S
‘ﬁ PDL40-160-D28 50444520 8
~ | PDL40-280-D28 50444521
E PDL40-370-D28 50444522
o
PDL40-460-D28 50444523
PDL40-580-D28 50444524
PDL40-670-D28 50444525
PDL40-880-D28 50444526
PDL40-1060-D28 50444527
PDL40-1270-D28 50444528
PDL40-1480-D28 50444529
PDL40-1660-D28 50444530
£
£
w
a
(=)
=
2
©
Q
£
=
.0
= Without X
o
= Frontright VR 50472113
g Back right HR
-'E Front left VL
B Back left HL
| Without X
c
Q
£
[}
)
g
a 16640324 mount.
E kit Clamping ele-
(@] ment PDL40/
Clamping element PDL40-HP
[}
i
=
-
o 16640269 ADD. SLIDE PDL40
% FIT. W. STRIPPER
° 16640270 ADD. SLIDE PDL40
< Additional slide FIT. WO. STRIPPER

The entire stroke of the portal axis is reduced by 299 mm for an additional slide with a D27 portal axis and by 324 mm

with a D28 portal axis.

The clamping element guarantees secure clamping in the event of power failure.

afag.com

Handling technology HT Components linear

383




384 Handling technology HT Components linear afag.com



O afag

Portal axes PEL & PDL
PDL40-HP

= Force package for highest demands
= Up to 1000 N peak force
= High force and dynamics even at high masses

afag.com Handling technology HT Components linear 385



Dimensions and dimension drawings PDL40-HP

A 49 mm 64 mm
L H+ 460 mm H+ 490 mm

@ - 270° rotatable connector

@) - External position measuring system
® - Groove for sliding block size 8

@ - Groove for sliding block size 5

95,8 22
T
g I
Q
0 2 =~
4 - N Li‘vll Q §
o 1§ pe
= 4+ 3 -
=i f i _ i ] !
10 5x M5 .
- 24 | 48 AXPIH7/2.1-M6
A
L
0.1
m}
L 2 |
<
o
A-A 362
220
180
150
144
120
8x M8
SxM8 | 104
20
30 50
P15 48
[[po 30
il Ll
T AR
e q lalad ?
— o < oo =
5 ]] g e B i* = 2% ] 8 ]
ﬂ}; © ° @ % 2% é T |
O, O
a
******* T @467@ [ ® © [ T
(A (ST I TIE==—_ 1
12xP9H7/21-M6

16x $12 H7/2.5-M8

24x_@7H7/1.6-M4

386 Handling technology HT Components linear afag.com



Technical data PDL40-HP

PDL40-HP

Operating temperature 0-50°C

Storage temperature 0-50°C

Humidity <90 %
PDL40-0200-HP-D27 PDL40-0320-HP-D27 PDL40-0410-HP-D27

Order number 50444532 50444533 50444534

Stroke H 200 mm 320 mm 410 mm

Net weight 14 kg 15.2 kg 16.1 kg

Max. speed 2m/s

Moving weight 6.3 kg

Drive Linear motor, electric

Permanent force 203N

Peak force 1024 N

Repeat accuracy +/- 0.05 mm

- with external position measuring system +/-0.02 mm

PDL40-0160- PDL40-0250- PDL40-0340- PDL40-0460- PDL40-0550- PDL40-0760-

HP-D28 HP-D28 HP-D28 HP-D28 HP-D28 HP-D28
Order number 50444535 50444536 50444537 50444538 50444539 50444540
Stroke H 160 mm 250 mm 340 mm 460 mm 550 mm 760 mm
Net weight 13.6 kg 14.5 kg 15.4 kg 16.6 kg 17.5kg 19.6 kg
Max. speed 2m/s
Moving weight 6.3kg
Drive Linear motor, electric
Permanent force 203 N
Peak force 1024 N
Repeat accuracy +/-0.05 mm
- with external position measuring system +/-0.02 mm

The technical data pertains to Afag
standard test conditions.

PDL40-0940- PDL40-1150- PDL40-1360- PDL40-1540-

HP-D28 HP-D28 HP-D28 HP-D28 Note: For vertical installation, a weight
compensation is required.
Order number 50444541 50444542 50444543 50444544 S;a;room class ISO 14644-1, class
Stroke H 940 mm 1150 mm 1360 mm 1540 mm
Net weight 21.4kg 23.5kg 25.6 kg 27.4kg
Max. speed 2m/s
Moving weight 6.3 kg
Drive Linear motor, electric
Permanent force 203N
Peak force 1024 N
Repeat accuracy +/- 0.05 mm
- with external position measuring system +/-0.02 mm
Mounting position is the same for all PDL40-HP ‘:"
Inlcuded in the delivery Accessories Alternative accessories
(Catalogue HT accessories) = External position measuring system PDL30/40 [p. 365]  (Catalogue HT accessories)
= 4x Centering bushing @9x4 = Connecting set VS 516 [p. 366] = Additional motor cables
(Catalogue HT accessories) = Additional controllers
= T-nut M8 = Additional power supplies
= Motor cable-M17 = Console in program for supports/columns
= Controller C11xx-1S = Drag-chain on request

= Plug kit for CTxxx-1S
= USB-RS232 Converter for controllers
= Power supply TO1-72/1500 multi,3-phase

Warranty: 24 months following commissioning, but a maximum of 27 months following delivery

afag.com Handling technology HT Components linear 387



Preferred combinations PDL40-HP

3% VS 516 2 3 < direct > 2
3 VS516 2 3 < direct > 2
3 VS 516 2 3 < direct > 2
3 VS516 2 3 < direct > 2
2 < direct > 2 3 VS 516 2
3 VS 516 2
*  Area gantry version
Mounting areas
Cs, ES PS LM, LE HM SA oz
3 3 3 ! 1
—1} 1= T HD 35 = HET
2 2 2 > 3
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH RM, RE UG, GM, SG, DG, PG, GE
3 3 3
[ O Ton | [ EE [ 2[1 ]
2 2 2 2 2 3

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

388 Handling technology HT Components linear afag.com



Slide loads PDL40-HP

Type PDL40-HP
Force Fy 4500 N
Force Fz 4500 N
Max. dynamic torque Mx 850 Nm
Max. dynamic torque My 3200 Nm
Max. dynamic torque Mz 3200 Nm

Fz
My
Fy

Maximum payload/type PDL40-HP

Installation position (horizontal) for mounting side 3 85 kg
Installation position (vertical) for mounting side 3 85 kg
Assembly sides module mounting horizontal: 3 vertical:

——0

PDL40-HP diagrams

Force range D27 Operation time diagram
Force [N] Time [ms]
1100 - ime [ms
1000 2000 - —_
900 180 B
800 1600 [ e e
700 1400 S I e I B s S T |
1200 ]
600 1000 1L A R A
500 800 | - .
400 600 fmr— T T T T T
300 400 ]
200 200 | —i—- i
100 0
0 0 5 10 1520 25 30 35 40 45 50 55 60 65 70 75 80 85
— ) o Mass [kg]
0 position Middle stroke range Max. position Stroke
1500 —
Middle stroke range Controller UC (32 A) 1200 =--------
PDL40-200-HP-D27  90mm  Controller XC (25 A) e —
PDL40-320-HP-D27 180 mm 500 —-—-—--
PDL40-410-HP-D27 270 mm 300  eemereeeen

Running times based on pause times of 200 ms

afag.com Handling technology HT Components linear 389



Ordering example PDL40-HP

PDL40-HP XXXXXXXX XX X X

Portal axis External position Clamping element Additional slides
measuring system

Order form

Coordinate system

The coordinate system allows you to define = VVR= front right
the position of the external position measuring = HR= back right
system. = VL= front left

= H| = back left

Ordering example 1 without external position measuring system, without clamping element and without
additional slide

. PDL40-HP 50444533 X X 0

Ordering example 2 with external position measuring system and clamping element

. PDL40-HP 50444533 HR 1 0

Ordering process

= Select the desired portal axis from the order key.

= Enter the corresponding red order numbers in the order form in the place of the cross.

= |f you want an external position measuring system, select the position of the external position measuring system.

= Enter the corresponding letters from the coordinate system in the order form in the place of the cross.

= \When selecting a clamping element, write X if they are not required and write 1 if they are required.

= |f you need an additional slide, select the number of the corresponding additional slides.Enter the corresponding
number of additional slides in the order form in the place of the cross.

Additional slides
= The additional slide is always positioned to right of the current slide of the portal axis.

390 Handling technology HT Components linear afag.com



Order key PDL40-HP

PDL40-HP XXXXXXXX XX X
PDL40-200 HP-D27 50444532 External position = 3
PDL40-320 HP-D27 50444533 measuring system £ 2
PDL40-410 HP-D27 50444534 E E
| PDL40-160-HP-D28 JEIVVVEEE = i
soasasas : :
5 50444537 E
5 50444538 5

50444539
PDL40 760-HP-D28 50444540 m
50444541
50444542
50444543
50444544

External position measuring system

Without X
Front right VR
Back right HR
Front left VL
Back left HL
Without X
e
[=
Q
£
[}
©
o
c
‘a
£
A
O
Clamping element 1
[}
S
)
©
c
.0
B
=)
°
<
Additional slide 0,1,2,3,..

The entire stroke of the portal axis is reduced by 419 mm for an additional slide with a D27 portal axis and by 444 mm
with a D28 portal axis.
The clamping element guarantees secure clamping in the event of power failure.

afag.com Handling technology HT Components linear 391



Accessories PEL & PDL

Order number 50472112
A: Stroke + 100 mm
A
29
196 P it ~
© 3
o P :] o o &
~ e [@)
82.6
.8
P 6
e® o
o 5
o o =
N
<! Inlcuded in the delivery
o = 2x Mounting screw M4x12
=
Order number 50472113
A: Stroke + 100 mm
A 15
35 12
16.6 8 |5
<
o ~
S~ ~
< <t
[Ye) w0
SR ==
82.6
LN =
< Inlcuded in the delivery
o = 2x Mounting screw M4x12
=
afag.com

392 Handling technology HT Components linear



Accessories PEL & PDL

Connecting set VS 516

50471445
PEL, PDL

Order number

Suitable for

245

Inlcuded in the delivery

= 1x Clamping jaws PEL20, PDL30 & PDL40
= 1x Mounting screw M8x20

= 1x Washer M8

afag.com Handling technology HT Components linear 393



O afag

Linear modules LE
LE-50 - LE-70-D

394 Handling technology HT Components linear afag.com



Table of contents: LE

Linear modules LE Page

afag.com Handling technology HT Components linear 395



396 Handling technology HT Components linear afag.com



O afag

Linear modules LE
LE-50

= Highly dynamic and accurate
= |ow-noise
® Diverse position measuring systems

afag.com Handling technology HT Components linear 397



Dimensions and dimension drawings LE-50
A H+224 mm H+224 mm H+224 mm H+224 mm
H 100-600 mm 100-600 mm 100-600 mm 100-600 mm
A
12 177 H 12
48 +0015 48 +0.015
H ©
o W @ @ ¥ )
? L =
© ©
=
D9H7/2.1 %}i
M6x12 ‘ 31.5
(177)
4x 24 +0.015
s z
é © © ;EJ &
25 ‘ ‘ 25
@9HT7/2.1 M6x12 EH 16 < T3
= = L
‘ 1NN ol 45 5 % (I
\ =) 5 T s \ \
‘ )
_ B o o)
- Ll @ g ?}7& ©
3 W : : g 5 5 |l
2 |0 “le s & A 8
SR ol ¥ blol
SR\ /1 = 1 = © oTHTI1.6
N
48 +0.015 | 48 10015 = 30 +0.015
= "
(177) M4x12 38 £0.015
50
398 Handling technology HT Components linear afag.com



Technical data

LE-50

Attachment grid 48 mm

Attachment thread M6

Operating temperature 10-40°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50407225 50307890 50447984 50443272
Max. stroke 600 mm 600 mm 600 mm 600 mm
Stroke increment 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm
Net weight 5.028 kg 5.028 kg 5.031 kg 5.031kg
Weight/100 mm stroke 0.84 kg 0.84 kg 0.84 kg 0.84 kg
Weight, slide 4.1 kg 4.1 kg 4.1 kg 4.1 kg
Weight, cantilever (100 mm stroke) 3.4 kg 3.4kg 3.4 kg 3.4kg

Noise Level 67 dB (A) 67 dB (A) 67 dB (A) 67 dB (A)
Nominal current 3A 3A 3A 3A
Maximalstrom 9A 9A 9A 9A

Nominal voltage max. 600 VDC max. 600 VDC max. 600 VDC max. 600 VDC
Supply voltage 5VDC 5VDC 5VDC 5VDC

Drive Linear motor Linear motor Linear motor Linear motor
Protection type IP 30 IP 30 IP 30 IP 30

Max. speed v 3.5m/s 3.5m/s 3.5m/s 3.5m/s
Max. acceleration a 40 m/s? 40 m/s? 40 m/s? 40 m/s?
Peak force Fx 170N 170N 170N 170N
Constant force Fx 70N 70N 70N 70N
Connection resistance 4.02 Ohm 4.02 Ohm 4.02 Ohm 4.02 Ohm
Connection inductance 20.83 mH 20.83 mH 20.83 mH 20.83 mH
Channel A, /A, B,/B,Z,/Z Clk, /Clk, DATA, /DATA

Force constant 29.4 N/A 29.4 N/A 29.4 N/A 29.4 N/A
Counter-voltage constant 24.1V (m/s) 24.1V (m/s) 24.1V (m/s) 24.1V (m/s)
Pole pair distance 38 mm 38 mm 38 mm 38 mm
Digital incremental encoder RS422 RS422 RS422 RS422
Resolution 1 period/mm 1 um/increment 0.9765625 um (1000/1024 pm)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm +/-0.01 mm

Mounting position

>

The technical data pertains to Afag standard test conditions.

Cleanroom class ISO 14644-1, class ISO 7
*XXX = stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 2x Centering bushing @8x3.5
= 2x Centering bushing @9x4
= 4x Mounting screw M4x16
= 4x Mounting screw M6x16

Accessories

-

= Only for -SIN/-TTL: Servoregler SE-Power

>

24 months following commissioning, but a maximum of 27 months following delivery

afag.com

-

Handling technology HT Components linear

399



Basic version option for cross setups LE-50-D

H+230mm H+230mm H+230mm H+ 230 mm
H 100-600 mm 100-600 mm 100-600 mm 100-600 mm
88.5
&) ® s
- © © | O @ E
z ) &0 | ©o ) 2 o
o © s =
2 i .
i NI &
| a— :
H B - — =
|
@ 9H7/2.1 M6x12 ! 31.5
48 +0.015_ | 48 10015
15 177 H 15
A
- s . o
5 = ¢ -
® ©® ©® © ‘:]
LL» s ° o “off
160 25 25
88.5 _
30 #0.015 [0 o E %
g g i
a—]
— @@ @$
© | -
g 2 lojp | glo| | T
g e S 3 e e | °
3 x =5 9 2
- @ @
3 Ll e
el g [
. 5= * ' gelegl
Q TH7/1.6 48 +0.015
@45
3 x48 +0.015

400 Handling technology HT Components linear afag.com



Technical data LE-50-D
Attachment grid 48 mm

Attachment thread M6

Operating temperature 10-40°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50407228 50308538 50447987 50443275
Max. stroke 600 mm 600 mm 600 mm 600 mm
Stroke increment 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm
Net weight 7.603 kg 7.603 kg 7.606 kg 7.606 kg
Weight/100 mm stroke 0.84 kg 0.84 kg 0.84 kg 0.84 kg
Weight, slide 4.1 kg 4.1 kg 4.1 kg 4.1 kg
Weight, cantilever (100 mm stroke) 3.4 kg 3.4kg 3.4kg 3.4kg

Noise Level 67 dB (A) 67 dB (A) 67 dB (A) 67 dB (A)
Nominal current 3A 3A 3A 3A
Maximalstrom 9A 9A 9A 9A

Nominal voltage max. 600 VDC max. 600 VDC max. 600 VDC max. 600 VDC
Supply voltage 5VvDC 5VDC 5VvDC 5VDC

Drive Linear motor Linear motor Linear motor Linear motor
Protection type IP 30 IP 30 IP 30 IP 30

Max. speed v 3.5m/s 3.5m/s 3.5m/s 3.5m/s

Max. acceleration a 40 m/s? 40 m/s? 40 m/s? 40 m/s?

Peak force Fx 170N 170N 170N 170N
Constant force Fx 70N 70N 70N 70N
Connection resistance 4.02 Ohm 4.02 Ohm 4.02 Ohm 4.02 Ohm
Connection inductance 20.83 mH 20.83 mH 20.83 mH 20.83 mH
Channel A, /A B,/B,Z /Z Clk, /Clk, DATA, /DATA

Force constant 29.4 N/A 29.4 N/A 29.4 N/A 29.4 N/A
Counter-voltage constant 24.1V (m/s) 24.1V (m/s) 24.1V (m/s) 24.1V (m/s)
Pole pair distance 38 mm 38 mm 38 mm 38 mm

Digital incremental encoder RS422 RS422 RS422 RS422
Resolution 1 period/mm 1 pm/increment 0.9765625 um (1000/1024 pm)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm +/-0.017 mm

Mounting position

The technical data pertains to Afag standard test conditions.

Cleanroom class ISO 14644-1, class ISO 7

Note: The LE-50-D can only be operated with movable slide. The operation with fixed slide and moving profile is not allowed.

*XXX = stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 2x Centering bushing @8x3.5
= 2x Centering bushing @9x4
= 4x Mounting screw M4x16
= 4x Mounting screw M6x16

Accessories

= Only for -SIN/-TTL: Servoregler SE-Power

24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

401



402

Preferred combinations

HM
1
o[l
2
R, RM 32, RE, SREH

1 EH]B
P)

VP 119 2,3
VP 119 2,3
VP 143 2,3

<direct> 2,3
<direct> 2,3
<direct> 2,3
<direct> 2,3

VP 146 2,3
VP 146 2,3
VP 146 2,3
VF 407 2,3
VP 136 2,3

<direct> 2,3
<direct> 2,3
<direct> 2,3

Mounting areas

PS LM, LE
3 3
PEZ, PDZ PEL, PDL

3 3
o1 2 [oh| [ 1In
- 5

SA oz
1
[% 2 ! [E[?] !
RM, RE UG, GM, SG, DG, PG, GE
| 27 f
2 2

Note that there might be different mounting positions from
one module to another one.

The required connection elements and the range of support
columns are depicted in the catalogue HT accessories.

Handling technology HT Components linear

* Base module LE-xx-D

LE-50

1 direct
1 < direct >
2.3 VP 112
1,2,3 <direct>
1 < direct >
2,3 VP 113
1 < direct >
2,3 VP 113
3* < direct >
1 VP 147
2,3 VP 127
1 VP 146
2,3 VP 148
1 < direct >
2,3 VP 112
1 < direct >
1 < direct >
2,3 VP 120
1 < direct >
1 VP120
1 < direct >
1
1

wwwwnN NN N

N
w

VP117
VP 117
2,3 VS 501
2,3 VP 146
1,2,3 VP 146
1 VP 137
2,3 VP 146 2,3
2,3 VP 113
1 VP 137
< direct >
VP 113
1 < direct >
2,3 <direct>
1 VP 117
2,3 VP 119
2,3 <direct >
1 VP 117
2,3 VP 119
1 VP146

VP 117
VP 127
VP 147

VP 117
VP 146
VP 507

1 < direct >
1 < direct >
1
*

‘mNNNNNNNNNNNA—\ __

N
w

N = =NN-_=NN—_=2N—_=NWN W-

—_
N

< direct >
* VP 107
1** < direct >

—_ a
NNN

—_
N

Mounting areas

afag.com



Module stresses LE-50

LE-50-XXX- LE-50-XXX LE-50-XXX- LE-50-XXX-

SIN TTL ABS-B ABS-S
Max. torque Mx 30 Nm 30 Nm 30 Nm 30 Nm
Max. torque My “180 Nm “180 Nm “180 Nm “180 Nm
Max. torque Mz 140 Nm 140 Nm 140 Nm 140 Nm
Effective distance Wx 83 mm 83 mm 83 mm 83 mm
Effective distance Wz 24 mm 24 mm 24 mm 24 mm
Peak force Fx 170N 170N 170N 170N

Mx My Mz
+ + <1

Mxmax Mymax Mz max

LE-50-XXX-  LE-50-XXX LE-50-XXX- LE-50-XXX-

Maximum payload/type

SIN TTL ABS-B ABS-S
Installation position (horizontal) for mounting side 1 10 kg 10kg 10kg 10kg
Installation position (horizontal) for mounting side 3 10 kg 10kg 10kg 10kg
Assembly sides module horizontal: 3

Load diagrams

Deflection in Y direction LE-50 Deflection in Z direction LE-50
1.0 T I % ',' 10 \ \ / //I /
091 e F= 5N yavd 7 091 e F= 5N 7/
084~ ——— F=100N LAy 081 ——— F=100N yavava
074— ===m F=150N / . 0.74— ==== F=150N ‘ =
IS A - / 7 / R / S . - V4 / .
E 06 B F : 200 N ,/ / ', E 06 B F : 200 N ,/ / ,,
L F=250N g - e F=250N A
> 0 — F=30N g7 pig noo —— F=300N P -
c / ’ - a R4
o 04 - - > o 04 v -
© 0.3 /’//// il k9] 0.3 //’/ s
0 oo g0 i .
3 02 e — 3 02 O —=
0.1 T e e
0 == ---"""
0 100 200 300 400 500 600 0 100 200 300 400 500 600
Stroke in mm Stroke in mm

*corresponds to: 1 mm deflection on course 500 mm and f = 300 N
**corresponds to: 1 mm deflection on course 400 mm and f = 300 N

afag.com Handling technology HT Components linear 403




404 Handling technology HT Components linear afag.com



O afag

Linear modules LE
LE-60

= Highly dynamic and accurate
= |ow-noise
® Diverse position measuring systems

afag.com Handling technology HT Components linear 405



Dimensions and dimension drawings LE-60
H+ 330 mm H+ 330 mm H+ 330 mm H+ 330 mm
H 100-800 mm 100-800 mm 100-800 mm 100-800 mm
A
15 277 H 15
4x 48+0.015
g W =
© 0 @ @ é @ lemmmmmmmlmmmm‘ & 18
~ H S N -
o ® © @ @
i -
D 9HT/2.1 M6x12 \ 315
(217)
4x 48+ 0.015
_[T® © o 0 © Q) -
s o © % ©
K - - - : o—-—0+ S
@ €] © | © €] g
P 9HT7/2.1 M6x12
.16
@ 9H7/2.1 M6x12 ﬁ%ﬁi\ 55
w| 2 T
| 2 3 5\ #8H7/1.8
T
= @L *3’% M5x15
g H © & © =
j [ - ) - I § § mél of %l
= @ @ & © s 2 =1
LI} il 1 |8 £
4x 48+0.015
. ¢THTI.6 M5
?9H7/2.1 30 £0014
M6x15 38 10.015
48 10,015
64

406 Handling technology HT Components linear

afag.com



Technical data LE-60
Attachment grid 48 mm

Attachment thread M6

Operating temperature 10-40°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50407226 50307891 50447985 50443273
Max. stroke 800 mm 800 mm 800 mm 800 mm
Stroke increment 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm
Net weight 10.304 kg 10.304 kg 10.316 kg 10.316 kg
Weight/100 mm stroke 0.9kg 0.9kg 0.9kg 0.9kg
Weight, slide 5.6 kg 5.6 kg 5.6 kg 5.6kg
Weight, cantilever (100 mm stroke) 4 kg 4kg 4kg 4kg

Noise Level 69 dB (A) 69 dB (A) 69 dB (A) 69 dB (A)
Nominal current 5A 5A 5A 5A
Maximalstrom 15A 15A 15A 15A

Nominal voltage max. 600 VDC max. 600 VDC max. 600 VDC max. 600 VDC
Supply voltage 5VDC 5VDC 5VDC 5VDC

Drive Linear motor Linear motor Linear motor Linear motor
Protection type IP 30 IP 30 IP 30 IP 30

Max. speed v 3.5m/s 3.5m/s 3.5m/s 3.5m/s

Max. acceleration a 40 m/s? 40 m/s? 40 m/s? 40 m/s?

Peak force Fx 350N 350N 350N 350N
Constant force Fx 150 N 150 N 150 N 150 N
Connection resistance 2.1 Ohm 2.1 Ohm 2.1 Ohm 2.1 0hm
Connection inductance 10.41 mH 10.41 mH 10.41 mH 10.41 mH
Channel A, /A, B,/B,Z, /7 Clk, /Clk, DATA, /DATA

Force constant 29.4 N/A 29.4 N/A 29.4 N/A 29.4 N/A
Counter-voltage constant 241V (m/s) 24.1V (m/s) 241V (m/s) 24.1V (m/s)
Pole pair distance 38 mm 38 mm 38 mm 38 mm

Digital incremental encoder RS422 RS422 RS422 RS422
Resolution 1 period/mm 1 ym/increment 0.9765625 um (1000/1024 pm)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm +/-0.01 mm

Mounting position

The technical data pertains to Afag standard test conditions.

Cleanroom class ISO 14644-1, class ISO 7
*XXX = stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 2x Centering bushing @8x3.5
= 4x Centering bushing @9x4
= 4x Mounting screw M4x18
= 4x Mounting screw M6x18

Accessories

= Only for -SIN/-TTL: Servo controller SE-Power

24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

407



Basic version option for cross setups LE-60-D

H+ 330 mm H+ 330 mm H+ 330 mm H+ 330 mm
H 100-800 mm 100-800 mm 100-800 mm 100-800 mm
138.5
B g — [ — _
5 - o
& ] L] L] S - o
Q@ © 8
3 - - - - - .
- 7 i, <
5 R & @ ® n
g | [=o—m B
0,
1 e o ||
|
|

|
9H7/2.1 M6 @

48 +0.015| 48 0015 | 48 +0.015| 48 +0.015 ‘ 31.5

15 277 H 15

62.5

64
110

323
|
D 9H7/2.1 ‘
| BEE |
~_ | | — o
T - ~
[ T
0 - o
% || [®) © ©
© = )
; ==~ - % g ©
g ] - 3 ‘ ég
° ~ © ) [
o 2 T =
S P 9HTI2.1 £ ad OO0 | 90
= © e
o ~ ®
T = - @ ¥o:
5 < o - =
X <
= ] 0 ®oT0 ¢
) = ™ ol
< ]
33 |48 +0.015| 48 +0015| 48 0015 48 +0.015
210

408 Handling technology HT Components linear afag.com



Technical data LE-60-D
Attachment grid 48 mm

Attachment thread M6

Operating temperature 10-40°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50407229 50319222 50447988 50443276
Max. stroke 800 mm 800 mm 800 mm 800 mm
Stroke increment 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm
Net weight 15.204 kg 15.204 kg 15.216 kg 15.216 kg
Weight/100 mm stroke 1.21kg 1.21 kg 1.21kg 1.21kg
Weight, slide 8.2 kg 8.2 kg 8.2kg 8.2 kg
Weight, cantilever (100 mm stroke)6.3 kg 6.3 kg 6.3 kg 6.3 kg

Noise Level 69 dB (A) 69 dB (A) 69 dB (A) 69 dB (A)
Nominal current 5A 5A 5A 5A
Maximalstrom 15A 15A 15A 15A

Nominal voltage max. 600 VDC max. 600 VDC max. 600 VDC max. 600 VDC
Supply voltage 5VDC 5VDC 5VDC 5VDC

Drive Linear motor Linear motor Linear motor Linear motor
Protection type IP 30 IP 30 IP 30 IP 30

Max. speed v 3.5m/s 3.5m/s 3.5m/s 3.5m/s

Max. acceleration a 40 m/s? 40 m/s? 40 m/s? 40 m/s?

Peak force Fx 350N 350N 350N 350N
Constant force Fx 150 N 150 N 150 N 150 N
Connection resistance 2.1 Ohm 2.1 Ohm 2.1 Ohm 2.1 Ohm
Connection inductance 10.41 mH 10.41 mH 10.41 mH 10.41 mH
Channel A, /A, B,/B,Z, /Z Clk, /Clk, DATA, /DATA

Force constant 29.4 N/A 29.4 N/A 29.4 N/A 29.4 N/A
Counter-voltage constant 241V (m/s) 24.1V (m/s) 241V (m/s) 24.1V (m/s)
Pole pair distance 38 mm 38 mm 38 mm 38 mm

Digital incremental encoder RS422 RS422 RS422 RS422
Resolution 1 period/mm 1 ym/increment 0.9765625 pm (1000/1024 pm)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm +/-0.01 mm

Mounting position

The technical data pertains to Afag standard test conditions.

Cleanroom class ISO 14644-1, class ISO 7

Note: The LE-60-D can only be operated with movable slide. The operation with fixed slide and moving profile is not allowed.

*XXX = stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 2x Centering bushing @8x3.5
= 4x Centering bushing @9x4
= 4x Mounting screw M4x18
= 4x Mounting screw M6x18

Accessories

= Only for -SIN/-TTL: Servo controller SE-Power

24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

409



410

Preferred combinations

3 VP 119 2
3 VP 146 3
3 VP 146 2,3
3 VP 143 2,3
3* <direct> 2,3
3* <direct> 2,3
CS, ES PS LM, LE
3 3 3
2 2 2
PMP, PMP-c PEZ, PDZ PEL, PDL
3 3 3
s[4 O To) | T
2 2 2

* Base module LE-xx-D

Mounting areas

HM
1
>fl
2
CR, RM 32, RE, SREH

‘|Bﬂ3
2

1,2,3
2,3

2,3
1,2,3
3*
3*

2,3
1,2,3

1.2,3
1,2,3
1.2,3
1.2,3

RM, RE

1|
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

Handling technology HT Components linear

< direct >
< direct >

< direct >
VP 113

< direct >
VP 113

VP 146
< direct >
< direct >

VP 147
VP 127

VP 148

< direct >
VP 112

< direct >
VP 120

< direct >
VP 142
VP 146
VP 146
VP 146

< direct >
VP 146
VP 139
VP 113
VP 119
< direct >
VP 146
VP 119
VP 146
VP 119

< direct >
VP 146
VP 119

VP 146

VP 146
VS 507

VP 146

ww ww NN

2,3
2,3

w WN N NNDNDNNN

N NN
NN STWw W W N s
- W w W

- N

1,2

LE-60

UG, GM, SG, DG, PG, GE

2[4
3

afag.com



Module stresses

LE-60

LE-60-XXX-  LE-60-XXX LE-60-XXX- LE-60-XXX-
1\ TTL ABS-B ABS-S
Max. torque Mx 50 Nm 50 Nm 50 Nm 50 Nm
Max. torque My 270 Nm 270 Nm 270 Nm 270 Nm
Max. torque Mz "220 Nm "220 Nm 220 Nm "220 Nm
Effective distance Wx 133 mm 133 mm 133 mm 133 mm
Effective distance Wz 30 mm 30 mm 30 mm 30 mm
Peak force Fx 350N 350N 350N 350N
Mx My Mz
+ + <1
Mxmax Mymax Mz max

Maximum payload/type LE-60-XXX-  LE-60-XXX LE-60-XXX- LE-60-XXX-

SIN TTL ABS-B ABS-S
Installation position (horizontal) for mounting side 1 20kg 20 kg 20 kg 20 kg
Installation position (horizontal) for mounting side 3 20kg 20 kg 20 kg 20 kg

Assembly sides module
mounting

horizontal: 3

'[H__H

Load diagrams

Deflection in Y direction LE-60

3-2’* ————— F= 5N 7 7

84— ——— F=100N X

£ o7l —— F=150N iy av

E 15l —— F=200N VvV, 1 .-

0 F=250N Yy Av

c 05+— —— F=300N 777

S o A

2 03 S -

3 02 sl N &
01 ——_::/_ ————— . L=
e

0 100 200 300 400 500 600 700 800
Stroke in mm

*corresponds to: 1 mm deflection on course 750 mm and f = 300 N
**corresponds to: 1 mm deflection on course 600 mm and f = 300 N

afag.com

Deflection in Z direction LE-60

Deflection z in mm

1.0 ‘ ‘
097 oo F= 50N
08+~ ——— F=100N
074~ ——=-- F=150N
06l —— F=200N )
e F=250N 7
0.54+— ——— F=300N — -
0.4 ,,,,/ p
03 s
-
0.2 — - — -
0.1 - ]
e e —
0 e e
0 100 200 300 400 500 600
Stroke in mm

Handling technology HT Components linear 411




412 Handling technology HT Components linear afag.com



O afag

Linear modules LE
LE-70

= Highly dynamic and accurate
= |ow-noise
® Diverse position measuring systems

afag.com Handling technology HT Components linear 413



Dimensions and dimension drawings LE-70
A H + 380 mm H+ 380 mm H+ 380 mm H + 380 mm
H 100-1000 mm 100-1000 mm 100-1000 mm 100-1000 mm
A
15 327 H
15
4x 60+0.015
L vl w0
I T T B 2
2 p— — p— _ ©
o H 3
© [l ~
H—® @ < @ ©
| — i —
\
@ 12H7/2.5 M8x15 \ 32.499
(327)
4x 60 +0.015
BOHTI2.1 M5x15
e
2 2 ©
3 s - o
3 X Q -
e
G12HT12.5 3x 48 +0.015 M8x15
405 ‘ | 405
D 12H7125 M8x15 2t | %
% —| «| 65 = % Ll $9H7/2.1
! = © .
- i i ISIRSY @1 ) @@ mg M6x15
= ) £ : >
g fle—9e o & o @ .
™ % I _ i _ g Z ® g g
N o B _ B ] B : F + F %
s e e ] ] 3 8 > 2?8
- ' I AING
:I{\ A] 0 = l:E g © Q
| < — -y O
o~ 4 60+0.015 g3 a5l 5 Lmans
(327) - M4x15 30 +0.015
48 +0.015
74
afag.com

414 Handling technology HT Components linear



Technical data LE-70
Attachment grid 48 mm

Attachment thread M6

Operating temperature 10-40°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50407227 50307892 50447986 50443274
Max. stroke 1000 mm 1000 mm 1000 mm 1000 mm
Stroke increment 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm
Net weight 16.802 kg 16.802 kg 16.819 kg 16.819kg
Weight/100 mm stroke 1.3kg 1.5kg 1.3kg 1.3kg
Weight, slide 10kg 10kg 10kg 10 kg

Weight, cantilever (100 mm stroke) 6.4 kg 6.4 kg 6.4 kg 6.4 kg

Noise Level 72 dB (A) 72 dB (A) 72 dB (A) 72 dB (A)
Nominal current 8A 8A 8A 8A
Maximalstrom 20A 20A 20A 20A

Nominal voltage max. 600 VDC max. 600 VDC max. 600 VDC max. 600 VDC
Supply voltage 5VDC 5VDC 9-35VDC 9-35VDC
Drive Linear motor Linear motor Linear motor Linear motor
Protection type IP 30 IP 30 IP 30 IP 30

Max. speed v 5m/s 5m/s 5m/s 5m/s

Max. acceleration a 50 m/s? 50 m/s? 50 m/s? 50 m/s?

Peak force Fx 800N 800N 800 N 800N
Constant force Fx 350N 350N 350N 350N
Connection resistance 1.69 Ohm 1.69 Ohm 1.69 Ohm 1.69 Ohm
Connection inductance 14.63 mH 14.63 mH 14.63 mH 14.63 mH
Channel A, /A, B,/B,Z, /7 Clk, /Clk, DATA, /DATA

Force constant 53.7 N/A 53.7N/A 53.7 N/A 53.7N/A
Counter-voltage constant 44\ (m/s) 44V (m/s) 44\ (m/s) 44V (m/s)
Pole pair distance 38 mm 38 mm 38 mm 38 mm

Digital incremental encoder RS422 RS422 RS422 RS422
Resolution 1 period/mm 1 ym/increment 0.9765625 pm (1000/1024 pm)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm +/-0.01 mm

Mounting position

The technical data pertains to Afag standard test conditions.

Cleanroom class ISO 14644-1, class ISO 7
*XXX = stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 2x Centering bushing @8x3.5
= 4x Centering bushing @9x4
= 4x Mounting screw M4x18
= 4x Mounting screw M6x18

Accessories

= Only for -SIN/-TTL: Servo controller SE-Power

24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

415



Basic version option for cross setups LE-70-D

H + 380 mm H + 380 mm H + 380 mm H+ 380 mm
H 100-1000 mm 100-1000 mm 100-1000 mm 100-1000 mm
‘ 161.5
= T il [ ) —
=
¢ O Q| © e G
o & &
< _ T IR _ _
N E:V +- 71‘»7 71‘»7 \]:l]
g . —
3
1 i e—= & & L
f i
|
| E
D12/H7/2.5 M8 132.5
60 +0.015| 60 #0015 | 60 +0.015 | 60 +0.016
15 327 H 15
A

0
£ | ~
o = = = = = X
[[le o o o o ofl
165.5
48 £0.015 105 105
48 +0.01 ‘ i :
, 63 48 +0.015 DIH7/2.1
| I M6 @ ~
| - ~
— — ju
/ 5] @ ~
= 0o %o @vo @ © | © S}
@ i : ) N - e @
< o N [P L J= é
% 9 € © 2 g [} o
% =] — — = © £ =
& e = s o © a of O u
= 1 5 49
o = i
¥ T > —¢ o © © g @ o &
= o =Y
© o| a g — oo e © S g
| O,ffﬂy}—-g ] ) o) of o 3 @@@ @ a
I e W - S ALC) © |0 /4 = ]
Lo
60 0015 2 60 0015
ju
968 39 96 +0.015 N
D 9HT/2.1 O
- 48 +0.01 48 +0.01
270

416 Handling technology HT Components linear afag.com



Technical data LE-70-D
Attachment grid 48 mm

Attachment thread M6

Operating temperature 10-40°C

Storage temperature 0-50°C

Humidity <90 %

Order number 50407230 50319225 50447989 50443277
Max. stroke 1000 mm 1000 mm 1000 mm 1000 mm
Stroke increment 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm 20 mm from 100 mm
Net weight 23.75kg 23.75kg 23.767 kg 23.767 kg
Weight/100 mm stroke 2kg 2kg 2kg 2 kg

Weight, slide 14 kg 14 kg 14 kg 14 kg

Weight, cantilever (100 mm stroke) 9.4 kg 9.4 kg 9.4 kg 9.4 kg

Noise Level 72 dB (A) 72 dB (A) 72 dB (A) 72 dB (A)
Nominal current 8A 8A 8A 8A
Maximalstrom 20A 20A 20A 20A

Nominal voltage max. 600 VDC max. 600 VDC max. 600 VDC max. 600 VDC
Supply voltage 5VDC 5VDC 5VDC 5VDC

Drive Linear motor Linear motor Linear motor Linear motor
Protection type IP 30 IP 30 IP 30 IP 30

Max. speed v 5m/s 5m/s 5m/s 5m/s

Max. acceleration a 50 m/s? 50 m/s? 50 m/s? 50 m/s?

Peak force Fx 800 N 800N 800N 800N
Constant force Fx 350N 350N 350N 350N
Connection resistance 1.69 Ohm 1.69 Ohm 1.69 Ohm 1.69 Ohm
Connection inductance 14.63 mH 14.63 mH 14.63 mH 14.63 mH
Channel A, /A B,/B,Z /Z Clk, /Clk, DATA, /DATA

Force constant 53.7 N/A 53.7N/A 53.7N/A 53.7 N/A
Counter-voltage constant 44\ (m/s) 44V (m/s) 44V (m/s) 44V (m/s)
Pole pair distance 38 mm 38 mm 38 mm 38 mm

Digital incremental encoder RS422 RS422 RS422 RS422
Resolution 1 period/mm 1 pm/increment 0.9765625 um (1000/1024 ym)
Repeat accuracy +/-0.01 mm +/-0.01 mm +/-0.01 mm +/-0.01 mm
Mounting position - - - -

The technical data pertains to Afag standard test conditions.

Cleanroom class ISO 14644-1, class I1SO 7

Note: The LE-70-D can only be operated with movable slide. The operation with fixed slide and moving profile is not allowed.

*XXX = stroke

Inlcuded in the delivery
(Catalogue HT accessories)
= 2x Centering bushing @7x3
= 2x Centering bushing @8x3.5
= 4x Centering bushing @9x4
= 4x Mounting screw M4x18
= 4x Mounting screw M6x18

Accessories

= Only for -SIN/-TTL: Servo controller SE-Power

Warranty:24 months following commissioning, but a maximum of 27 months following delivery

afag.com

Handling technology HT Components linear

417



Preferred combinations

VP 144 2,3
VP 144 2,3
3*  <direct> 2

* Base module LE-xx-D

Mounting areas

CS, ES PS LM, LE HM
3 3 3 1
2
PMP, PMP-c PEZ, PDZ PEL, PDL CR, RM 32, RE, SREH
3
3 3
a1 ol To)| /1 1[ s
2 2 2 2

N

2,3

2,3

SA

b
2

Note that there might be different mounting positions from one module to another one.
The required connection elements and the range of support columns are depicted in the catalogue HT accessories.

418 Handling technology HT Components linear

< direct >
< direct >
VP 146
VP 142
< direct >
VP 146
VP 142
< direct >
< direct >
< direct >
VP 148
VP 142
< direct >
VP 142
< direct >
VP 142
VP 146
VP 142
VP 146
VP 146
< direct >
VP 142
VP 146
VP 146
VP 119
VP 142
VP 146
VP 119
VP 142
VP 146
VP 142
VP 146
VP 142
VP 142
< direct >
VP 142
< direct >

VP 146
VP 142

[%z

RM, RE

WLAJSNNNNNNNNN—\—\N~

NN
w W

w

s s s NN
N Noov o W w

—_
NN

LE-70

=)

UG, GM, SG, DG, PG, GE

21}
3

afag.com



Module stresses LE-70
Max. torque Mx 80 Nm 80 Nm 80 Nm 80 Nm
Max. torque My “330 Nm “330 Nm "330 Nm “330 Nm
Max. torque Mz “280 Nm "280 Nm "280 Nm 280 Nm
Effective distance Wx 158 mm 158 mm 158 mm 158 mm
Effective distance Wz 37 mm 37 mm 37 mm 37 mm
Peak force Fx 800N 800N 800N 800N
Z
Mx My Mz
+ + <1
Mxmax Mymax Mzmax
Installation position (horizontal) for mounting side 1 30 kg 30 kg 30 kg 30 kg
Installation position (horizontal) for mounting side 3 30 kg 30 kg 30 kg 30 kg
Assembly sides module horizontal: 3
Deflection in Y direction LE-60 Deflection in Z direction LE-60
1.0 1.0
ool ‘F - 51) N | // / ool ‘F - 5(‘> N | #
08— F=100N £ 081— F=100N g
. = - y . -
e 074 ———— F=150N /,/ R e o7l --—- F=150N /,' /
€ g5l —— F=200N v € gl —— F=200N /
F=E il —— F=250N 7 " =Rl [— F=250N 4 K
> 054— —— F=300N /,'//,/ N 05— —— F=300N /,’/ s
5 04 7 ‘ , 4 ] 5 04 > 7 ” /,
g 03 1 /, a4 g o3 A e
B 02 El it =21 & 02 e
a = a Z ~ -
0.1 == =t 0.1 ==
0 === 0 ==

0 100 200 300 400

*corresponds to: 1 mm deflection on course 950 mm and f = 300 N
**corresponds to: 1 mm deflection on course 800 mm and f = 300 N

afag.com

500 600 700 800 900
Stroke in mm

1000

0 100 200 300 400 500 600 700 800 900 1000
Stroke in mm_

Handling technology HT Components linear

419



ltem number index

50386050 ... eeeeereeeeereeee, 12
3. Position LM 20 ..o 111 50394895............. 291
3. Position LM 25 .. 112 50394896........ccccciiiii 323
50100717 oo 40 50396400............cccciiiiii 344
501007121 vveeeoeeeeeeeeeeeee 40 50403195, 346
50100713 .o 40 50403196..... 347
50105233 1o, 76 20404375 273
5010523 ..o 76 20404376... 281
50105235 oo 76 50407225 ., 399
501137730 249 50407226........cccccciiiiii 407
50113781 .. 249 50407227 ... 415
50138506 ... v.oeevveeereeeeeerers 77 50407228... 401
501385790 oo, 77 90407229... 409
50138592 .o 77 50407230 417
50154069 . oo 34 50443272 e, 399
50154070 ... oo 34 50443273......... 407
50154071 oo 34 50443274 415
50167742 oo 34 50443275... 401
50205052 ..o 50 20443276.... 409
50205054 ... oo 50 20443277.. 417
50224670 . o 51 50447984 . ..., 399
50224806 .\ 46 50447985......... 407
50224807 +.vovvoeeeeeeeeeeee 46 S0447986.......o 415
50224808 ..ot 46 50447987 .. 401
50224809 ... oo, 46 50447988 409
50228200 0 339 50447989 ... 417
50231524 ..o, 315
50242140 ... ooeoeoeeeeeeeeee, 52
50242140 oo, 52
50245031 oo, 299
50245032 ..o, 307
50245033 .o, 331
50247660.........oooeeeeeereeer, 346
50251726 .o, 249
50267101 v, 344
50267102 .o, 345
50267103 .o, 345
50281045 ..o, 347
50281046 .......ovoeeeeeeeeeeee, 347
50281047 oo, 348
50281048 ..o, 348
50281376 .o, 346
50307890 ..o, 399
50307891 v, 407
50307892, 415
50308538, 401
50318206 ..o, 348
50319222 .o, 409
50319225 ..o, 417
50386049 ..o oooeoeeeeeeee, 12

420 Handling technology HT Components linear afag.com



Key word index

ACCESSOTIES 32 .o 118, 119
Accessories CS 16/CS 20 ... 52
ACCessories CS 25 52
ACCESSOTIES LML ..o 111
ACCeSSOrIES LM 12, e 110
Accessories LM 12/LM 16 110
Accessories LM 16, ... 110
Accessories LM 20, 111
Accessories LM 20/LM 25 ... 111
ACCeSSOries LM 25, ..o 112
Accessories PMP.......oooi 158, 159, 160
Accessories PMP-C.......oooooiiiiiiiiiie 161, 162, 163
Accessories portal axis................. 344, 345, 346, 347, 348
ACCESSONIES PS..oooeeieee e 76
Accessories ZA LM 20/LM 25, 115
Angle profile, gantry module PM-C........ccccoooviiiinn 163
Angle profile PMP ..o 160
AS OB/ T4 .o 77
AS O8/16 oo 77
AS 08/18 .o 77
ASSD MTOXT=T oo 76
ASSD MT2XT =T e 76
ASSD MTAXT =1 e 76
Back stop rod ZA 32/125 ... 119
Back stop rod ZA 32/200.........cccccciiiiiiiiieiee 119
Back stop rod ZA 32/275....cccccoviiiiiiiiii 119
Base plate LM 12/30 ....oooiiiiiiiiiiiieeeeee 110
Base plate LM 12/60 .......ccccoooiiiiiiiiiiiieeeee 110
Base plate LM 12/90 .......ooiiiiiiiiiiiiiecce e 110
Base plate LM 16/30 ......cccovvieiiiiiieeeeceeeeeee e 110
Base plate LM 16/60 ............cooooiiiieeieiiieeeeee 110
Base plate LM 16/90 ........coooviiiiiiiiiiiiiiieceeee 110
Base plate LM 20/30 .....coooiiiiiiiiiiiieeeee 111
Base plate LM 20/60 LM 25/60..........cccccoovvviiiiiiannn.. 111
Base plate LM 20/90 .......cooiiiiiiiiiiiceiceee e 111
Base plate LM 20/120 LM 25/120.......ccc..cooveviiiieeen. 111
Base plate LM 20/150 .........ooooiiiiieeeecceeeee 111
Base plate LM 20/200 LM 25/200........c...cccoveeiieeen... 111
Base plate ZA LM 20/60 LM 25/60...........c.cccoevieeennne. 115
Base plate ZA LM 20/120 LM 25/120..........cccccviieeenn.. 115
Base plate ZA LM 20/200 LM 25/200..........cccccccoeenn... 115
Compact slide........ooooviiiiiiiii 12, 34, 40, 46
Coupling flange SA-T .. .ot 266
afag.com

Coupling flange SA-1 without motor..........c.....cc......... 266
Coupling flange SA-3 .. ..o 266
Coupling flange SA-3 without motor........................... 266
Coupling flange SA-6......cccoviiiiiiiic 266
Coupling flange SA-6 without motor...........c...ccceen.. 266
Cover cap 40X20 .. ..o 162
Cover Cap 40X40 ... ..o 160
Cover €ap 40X80.......uveiieiiiiie e 160
Cover cap 60X20.. ..o 162
CSB/20-ED i 12
CS B/40-ED ..o 12
CS 16/30 i 34
CS 16/60 . 34
CS T6/90 e 34
CS TB/T20 i 34
CS 20750 i 40
CS 207100 .ttt 40
CS 207150 it 40
CS 25/B0 . 46
CS 257120 i 46
CS 25/T80 i 46
CS 25/240 oo 46
Drag-chain PMP-C .....oooiiiiiiiii e 162
Drive SA-T Lo 266
DIIVE SA-3 oo 266
DIIVE SA-6 .o 266
Electric Slide......coovooi 169, 175, 181, 189
ENd StOp PMP....oooiii 159
ENd StOP PMP-Co.ooiiiicic 163
ES8- 1D 169
ES8-40 ... i 169
EST2-20 it 175
EST2-60 . 175
EST2-T00 . i 175
ES20-50 . i 181
ES20-T00 . i 181
ES20-200 . ...i ittt 181
ES20-300 ...ttt 181
ES30-50-SL 1iiiiiiit it 189
ES30-T00 .. wiiiiiiiiie et 189
ES30-T00-SL i 189
ES30-200 .. i 189
ES30-200-SL 1.t 189
ES30-300 ...ttt 189

Handling technology HT Components linear

421



Key word index

ES30-400 ... i 189 LM 16/60 ...t 89
ES30-500 ... ittt 189 LM 16/90 ... it 89
ES QCCESSOMIES ..o 215 LM 20/30 95
External measuring system PDL30/40...........ccc..cccooun... 392 LM 20760 ... i 95
External measuring system PEL20 ............ccccooiiiininnn. 392 LM 20/90 ... 95
LM 207120 e 95
LM 207150 i 95
LM 207200 ..o 95
Fine adjustment PMP............ccoiiiiiiiiii 159 LM 25/60 .. .ccciiiiiiiiic e 101
Fine adjustment PMP-C.......cccoiiiiiiiiiice 161 LM 25/120 0 i 101
Front stop rod ZA 32/125 ..o 118 LM 25/200 ......iiiiiiiieiii e, 101
Front stop rod ZA 32/200.........ccccoiiiiiiiiiiiiiii 118 LM 32/100 ..., 107
Front stop rod ZA 32/275 ... 118 LM 32/200 ..o 107
LM 32/300 . 107
LM 327400 ... 107
Load transmission unit PEZ-52..........cccccocoiiiiiii 344
Gantry module, pneumatic...........ccccooiiiiiiii 145 Load transmission unit PEZ-65/PDZ-128........cccvveuvei... 344
Gantry module, pneumatic Compact............cocooevians 153 Load transmission unit PEZ-80/PDZ-160...................... 345
Load transmission unit PEZ-100/PDZ-200..................... 345
Lubricator adapter PMP...........coooiiiiiicee e 160
HM T0/25 oo 125
HM T6/T6 oo 131
HM 25/64 ... 137 MagSpring ES20-200 .........oviiiiiiiiieeei e 215
MagSpring ES20-300 ........eviiiiiiiiieeeeee 215
Installation set inductive switch CS/16-20...................... 52
Installation set inductive switch CS/25 ... 52 Narrow safety cover ZA 32/100 ...........cccooieeeii, 119
Intermediate contact plate ... 111 Narrow safety cover ZA 32/200 .........ccccooveeveieera. 119
Intermediate Stop CS..oooviiiiiiiii e 50, 51 Narrow safety cover ZA 32/300 .........ccccooeoeiie . 119
Intermediate stop LM ..., 113, 116 Narrow safety cover ZA 32/400 ..., 119
Intermediate stop PMP .........cooiiiiiiiii 159
Intermediate stop PMP =C ......oooooviiiiiiiiiiiie 161
Intermediate StOP PS .......cccoviiiiiiiieie 73,74,75
Omega toothed belt boom..............ccoovvii, 273, 281
OZ-50-XXX oo 273
OZ-B0-XXX e 281
LE-50 399
LE-50-D oo 401
LE-6B0 .. 407
LE-B0-D oo 409 PDL30-0090-DT19 . ..ciiiiiiiiieeee e 371
LE-70 o 415 PDL30-0130-D20 . ..cciiieioiieeeeeeeeeeee e 371
LE-70-D oo 417 PDL30-0150-D19 ... 371
Lift module .....cccooooiiiiic 125,131,137 PDL30-0230-D20 ... 371
Linear module.. 83, 89, 95, 101, 107, 399, 401, 407, 409,  PDL30-0250-D19 .....ueiiiiieeeeee oo 371
415, 417 PDL30-0330-D20 ... 371
LM 12730 e 83 PDL30-0350-DT19 ...iiiiiiiiiiieeecee e 371
LM T2/60 oo 83 PDL30-0430-D20 .....ccciiiiiieeiiieeeeeeeeee e 371
LM T2/90 e 83  PDL30-0450-D19 ....eiiiiiiiiieeiceeeeeeeeee e 371
LIM T6/30 e 89 PDL30-0530-D20 ... 371

422 Handling technology HT Components linear afag.com



Key word index

PDL30-0550-DT19 .. oo 371
PDL30-0630-D20 .....iiiiiiiiiiiiie e 371
PDL30-0650-D19 ..ot 371
PDL30-0730-D20 ..ot 371
PDL30-0930-D20 ... 371
PDL30-1130-D20 ... 371
PDL30-1330-D20 .. oo 371
PDLA0-0070-D28 ..ot 379
PDLA0-0160-D28 ..o 379
PDLAO-0160-HP-D28 ..o 387
PDLAO-0170-D27 ..o 379
PDLA0-0200-HP-D27 ... 387
PDLAO-0230-D27 ..o 379
PDL40-0250-HP-D28.....c.oiiiiiiiiiiiiiiiiieceee e 387
PDLA0-0280-D28 ..o 379
PDLA0-0320-D27 .ooviiiieiieieeii e 379
PDLAO-0320-HP-D27 ...oooiiiiiiiiiiiiiie e 387
PDLA0-0340-HP-D28.....cooiiiiii e 387
PDLAO-0370-D28 ... i 379
PDLA0-0410-HP-D27 ....ooiiiiiiiieiieieeee e 387
PDLA0-0440-D27 .ooiiiiiiiiiii e 379
PDLA0-0460-D28 ..ot 379
PDLAO-0460-HP-D28......ooiiiiiiiiiiiiii e 387
PDLAO-0530-D27 ... 379
PDLA0-0550-HP-D28.....ccoiiiiiiii e, 387
PDLA0-0580-D28 ......ooiiiiiiiiiiieeie e 379
PDLA0-0670-D28 ..o 379
PDLAO-0760-HP-D28 ..ot 387
PDLA0-0880-D28 ..o 379
PDLA0-0940-HP-D28.....ccoiiiiii e, 387
PDLAO-1060-D28 ... oo 379
PDL40-1150-HP-D28.....coiiiiiiiiiieiiiiicee e 387
PDLA0-1270-D28 ..ot 379
PDLAO-1360-HP-D28 ..o 387
PDLAO-1480-D28 ... 379
PDLAO-1540-HP-D28.....cooiii e 387
PDLAO-1660-D28 ... oo 379
PDZ-128 et 323
PDZ=T60 ..t 331
PDZ-200 ...t 339
PEL20-060 ... 363
PEL20-080-SL.....eoiiiiiiiiiiiiieee e 355
PEL20-130 1o 363
PEL20-T40-SLu ittt 355
PEL20-T90 ..ttt 363
PEL20-210-SL.... i 355
PEL20-270-SL. ... 355
PEL20-290 ..o 363
PEL20-370-SL. i 355
PEL20-470 .ottt 363
PEL20-550-SL. .. eeiiiiiiieeie e 355
afag.com

PEL20-560 ..ovviiiiiiiieee e 363
PEL20-640-SL..iiiiiiee e 355
PEZ=52 1ot 291
PEZ-B5 ..ot 299
PEZ-80 ..o 307
PEZ-TO0 .. 315
PIMP O e 145
PMP 02 .. 145
PMP-C 0T o 153
PMP-C 02 ..o 153
Portalachse .........coooviiiiiii, 355, 363, 371, 379, 387
Portal axis ................... 291, 299, 307, 315, 323, 331, 339
Precision slide.........oooooo e 58, 64, 70
Proximity switch bracket PMP ............ccooiiiiiiii 159
PS 16/50 .ot 58
PS 16/T00 ..ot 58
PS T6/150 . 58
PS 25/50 ..o 64
PS 25/T00 .. 64
PS 257150 1.ttt 64
PS 25/200 ...t 64
PS 32/50 it 70
PS 327100 ..o 70
PS 32/150 . i 70
PS 32/200 ... 70
PS 32/250 ...t 70
SA-3-050 ..o 249
SA-3-T00 . 249
SA-3-T50 . it 249
Safety brake PMP .........cccoooiiiiiiiieeee 158
Safety brake PMP-C ..o 162
Sensor set Portal @Xis..........ooovviviiiiiiiiiiieee e 348
Sensor slot cover PEZ/PDZ..........cccccoviiiviiiiiiiiie 346
Spindelausleger.......cocooiiiiiiii 249
Stop L-bar LM 12/30 LM 16/30......cc.ccoiiiiiiiiiiien, 110
Stop L-bar LM 12/60 LM 16/60...........ccccceeieiiiiii 110
Stop L-bar LM 12/90 LM 16/90...........ccccviiiiiiiiie. 110
Stopper extension for PS 16 ... 76
Stopper extension for PS 25 ... 76
Stopper extension for PS 32 ..o 76
STOP SCIEW . 77
Stop screw/shock absorber ..o 76
Stop slide PMP ..o 158
Stop slide PMP-C ..o 161
Stroke limitation PDZ-128 .........cccooviiiiiiiiieciee, 347
Stroke limitation PDZ-160 ........cccooiiiiiiiiiiiiiicee 348
Stroke limitation PDZ-200 .........ccccooiiiiiiiiiiiiii 348
Stroke limitation PEZ-52 .......c.ccoiiiiiiiii 346

Handling technology HT Components linear

423



Key word index

Stroke limitation PEZ-65 ...........cccccooiiiiiiii 346
Stroke limitation PEZ-80 ............c.ccooviiiviiiiieeeee 347
Stroke limitation PEZ-100 ............ccoooviiiiiee 347
Toothed belt drive SA-1 . ..., 266
Toothed belt drive SA-3 ... ... 266
Toothed belt drive SA-6.........coooiiiiieiie 266
Verbindungsset VS 516 ..o 393
Wide safety cover ZA 32/100 ......cccoviiiiiaiiiiiiiia 118
Wide safety cover ZA 32/200 ........ccocoiiiiiiiiiiiie 118
Wide safety cover ZA 32/300 ......cccoevviiiiiiiiiiiene 118
Wide safety cover ZA 32/400 ..........cccoovieiiiiiiiiia 118
ZA20/25 oo 113
ZA 32 116
ZA-CS 10 oo 50
ZA-CS 20 e 50
ZA-CS 2D 51
ZAPS 16, 73
ZA-PS 25 74
ZA-PS 32 e 75
Zubehor Portalachse. ... 392, 393

424 Handling technology HT Components linear afag.com



afag.com Handling technology HT Components linear 425



O afag

Notes

426 Handling technology HT Components linear afag.com



V06 / 2022

O afag

Afag Automation AG
Luzernstrasse 32

6144 Zell

Switzerland

T+4162 959 86 86
sales@afag.com

Afag Automation North America

Schaeff Machinery & Services LLC.
820 Fessler's Parkway, Suite 210
Nashville, TN 37210

USA

T+1(615) 730-7515
nashville@afag.com

Afag GmbH
Wernher-von-Braun-StraBe 1
92224 Amberg

Germany

T +49 9621 650 27-0
sales@afag.com

Afag Automation APAC

Afag Engineering GmbH
GewerbestraBe 11

78739 Hardt

Germany

T +49 7422 560 03-0
sales@afag.com

Afag Automation Technology (Shanghai) Co., Ltd.

Room 102, 1/F, Bldg. 56, City Of Elite
No.1000, Jinhai Road, Pudong New District

Shanghai, 201206
China

T+86 021 58958065
shanghai@afag.com

afag.com


https://www.afag.com/
https://www.afag.com/



